T, T T wder fEer-2020/59-2021
Gl

Toefter woe o=
TergaraT afya = W’ﬁWﬁrﬂt 25, u znzl Shifet)

Which is the most potent driver of business
transformation during Covid-19 pandemic?

wifE-19 wgarlt & dhom frefofee & &

aﬁq—mmwﬁmwnﬁ&mmﬂﬁ_

we?
(a) Ethical consciousness/Afe a1
(b) Scale cconomies and pricing, pawc:r
e IR A9 s g Rl ‘ﬂﬁ'F
{c) Technology ad,uptm and ififiovation
siaifiEd apﬂa"{n Sl STaTan
(d) Supply“chain * logistics and government
:m.:nemmwamﬁ e HAwRT 3 TE
Ans. (o) : aérfag-m TR & FWW S A
3R TEER FIEE U @ FEieE A W W 2
Wl 3 TEER & mem # § g sawEs
oA I0EH F TH AR FHAA F dEA w9
faafam fran an i
2.

Counter Vailing Duties (CYD) are often
imposed on imports to offset the impact of

frafaftas #§ 9 famd yue @ sien o &

foq wm: yivert wyees (W o &) wTmn

Tlﬂ?ﬁt:

(n) Predatory pricing/&ard=meaa 1eg-fFafo

(b) Export subsidies/fraia T

(c) Dumping/mZ= (&faim)

(d) Low cost linancing/&W T ITel farerarey
Ans. (b) : BIREACH I (Counter Vailing Duties)
st @t @t s g, fama fE Patmd T
§ 3 a3 & Imeal @ & v wfEfei @ afgfi 9
s w1 W 0 sEva G S & aie IEa 3T
T IR & foowl sEmEEl S s wEd 3 owE
RS & R §H G FiHd W a9 §6d €, & a9 §9H
HaW ITEH B 6| e e st & o s
€l 99 & IURH W YgA a6 AT TIE F FH
&l 2
3

To prevent opportunistic takeover of domestic
firms amid Covid-19 pandemic, Foreign Direct
Investment (FDI) from countries that share

borders with India is allowed through

wTs-19 WM F a"ta uE WA @
aEEEl, GinEn ¥ @e ¥ 9w &
e euil @ Pretarga § ¥ feae A
\, ¥ fardyft g fraw & @6 srwfa &
() Aulomatic route/3EERE w2
(b) Government route/FEn| &<
(c) FIPB route/U% 3173 i df &2
(d) DPIUT route/@1.9 .37 318, #, ==
Ans. (b) : FfES-19 W@ & &9 9 W F
Erd) Sy § 99 g wa & dme o2 g,
I W0 AT T FE T uam A EW F vy R
Faw @& @ R e & T, e d e w
= A & S FIEAES F A

4. Factor conditions in  Michael [Porter's
competitive advantage of Nations include

gehel UIET & MBI & gfaequiaes oo @t
o iR R
(a) Market size/@TR FT 3MFR
(b) Demand conditions/Aim wifeafaai
(c) International competitive suppliers
AP T F Wieeqe] sy
(d) Skilled labour and scientific knowledge
Fva 9m 3 dyfE T
Ans. (d) : 1990 ¥ mR=a o, fag amyfrs ooriifes
83 T TS WA 9w 8, A T Fwieed uEEie|
AE AR A (WS SEE O g q 10
Z¥ll & A F NN W U 7w fEa fF w ain
AHE @ WEfed Y T Iocadl TEE G99 F ei 4
T & Wi S wiidEt 7 e e g,
U, WG HEA, FOE A9 R G 3 A d)
5.

In case the purchasing company agrees to act
as the agent of the vendor for collection of the
book debts, in the books of the purchasing
company, the amount of debtors should be
credited to

afy Far soh @ w % wmEw & f
forsher % Wofe & B0 ° w1 & & o weme
£ &, A et AT & @El # RUEEE @
iy Prafafes # 9 e o § s g
wriga?
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(a) Vendor's debtors accountfasta &1 2921 &M
(b) Vendor's suspense account/fassar &1 39a @
(c) Debtors account/@TER T
(d) Creditors account/FTEmI H1 Gl
Ans. (b) : AT FHA1 TN @A TN & TIEY F fen
fasker & wSive & &9 ° & & & A aeuw w g,
At S FA & @ W ORI # U @1 e &
T @WK T O E A U T e §,
I At ®y | wfevy sfafedl o faEmft @
I favemw 3t @l #ffFw F fou @fem @ &
|ﬁ-111ﬁm1mé|
6.

When the value of "Investment in subsidiary”
in the holding company's balance sheet is more
than the book value of the nel assets nequired,
the dilTerence represents

wa gaurht Fuft & donvie T ugos S
# frawr” @1 gea sl fraw amfy & gaw
e § M §, A7 ST 3iat aar gyir &7
(a) Capital reserve on consolidation
(b) Goodwill on consolidation/ a1 FaHft wr@
(c) Minority interest/3Teqqes, 1 f@a
(d) Post acquisition profit/3fiFEw % IqT=1 @
Ans. (b) : 579 FAUR F9HT & Balance Sheel § HeS
F # fraw @1 e i faa aafe & qes g
§ wfuF B2, 7 T SR a1 FAE T A F
e wefl & 8) @fe o | wwfw 2, W
Frodt v Tl & 3faw aem ge vt fiftay & e
T @ A9 ¢
7. The basic method of valuing human assets is
W ftatat o geate e we fafir @ &2
(a) Adjusln'lcmﬂ'-l'm'!iﬁrvr
(b) Amortization/JR¥NE
(c) Capitalization/g=iHto
(d) Quasi equity/3T% S
Ans, (b) : WA oftamfedi & gwiEA §F9 gERS
W@ | FElu ¢ 48 qemad wed gt & gt
BT &1 SUH qT IE¥9 WM SOl & S ST &
wEEE, I MR qeiEs B oW wF WAe
uftemfedl & qeaies & fae fafoad 2-
1. fefos @ fafiy uftei
2. siarmga @ fafa
3. 3 @i f&fn
4. 3nfd=x ge9 faf
5. AT anre faf)
6. TR i |
7. arma-arg fafen)

wa wefadl #1 g off 3 AR e o g, S
3= uifes wofeEl &1 @9 21 9wfy & 39 Iwarh
g & a7 =W ° e f2g W 8 3R oftwfa @
g § ugd uftemige fEan smar &, d See afver &
T9E @ ¥ oa e W g1 3 ufieme W
wufdl & qeia @ A i d

8.

X and y are partners, sharing profits and losses
in the ratio of 4 : 3. They admit Z into the

partnership for éth share, X and Y decide to

share future profits in the ratio of 2 : 1. What is
the sacrificing ratio of X and Y?
Xafmyemwalmofr &t 4 : 3 & sgqum |
ateT A WERET 1 2 é%ﬁg@ré‘sﬁm
wrgterdt # ynfier s €1 X ofir v et e
2: 1 % argura o aiey o favia @ & X afiw
Y & T &I @ A 4§
(a) 4:3

(b) 13:8

(c) 8:13

(d) 4:17

Ans, (d): Oldratioof X & Y=4:3

7. admitted for the l_ share.
5

Future profitof X & Y=2:1
Suppose New Profil = |

Remaining share afler Z's admission = 1—%:%
So,
New Profil sharing ratio between X, Y and Z =
p
X's share = ix 2.8
5 3 15
Y's share = iml:i
53 15

Z's share = 1 or —
5 15

Newralio=8:4:3

Sacrificing ratio = Old ratio - New ratio.

Sacrificing ratio of:

4 8_4

"7 15105

y=3_4_1

7 15 105
Sacrificing Ratioof X & Y =417

9. The value of the firm in wealth maximisation
objective is measured by

ya siftreardieTn Fya W owd & ger @t
aftary gt §:

(a) Present value of all expected [uture cash

lows/FHE Nea¥d Wl A% Y68 & aauH
e Z
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(b) All expected future cash Nows/WH& Sty
TR A® F T a0
(c) Present wvalue of all expected future
prolils/AH& STIYE Wdl @l &1 a0 Jod
(d) All expected future profits/qTH H=NieME =t
@
Ans. (¢) : B & Yog &1 A A @2 a9l § o &
/TN F AT YA & G 0o & U S A
S @1 T S & (o afas F a6t & @ 0 g2 4
mmmm?ﬁqwmwmmﬁ
&9 & Yo adde J A & Ueh &9 § &9 g1 T

T T & S e w g
10,

the demand of the product is -~
Foa # g+ fh'q T3 i ﬂ' it amh &
ﬁ%swmﬂﬁwm $ .
(a) Inclaﬂncfﬂm EI
(b llaslwm ‘é
(c]nunimrye!m;m:m CIEE
% ._r[d] {Zgto clastic/¥[A © wraEn #@
Ans. () : 59 FE § @9 9 2, SR g gea f
FH I R, O 3W SN W I E A AwrERn @il
FMA 92 W IR FA TIE F aged @a @ A oum
drgen gl afz g@ T Fe ez W sAfafis
e € Al W S @g g & A @nt|
11.

In (.ubb«DuugIns production function, Q =
AK"LY increasing returns to scale occurs when
WHIF-BOH 3EH T §, Q = AK'L" =mat
(aya+b=1

(b) K+L>1

(Cyn+h<l

(d) K+L<1

Ans. () : FA-STAH ITEA G § I9EA Foq F US
fav samafors =9 2, forge =os su @ S @ a1 @
s s (fvm &7 § offs SR s = owmn
A IWEA & WH & 41d aFAIH TG & 3EA EHA
'ﬁhq:ﬂ'dmﬁ}mwélmﬁ'ﬁ w7 ¥ faweT (1) a+
b > | wfame s &6, @l a = Y (Capital), B = %W
(Labour) |

12.

The extreme case of non-price competition in
an Oligapoly is
forlt sreuTireR w9 ® Tr-wive wieiET @&
W I E :
(a) Formation of cartels/@Zd T
{b) Interdependent decision-making
LIk

(¢) Attaining economies of scale

7T TH W IR 1 AT SN FN
(d) Formation of duopoly/E=FR F1 o

Ans. (a) : HAMYFER  dRIR 1{5[ CIEILS %. e
awfiaist # don = @ 2 ol @ aen
W &, i U aem @ sam oad wen f 9
Fsemail o I A Wy g 81 I\ A
FET A T IAC & | FEE IR, T, TR &
o e 3w F fo frgee AW el wee &
T €, 9 9 9% IAEE O A F UwGHi &
ww i e wCLA] Gty o g

mﬁaﬂﬁm"’wnwﬂmqﬁaﬁmmmﬁm,l

For a decline in price, total revenue dt'l:lllwll ’il“ o

13. Prrku_nl.:.pﬁdog theory in finance is based on the

o ugstrtigniof”

| e o i amdt fumdt Prefefaa w09 o
Nfenfer d -

(a) Asymmetric information between _managers
and investors/NaYa R faver & 44
AT Al

(b) Symmeiric |nf0m1unon between managers
and investors/FaYE IR frawe & 49
Tufad gaa

(¢) Outside information/aT&d AT

(d) Asymmetric information among investors

only/daa FavEi § sreufod gaa

Ans. () : 9FFT 3mET &0, @ OfEm ofER AfEw & w9
g «ff S S 2, 98 w4 ol S 4 gt g
3w fogin 71 ¥ed awr iR Faem Tees 27 1984
T aam T 2w fogia 0 & T @ fF weus faw &
weul & Fi g & o wm @ e alme wei
FAA B VAW, FE A AR WG & AN W, SHG
TE WO W AT ING F 0 OF A faw wwe @
T T )

a7 frgid mni I & HauRen @ I 8 4

yofE AFED & 3 gee fawem 7 2

14. If a project cost is Rs. 40,000, Its stream of

enrning before depreciation and tax during
first year through five years is expected to be
Rs, 10,000, Rs, 12,000 Rs, 14,000, Rs, 16,000
and Rs. 20,000, Assume a 50% tax rate and
depreciation on straight line basis; project’s
ARR is

afe ua wftatsEr &t @ € 40,000 §) gaw 7
Yoy ad % qeagd I & & ud amw @t
watg A Rs. 10,000, . 12,000, 5 14,000, &
16,000 2T % 20,000 & W= & 6 = @ =X
50% ¥ ol weagra wieft T & amum g
&1 uftarer=n &1 U 307 3 (ARR) &:

(a) 14.40%

(b) 72%

(c) 16%

(d) 55.56%
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Ans. (c) : IRET %1 ARR = Ans. (d) : ST 5 fed oReofa @ st
F 3 =72000 (10000 + 12000 + 14000 + 16000 +| | |71 B 5w # 3 Wi =7 qfemiy @ T aafy &
20000) fow Bifem &R fon omen &, & 0@ 2 @ w@oofs
T @ = T40000 @ e ¢ TR UF U w R, P miay ¥
Fd I = 72000 — 40000 fau swam & sm el awfa T R W F oA
=332000 I A RS HO I I w@hE @ Fae-oim
AR 2 3T M T F 8, S T 3R T § A 3w w6
afroa I7.  For a very large sample size the ratio between
ket T 32000 « 6400 SE; and ¢ is 8 : 40, Determine the sumple size n:
5 & uge &g yfoeyl amew & frw SE, s o
26400 0 16% T AU B : 40 § WiwEyl AR o fwifta
40000 W :
IS.  According to the theory of dividend, the firm (a) 25
should follow its investment policy of accepting (b) 5
aEI pusili\:e NPV projects and paying out (c) 4
dn'it_lcnd:i il and only if, I'tmds are available : (@ 16
TN & 3@ g & oEr yhee @
adr fror fify @y argemh =few for wndt »\ns.laJ:SEf%
WS NPV uftarsrnel & wfaw fear "
W 3T ETEi w s e W afy ait =
whaet afy Fitr suerar & - TR
(a) Bird in hand theory JHZﬂ
€ 3 v fagra 8
(b) In}'cstnr rationality theory ;,f=_7=55
v ol fagra — , . -
© 100 pernt tnionhory "8 P8 han oo et v e e
100 sferer sfemor fagr calculated as being equal to r, h,, and b,.
(d) Residual theory respectively. Now, each of the values of the x
e fagm series is divided by 5. What cffect does it have
Ans. (d) : IaE arTw foe & e | on each {lfthfsc co-efficients?
afammmtfphmmmmmm?{;{?mmm Hﬁ@m%mﬁﬂmw%ﬁm
A 1 9% o 3R 365 A of a i A ol ) EHEU 3T T U @ W ww
ae Few A @ @ e ake @ B b, 3T b, & = @ v & o wfy swen &
YEEE Y& A [ed &) oREsEsi & =R FOWE W S W wm fen S 15 A W
S AR aw @ e R WA @ e S U T FHER w4 P T §?
FEa § Y 9iE Uhe W 81 3R ARG awd (a) The three co-eflicients remain unchanged/Hi
8 T § A @ YR § fa maia @ s Hafafda @ )
fean s =g (b) There is no change in r but by x changes to
16.  In Securitisation when no assets are acquired by,/5 and b, changes to 5,/r #  Z1E TRada
and the collateral is fixed for the life of the T FW W b, & oREdq by,/5 H EIA # 3
asset, the type of a structure is called as by # 5 b,, 7 uftad= g g1
ﬂﬁﬂ?ﬁm % & et aftamfa = arfirrgur (c) Ezich of lﬁc co-eflicients will be reduced to
qﬁwm% aﬂ'{mﬂﬁa;'aﬁﬂﬂuuﬁ-ﬁﬁiqﬁ one fourth of its value/@ TUTi& FA FaH 37
mmﬁqlﬁfsﬂaﬂﬁmm%pﬁ@ o & UF-94E 8 S|
a W R (d) There is no change in r but by, changes to 5b,,
(a) Revolving structure/SfGEm =iar and b, changes to b,,/5
(b) Amortized structure/aReNeT FT= r o8 @ uitedd T Em w by, 1 9ftad
(¢) Collateralized structure/Tiidi@iga &ram 5 by, ® & 2 M by T byys F WA den
(d) Self-liquidating structure/f-uRdme =i g1
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Ans. (d) : I SiES] F w9 & Ay geaEy 3R
S T F MO FAE 1, by, 3 by, & A #
T %1 3@ TR AEen & W AW w1 5§ am fag W g
0 A T OWF W A A T 9REdA T Em W b, W
A Sby, # & § AT by, F by/s 7 e g | 5

= Jbxyhyx

Which of the following statement is correct?

frefafas # & @-ar TS o &7

(a) Co-efficient of varance =%xlﬂﬂm =l

19.

: a
o =—x100
X

(b) If value in a series are negative, Lhe sumi:u:d "

deviation is also nl.;,ullw.fﬂﬁ’. Fm"iﬂm o

T &, @ oy fa?az BT

(c) If value in a% mms multlplled by o, the
variance, would e I'I.'ILIII.IthLd by 367af2
L. % W F o F o0 oS, & s
36 Tl TN @ ST

(ld) Standard deviation is equal to square of

" varince/ M fawe @ & @l & a0
A

Ans. () : 39 fa@edl 5 f@@ed (a) T 2

AR I =
L

o = Y919 fa9e4 (Standard Deviation)

X = AT (Mean)

M 9 § gEE 9w & oW $ w9 § =
A ¢ e SAEEn H w4 & e s dm
3 20 wwdR m e & =0 8 o fEa S 8 @
UF FER & 9RE 9 21

—x][}ﬂ

20.  For a poisson distribution varinble X, P(X =0)
=21 (X =1), ity standard deviation would be :
forelt wigam e & W@ X & forg, P (X =0) =
2P (X = 1), o ST "i-eh feree= & :

(a) V2
(b) 0.5
(c) V0.5
(d) 2
Ans. (c) : Standard Deviation (8.D.)= Ji
—hes
P(x-x)=
n!
Pin=0)=2P(n=1)
e*A"  2xe)
THRRT
1_2-2
1 1

a=t
2

SD.= J:T_\f_ 0.5 e

A test that contains a fair sample ul’ thE ilnssks
and skills actually ncel,lﬂl fur Hw jﬂb in
question is :

et s @ 2y TE e i s Tt
1 NS FA] &, aretas wu 0 faermie
mra‘aam:mmt’
(" (i), ‘Construct validity/FF dem
“W(b) Content validity/famg YA
(¢) Test validity/Tfm Jem
(d) Criterion validity/fam dem
Ans. (b) : Fdl 3R F9H & TH ThWT N 3w A
T e W @, @ asafas ®=u ¥ faanefe @ &
foru fawm dum amEvas 21 fuw dvm 3o fafge faom
T § gEfAE F T

22, Which among the following is not a primary

determinant of organizational structure?

Prefafaa ¥ =9 w1 d@reaTas g @ T

wrathes it = §72

(a) Chain and span/4iEeT 3 fam

(b) Capacity and lower needs

&I ST A IEvEEA

(¢) Power and control/¥1ih 3 fmam

(d) Dillerentiation and integration
Ans. (h) : ST 310 &0 3METEFAT HSANTS ardl @
wafis @ A8 @1 wEfE gEen i fawwr, wiw i
form, faridiaam 3w wafts fules §)
23,

An act in a way that results in the greatest good
for the preatest number is :

e Wit @ T fea famer eftmfa waifus

T & fou waifus fim | gt 8

{a) The golden rule/safoi faaw [TETF;'? w)

(b) The utilitarian principle/3waiia fazra

(¢) The four way tesU®T-d e

(d) Kant's categorical imperulive!’ﬂifi G| Ea'ﬂﬂ@_rl
Hfeardm

Ans. (b) : 3T fagia v o F@ ¢, faea oftfs
watfus w@n & fau wais @ F a8
24.

People repeat behaviours that bring them
satisfaction and pleasure and stop those that
bring them dissatisfaction or pain is known as :
I UH Al w a-AN W § 9 I 6qe
i geft ye= & € wur U@ sgEEn & ol
I §, P =% gl W @ vEe
wmiam s s am waT g
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(a) Law of exercise/3m=m9 1 449

(b) Law of redo/ga: & @1 fam

(c) Law of elfecy/aftomy =1 fram

(d) Law of readiness/T™q{dl &7 frram
Ans. (c) : ST TH SHARR TH-aW F4d § 9 32 TAfY 301
32 WAL 2F & 2, 36 w3 oo @ e T
S|
25.

Which onc of the following statements is true
about under the Basel 1 Accord, BCBS, fixed
the minimum requirement of capital fund for
banks at?

frafafae # ¥ SF-11 w9 99 &7 39 |
el & st dvefdon 3 da = ot Pt
&l FgAan rayasEd feant fruifta #@i?
(a) 8 percent of the total nisk weighted assets/&hel
Sftgn ity afeeafdt @1 8 wfiem
(b) 9 percent of the total risk weightled assets/§e
Sitféam =it sl & 9 s
(c) 10 percent of the total risk weighted
assels/FA W@ i oftdufsdi &1 10
wfaem
(d) 1000 crore/1000 Fig
Ans. (a) : THA-] (BASEL-) & 7&d, P T
FW FA all A F S SniEw-fa et F SR
@ a7 FH $H (8%) F A o = @ Ao
IETAFEA BN ¢ A6 1, 11 3 11 F AnfEs w9 4
a8e WuId (BASEL Accords) & %9 ¥ ST &l &1
I faFew (a) T IW 2

27.  'Which one of the lollowing is not one of the

advantages of Derivatives market?

frreafifes # @ @S- siafra e & e

T &7

(a) Leveraging increase risk/efratfsm & sfEw w77
S 21

(b) They enhance liquidity in the market for
underlying assets™d @SR H 3
ofteefaat & e 7 9fg F9 €

(c) They represent a form of insurance against
risks/d SfEHi @ diw 1 U w9 )

(d) They reduce price volatility/d Td aqadi |

FH @ €

Ans. (a) : FiT oMl & s @ Sifew 77 99 e,
4 IRafra awm @1 am A ¢ salE Iwdm fawe §
3 T efeifsm & @ gl

28.

Which of the following statements is not true

about Indian Monecy Market?

W W A & fauw W Prefaied o ¥

HIH-TT HU T §7

(a) Non-Banking Finance Companies (NBFCs)
are financial institutions that constilulc
organized component of money marke
afn fdg Sufal e gemd @
IR & WS g2 gl 8l

(b) Money market mutual funds are allowed to
sell units to corporates and Endividunlsfﬂ'{l
TETEE 9 51 I 'a'rrfl el

(c) A Well-developed money market is essential

for a modern economy/3MYfE wdferaE &

LR

26.  Which of the fellowing staiements is correct e T ST

relating to Indian Financial System? ) d tht{h Indi ';?T v Markel. th ﬁlcd ant
e fasfra e & Wy § frafnga &| (@) [0 the [ndian Money Marke, the predominan
¥ - i place is enjoyed by government and semi-
~Hr A government  securities/ o "M A
(2) RBI has direct supervision over depositories Tl g sd-wad sfegfa & NE H 2l

andmulunlfundslﬁﬂqr"ﬂﬂafﬂww e e e
P N Ans. (n) : A& HHE @ S el
ki S AR & TET TF W w81 T A fada dufet
) Nonstary sont s rough o e v ¢ 31 o e vt e e

eserve . y - N C e e
catio /A R 3T 3R WS awe | [T T Al AEHE T 41§ Herl & o
ST o R e P T S o S W F 9F W A m@m § W e S
(c) Primary dealers mainly deal in shares, mutual bl qﬁ_m & am (_ﬂ} %Fr Ll -
fund units/STAfTF SAMUH TE: i =] 29- ;V:uch_u'f tlhe {EIIU;LI'H:: 'hl.sg'nm htrur I':hllc

etermining length of distribution channel?

@Wﬁgﬂmnmwm ﬁ 3 5 f ¥ P e
(d) The decrease in statutory liquidily ratio ﬁaﬂ?uﬁw:t? il LRl
contracts the credit creation /Aifaid e (@) The 1 h ot o o 1 .
e 813 O s - F@ﬁlﬁ S a ¢ larger the markel size, the longer l.c
éF EESRSRCEET RS l channel fdA1 921 99K &1 HER 3941 a1

- EEE)
Ans. (b) : TG ot WOl % IR AR MR

(b) I the average lol size is large, it is better 1o

HAYA AR Hifafos T FO & ARG A have a longer channel/af2 @iz IFR
TET T 8, 3W: FA (b) § 21 T2 & 7 da 9 de 2
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(c) If the product and the market require a high
level of service, it is advisable to keep a
shorter channel/a® 3I°0E UH AR &1 3=

= @ darsi A HEvaEE &l o dad
@A JE 2
(d) Il' customers shop for an assortment of

products, it demands for a water channel of |

disrrihutinnm& EELT MG B el o
gle & @ a¢ fawgn famo S @ @
FMI
Ans. (b) : fam 999 & fawn & fufor 14 oz & @
G R 931 ¢ a= 94d de g, 4 fGE @

fawew @l 21 f
30.  Which of the following can be. mtegnrlzcd as
people processing services?iy 7
T eran ( firger
vt wfifa ]*ﬁa?ﬂﬁﬁrﬁ?m AT WanaT £7

(a) Healthy cnrcmm HEITL{
_o(b) ugﬂﬁtw es/EIJAI Hamd
"";-:--: ) Lﬂucnlmnfﬁ!?ﬂ
) Transportation/aftagA

AT @1 WEW a1 W g1 WA 0 d @ ag T8
fon = Ral 8-

|, T HET

2. famn

3. ufiEEa

3L

SBUs or products that have lost their position
of leadership and are in the low growth
mirkets, are known as

T uw g I AR anmar & arsr

frafa @t < & afw fa dgfg ammi o €, &%

THE:

(a) Star/ =R

(b) Problem child/NTrg ar§e

(¢) Dog/BtT

(d) Cash cow/&91 13
Ans. (c) : BCG &7 Wi ares Sfeen 9 ¢, 549 91 #
oA o FE I &)1 Aes dEfen I TN
fasfim T 21 @ WY U aRE 1 faa o
fay wfog wy woef of 81w ww fafaw #od &
IuET £ el Afzew § wmAlg, (wHirE S
7)) T # UF = 8, Ew e fawm el
Ievg 8, Frdt a7 Sl srame § =T Y 8 O
TS A FEA &1 AN Az F 4 TER F U €,

fraf gz w6 2, WE: TR S99 HE A9 €, H-Wﬁ’m“

1. @R (Star)- 3= fFm, 399 99 =auE &1 30|
Em%r 2l
2. 9@ WY (Cash Cow)- &7 fa&¥, 3= 91 a9
Eafunlaoidl
3. ¥v fa@ (Question mark)-S=9 Fﬂﬂim z;rﬁ? EI'FEF:I T
FH-IT AT SATaE TRl o
4. g (Dog)- 5 &=, EFH*ﬁ?RHEI ﬁﬁ’ﬂml
32.  Which of the l‘ollu’mng*wﬁot a valid basis for
market wgummmjnu“
arsm & T PrafafEe # 4 SE-a
ﬂumw@f &2
% (@ Customer Based Segmentation/HTee-3mad
- gl
(b) Technology Oriented Segmentation/Za-TarHi-
HIfE BEHT
(c) Competition Related chmenlalinnﬂﬁ‘lﬁlﬁm-
Y
(d) Product Related  Segmentation/3mma-Hayl
G
Ans. (b) : AT TV FAET  ITEERT T
TR, Faen ¥R fafia favmmed of T &
amup o fafi wadt & fwfsm #3 & wfEm &1 aom
I & fafore wodi &1 @ 40 § wuge 3R T
T @ H R S €| AT WUEEA & 9N 3N W
fermifarm fran = T 2-
1. "o fame {Geographic segmenltation)
2. FAHiEEAE B (Demographic segmentation)
3. 998 [T (Behavioural segmentation)
4, gt faarsm {Psychographic segmentation)
Adeilal HTTA GUSEA0T a9 f@urse &1 4y 3mER T4
21
33,

Which one of the following statements is a

promissory note?

frafafEd o @ -7 %07 (& 9aqn o §

(a) 1 promise to pay Q Rs. 7,000, 7 days after my
mamnngmrﬂﬁﬁ&'?ﬁmmﬁﬁQm
7,000 & & Wmmmmy

{b) On demand, | promise lo pay B or bearer Rs.
5000/ Wi 8 S W B AT URE &
5,000 T & AR I F1 a9 20 §)

(c) 1 promise to pay Rs. 5000 on C's death
provided C Ic;wcq with me enough money to
pay that sum/A C & ﬁ W 5,000 F9F F
YAA A & g9 & & 99 6 C 7t °W
W U W YT e # T et
ST 7 |

(d) 1 acknowledge to be indebted to you for Rs.
10,000 to be paid on demand for value
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received./H 39 WA 10,000 TYF &1 TR
F W A0 fan o)
Ans. (d) : TR T SEW w@ U w0 OEE g B
AR FH oam Fof S S d IEY U g (i)
T & 8w ffad w9 gl i (Tedl) # A
& = fFfyw ofyr & ffis org w fasw wel & o
THAF FH F AR FA @) 3 faFwe (d) T 7
34.

A claim for 'quantum meruit’ cannot succeed :
‘aten B’ T AT Wl T8l Bl Wl &:
(a) When a divisible contract is partly performed
v U faar wfem srem: Fenfan & s &
(b) When an indivisible contract for a lumpsum is
partly performed
A e T T g sfames wfa
iy Femfed & 21

(c) When a contract is discovered to be
unenforceable due to some technical defect.
wa fdt dfam @ Fiowa T 3 9 T
CER LG i G

(d) In the case of breach ol contract, the
aggrieved party can claim reasonable
compensation for what he has done under the
contracL.

Hfaz Iedma & v #, dfgq oy wf &

AR THETA IS H AT T T 2
Ans. (b) : FaZH AZ TF dlfe aEaiyl § 37 I8 T
s wfufrEm, 1872 F sl o #) F=iE o @
ofeg 3 & ‘fen dm @ @ e s @ R
safa fFd T Fd 3 T & IuW § eEE, W@ s
U T 30 @k & e qu R fean g 3 e sE
T TowE g €, ol Faien Afte & fau g I dm
# @ qa A 71 fdem e o @ sl o=
il Fien Hftz & FE TS A4 @ qhar 2
35,

The first offence for infringement of copyright
can be for a maximum of imprisonment for a
term of

TIMIEE Teeio o Uge T ¥ FHard ot

AT F AfereRaw arafir §;

(a) 6 month and a fine of Rs. 20,000/6 W&wT 37
20,000 =91 F1 3714 &%

(b) 3 years and a fine of Rs. 50,000/3 T =
50,000 ®94 &1 34 g2

(c) 3 years and a fine of Rs. 2,00,000/3 =4 2iX
2,00,000 =99 a1 34 g€

(d) 1 year and a fine of Rs. 3,00,000/1ad 3R
3,00,000 &9 &1 34 &2

Ans. (c) : Fidmgz fufrw, 1957- &f 1957 &
Fidre afufam, aaea difes ow= sfvedd & wn
& o w5 @@ @1 3R § an B ) w9 s
?lﬁwmiﬁmm:ﬂ3aﬂ:ﬁm
T 200000 99 % 1 HAAvs F HGFAH T A
T 2

J6.

Which one of the following conditions does not
constitute a valid agency by necessity?

frafafga § @ HE-H 7d mEvasAgan

T Tu-vedt T a=dt?

(a) There should have been actual and definite

commercial necessity for the agent 10 act

promptly/THVZ ZHT A7RA Yo FA 6T T

& fou arsfas R ffm affsas smEyaga

& =T

The agent should have acted bonafide and for

the benefit of the principal/TivZ & FFATEH

7 3w w@nht (Bage) & am g aw

A AT

(¢) The agent should have adopted the most
reasonable and pr:u.ucable course under the

circumstances. /AT & ufifiafeai & 2l
walfus FdamT 3T FNERiE FE S
Tfgwi
(d) Destruction of the subject matter of the
contract nfaguncy-’@fﬂﬂﬁiﬂﬁﬁiﬂﬁﬁﬁa‘(ﬂ
& AL 7
Ans. (d) : TSl &1 3FFY AT WA 2, 5@ UE A
A IR W AT S F o g 1 P @ S
Al A o34 @ @9 4 & [ gal & g
T 2, 98 YA Al deeldl &1 T g9 & & o
T F1 T@A aren @At mmélmmw
A FE s 1872 & e s favm
31 9 HfeE § FER R ueE § e @ fave-asg
T8 F S A g 99w @ @ wEa 3 G
s i favg-awg &1 & G enevEs g
37.

(b)

If assessee is engaged in the business of growing
and manufacturing tea in India, the non-
agricultural income in that case be :

wfe fifea wia & =g & fean st @

*® wmaarg o o g, o 3@ umet ¥ i @y

T =T ghi?

(a) 40% the income from such business/TH
=aEE ¥ G @ 40 Savd

(b) 25% the income from such business/TH
FEAE T W W 25 WA

(c) 60% the income from such business/Td
IEE | HA & 60 N
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(d) 75% the income from such business/TH
ARG W A F 75 FevE

Ans. (a) : TG E dfutm ° W § ama &
IZER 3 IS & SEud 0 @ g, f §6 AR
F1 3 gi-
Ul e ¥ 9 40% W FH s g, s 60%
g B
38.

AMT provisions are applicable on ;
T un Zt i Wa%
(a) Corporate assessee
amie a1 i o
(b) Non Corporate assessee
i @i & i
(c) HUF/TT g Ut 9T
(d) An Individual/f&h =5 'lTI

Ans. (b) : Alternate Migimu! lat{ﬂﬁfwa; A F)

v eaiiie sEAE § T Sad § A S e

frgidl W F At 78 @ fada af & fag smifsm

9,3 ORI .

39. WX, ha'employee of the privale company, gets

“URS. 30,000 p.m. basic salary and entitled to Rs.
1,500 p.m. as entertainment allowance. What
are the deductions w/s 16 (ii) from gross salary
in respect of entertainment allowance?

frsft Frft & s aerd X = 30,000 FOF
yfer wig U@ da faee § it oeies e &
®Y T 1,500 U UiH WIE & §HIN &1 WA
N & HEy T el g W T 16(i) & st
fererft et g2
(a) Rs. 5.000
(b) Rs. 18,000
(c) Rs. 72,000
(d) Nil
Ans. (d) : YAE S AUEAAT 1961 & I G604
o & A gd a0 ° 9W O 16() & 3
e faet, Fife fel @i & &aad @ e amen
5000 &4 7 & w2 e 21
40,

Which of the following provident fund is
approved by the provident fund commissioner?
wiferea f4flr anges g Prafefea § & sR-d
wfeares AT @ e famar W &2
(a) Statutory providenl fund

Hifafas wiasy faig

{b) Recognized provident fund
A=A S AT

(e) Unrecognized provident fund

s e wfasy ffg
(d) Public provident fund/@rs afasa i

Ans. (b) : F=I Wi ufEsr ff- a@ o sEea B
Haa TR WA WA 8, 39 e WA w6y
fafr o= s &1 o W A & fem 20 @ s
Tl @ o AEe e A sfiEe, 1952, R
frsil 3 sFTAR wA @1 faaw @ s Ay T e
naagmzqmawméwamaﬁﬂm#

10(12) # feetfad 2
a1.

Which of the follpWing muitulmm are included
in the 'Wn rl;! Bank Group'?

F-h weml 'awd ¥ v §
,,~-'1;ﬁktﬁ-ﬁrf7

4 (a] fhternannnﬂl Finance Corporation

fors o

(b) International Mnnetan Fund
st g3 =
(¢) World Trade Organization
g =@ma w@eA
(d) Multilateral Investment Guarantee Agency
T M U
(¢) International Development Association
faramm ¥
Choose the correct answer from the options
given below:
Hrar feu 7o fameat # @ W I @ waq
A
(1) A, DB and C only
(b) A, D and D only
(c) A, B, Dand E only
(d) A, DandE only
Ans. (d) : ﬁﬂ?ﬁ'?ﬂiﬁﬁﬂﬁﬁﬁ'ﬂqﬁﬂmm
T UF U W €, WA & @ - werm
3 fadfra weme = 2
I. [ 3R fawm & fa s @6 (IBRD)-
T a6 1945
2. I=Ridra faa fam (1IFC) 99 1956
1. F=dTa fEmm =5 (IDA) 39 1960
4. fraw el & fAwer & fau seidia &= (1CSID)
i 1966
5. @FuAa ey oA v (MIGA) - 3 1988
42.  Corporate  social  responsibility  is  the
confinuing commitment by business to behave
ethically and contribute to
wUe WA Soeliae @1 ardd & Afas
waEr & i frafeafas § aree & @
SaaTat F A glaea

(A) Political awnareness social security and

inclusion
TTHie  WhTeed, Wtae T e

WA

(B) Public health, education and literacy

vt e frem af wrgrar
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(C) Maintaining ecological balances and

protecting environment

ufiftafast dge-i @t @ wEAT T gataa
& GO HAT

(D) Gender diversity, profiteering and market
controlling

feer farfereran, weTwTE 3fr are P
(E) Rendering, sponsoring and donating (o
social charitable actlivities

waThae @ gmTd FRateea T, waiee
& 3 39 g 2m w

Choose the correct answer from the options
given helow @

Hr=r fou 7o fawedi F ¥ W INC w owmA

i ;

(a) A, Band D only/&ae A, B 3R D

(b) B, C and E only/@ad B, C W E

() C, Dand E only/&ad C, D 31 E

(d) A, Band C only/ =& A, B 3T C
Ans. (b) : FE T faeEd (CSR) =@@ @ TR
s w0 8§ =raEr ¢, FrEEd iR I9F uftEr & we-
U7 TG TR 3R a3 T W aEw & i &)
TEm § qUR w6 gu ofdE fww § arEm e
foq frim wfmem @1 % ofdw 7 sfa & gan
e 21
43.

Firm characteristics that help managers
identify core compentencies include :

e & faa ofiewon & wEus g
HEATHT W g & €, 396 frefafaa
aftnfea € -

(i) Potential access to wide variety of markets
farfarer yermt & ATl A& WaTer vgd

(i) Significantly contribute to the perceived
customer benefits

e o Feid B ATt @THT W WEeaqul anmere
Caciy
(iii) Value aceretive and non competitive

- stfada ofit fr-gfeandt

(iv) Distinctive and difficult for competitors to
imitate

faftre aiw witvfivat & fog e &0 § =i
Choose the most appropriate answer from the
options given below :

Hrer o T fomedt § ¥ waEw IUgTR IVH @
G I

(a) A,Band C nnlyﬁh_dﬁf A, B amC

(b) B, Cand D only/&a B, C HT D

(€) A,Band D unly!il-a_nl(—l A B #R D

(d) A, Cand D only/&aa A, C 3R D

Ans. (c) : T off ¥z & fou w9 9= @
IS, §H, WA R HEE F oA Fw €, 5
AT VI F TEA FHG &) TR S @ g anan
e g 2, 3R gEiAT 3= WAl g e | A
T8 S €, ae d wieEn st & @ ek amm i A
FAVEA 1 UF T F O TR 2 @ qwd -
1. fafw wam & a7 Tee A

2. Te & Wi & arel andl § HEeaqul g &)
3, fafoe afw sfrnfrd & foro e =23 § a9
4, I F OTE

S, Faran, e E)

44.

Which of the following distinction (s) is/are not
correct between public issue and rights issue?

afir atfirem fntma & =
frrerfefiga o @ & @ st wdt =l 8)
(i) In public issue, applications for shares are
invited from the general public and in rights
issue, the shares are offered to  existing
sharcholders

frtor & St W for s T
wmt ® ait e § oft afrew fofow § v
e o @t W e i i

(b) In public issuec there is no question of any
over-subseription and in rights issue the shares

may be under subscribed or over subscribed
leading to prorata allotment,

wrdafae frfas # amafiues & &8 gare 3d
7t o srftrer Pnfas & Sl &t arew afies
w atfy sifilgw feam =1 @eer & Rraw
JUTIATH AT EAT

(c) The price of public issue is generally less
than the market price and in rights issue, the
price is deliberately made less than the market
price.

udaE foime & @md g e
AT W & grdl & it stirer fnfows © @ma
T ATAGGIRT ATAN HOA T FH H A1

(d) In a public issue, the communication of the
issue is through prospects or advertisements
and in rights issue the communication is

between the company and the existing
members of the company.

udatyw frnia § fwfes & dywnr faaror
ufrar ar fagmuat & weomw | g & oaefw
stfre fofmer o wmor ot ofm 4ot &
wrarer weEt & ot g &

Choose the most appropriate answer from the
options given helow :

e far My fawedt ¥ @ waw Iugw I @
oA HIAT

(a) B only/&=a B

(b) D only/Faa D
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(c]Aanannly!ﬁﬁF{ A3 C

{d]CanannlyﬁiﬁﬁCSﬁID
Ans. (a) : AEwTE FOHE- T8 990 4@ 9% 90 ™
U SEE @ gad am afle @) 56 awl & owed
Fu el 47w faw Oifim R 9§ A aEete
AR W w=iE Sl & & s9 H oRoafe o e,
Sl A FOIE 6, IEA A A 9 W@ 5 e
qafw gt 7 @ wwd #)1 ot wv @ =i
T, q¢ AW F FOEA F OF O & wiAs o @
sl @m 21 SEfE AER e e & HeE e
o F fu aE T aEd § e S @

fu frfe = w7l 31 AeeAts e 4 aifqﬁlfﬁ;
& Ieei@ o g 2
45,

According to AS-2, which, ur lllc Iul]mung cosls
should be includegd m“liumg the inventorices of
a mnnul‘nclurlng c‘hmpgm"
[ UH-2 & AN [E-mi & arel St &
__ar-u%mmwﬁmﬁrﬁﬁﬁﬁﬁﬁwm’r
@it vifiter fova i fa?
(#Freight and insurance
urer 3w =

(ii) Carriage outwards

(iii) Depreciation of lactory plant
TG WA T AT

(iv) General administrative overheads

AT e Iuftery

Choose the most appropriate answer from the
options given below :

e fou v fasweal § | wad IugeR IR @

aﬁzﬁ%aﬁ:ﬁmﬁmé|ﬁmﬂmméa._"'

46.  Which of the following rules stands true while

preparing schedule of changes in working
capital?

frofafas @ & ®R-8 fran @wdfie ¢t &
ufter=T 3 gt fam w & wau udg?

(i) An increase in current msﬂi IIIEITMIH
working capital

e @it o qF:g 'ir ‘:mhﬁ?-r qﬁﬁ ¥ afig
-@-aﬂ-h L.
(i) An mn;n-:u ir| current assets decreases
; -wul‘kmk &apital
| TR At | ghy ¥ wrvie ueft wed §
(i) An increase in current liabilities decreases
working capital
e T ¥ gty B b avhe O w
(iv) An increase in current linbilities increase
working capital
T SEans ¥ gfig B W St Ut aadt )
Choose the most appropriate answer from the
options given below :
o fay 7y fawedi § | @ SugTR I @
W-‘-l'ﬁﬁﬁ'l{ :
{n) Aand C onlyﬁﬁﬁ A3 C
(b) A and D only/F@ A 3T D
(c) Band Dnnlya’aﬂﬂ B3 D
(d) A, B and C only/&a@ A, B 31 C
Ans. (a) : FHE G @ smem 3w O oA @ g,
A, 2 fffa ow, fffa ow) 9 fE s @ e
WA F v e 2
Working Capital = Current Assets— Current Liabilities

e, Wt § gt 7 wEvie e T 8, 3 A

oo g - afam & gfg w1 |/ Fwfe gt aed &)
{a) Aand D only."%h_ﬂlﬂ A D 47. Characteristics constituting the core of

(b) A.Banannly.’&ﬁH A,B.ﬁ'ﬁD

{c) HandConny:*h'a'ﬁ B 3T C

(d) A and C only/&a@ A 31 C
Ans, (d) : T T TEAGA F @00 3R [ g
qrg T WA I R W § s & A
TOT BN A
!.mfmmﬁm‘fﬁaﬁl

2. T T YR age Ama g faeiia a1

3, @ 3R Y@ agel 4 ge F A g 9 W,
aH B § &9 I WU & ged & &9 § gE1 9 g1 gui
WIgT, #M, FEE H4d @ qedisd, e @ afinfem
famn s 21

consumers rationality includes :
IUNIRT @t Wl ATfchahal W ATTWETsIun o yiiier
et &
(a) I-Innmgeneml: expectations
BT gy
(b) Non- satiation/ EIT;_TR?T
(c) Selfish motive/ T@Td-URA A=

(d) Clarity of preferences

ERlpcicake o
{e) Possession of information

o= =it
Choose the correct answer from the options
given below @
Hrer feu T fawedt # W wE I @ wad
AT :
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() A,Band C nnly.ﬁﬁﬁ AB 3R C
(b) B, C and D only/&=@ B, C 3t D
(¢} A, B, Cand D only/&ad A, B, C 3 D
(d) B, C, D and E only/&#a B, C, D 3 E

(2) A, B, Conly/&3@ A, B, C
(b) A, B, D only/#@@ A, B, D
(c) B, C, D only/&@d B, C, D
(d) A, B,C, Donly/&ad A, B,C,D

Ans. (d) : TR F TEF AlGEW & g 0 3T,
@ sfinfm fraem, afam & e ok ge =

wifte anfz F1 wffem fr smn 21
48.  Why is indifference curve convex to the origin?

T IAMEH & 39 g # I9d ol g 67

(A) Indifference curve slope downward to the
right
a:E-rﬁmn o i 7 e i 3w g
wrar g

(B) Two commodities are imperfect substitutes
T A 37Ut whewamas §

(C) Declining marginal rate of substitution
between commodities

q T & A e @ e
wwia gt
(D) Diminishing marginal utilities
g daiw
Choose the most appropriate answer from the
options given below :
et fow v frRedt § ® wEd 39T SR @
Wﬁﬁl’[{:
(a) Aand B unly."m A3t B
(b) BandCunlyﬁﬁHB&'ﬁTC
(¢) Cand [)0n|y.1'~:a‘-_<-lFfC3fl'{ D
(d) A and Dnnly.ﬂﬁﬁﬁf\l‘-ﬂ'{ D
Ans. (b) : TF TSR 9% aEH & WAGA F W
¢, foaos wfa Toumm 3= €)1 SEnfe 9% 99 | T
3 o g 8, i S I A W A
agmE ®, 98 ol Gy 1 e w@a & fong gEt 9t @m
T T | I 9% qE & 39e € B, 9 A
I UF a5 & R W AT ITM F T qE
T 2, 9 Sfarra & i 2 sl &
49.

Financial crises takes the form of
Tada dae fraioriaa &9 o &:
(a) Currency crisis/& Hahe
(b) Banking crisis/&feT dwe
(c) Systemalic financial crisis
waftae fadia dae
(d) Foreign debt crisis
faraeft smor dae
Choose the correct answer from the options
given below :
H3r fa oy e § ¥ wad Ige I @
WA HIfAT :

Ans. (b) ; fafTg w2 T g g, W fad e am
Fefat & qe # seee w4 A &) e wewmey
srawrEl & A famig e @ Q0 e § T i
Il el & G0 FAA & A0 g JEd a1 yfad-
qoafer 3 F@ & 21 T S G g wEe, Hie
Tehe 3R el o Hee & w9 W o 2

50.

Following are the problems that mar an
optimal international diversification :

TEan aimid fatmfean & ey arel
e frerfafa €
(a) Unfavourable exchange rate movements
fafara =2 o wfoser sa-ug@
(b) Frictions in international markets
SITET A | ugu
(¢) Manipulation of security prices
wiefer et W Eh
(d) Unequal access to information
I TF AN g
Choose the most appropriate answer from the
option given below :
o fau g feedl § ¥ AW Iuge IO @
A= FifaAg :
(a) A, B, C only/Fad A, B, C
(b) B, C, D only/@ad B, C, D
(c) A, C,Donly@ad@ A, C,D
(d) A, B, C, Dunl)'fﬁﬁ?l ABCD
Ans. (d) : 3T fafade fm weifes ffade &
w9 § ff I 5@ 2 v fafay eEwfaa amm & fau
OH e gfewm o 21 g, I gl @ gee W
e FHza G o 8, e v & e weer gl
e § FHUAE A2 ¢ | 30d e s g-fafmg = o
yirga Ian-agE, e amm § ado, gfgf S
i @, O 0 I we, 3 )
51.

Which of the following statement is correct
about Mann-Whitney U-test?

fr-fge=ft g-whigrm & fawg f Profafega @
TIH-|T T T 872
(a) It is non parametric test
g Tr-yrafies wiamm )
(b) 1t requires that samples are independent
3as T amavas § & viveyt @ds #h
(c) it can bhe used when populations involved
are normally distributed
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wa aftafea waEm wmraa: faafta &, @
THEHT YT Terar o1 HehaT 8

(d) It is used to test the null hypothesis that the
two populations are involved are identical

FURT YT 30 I WiaaheTAT & qiterr & fog
fean war & fon witwfea < smeEmd wwe §
(e) It is always a bwo tailed test.

T TN fygsow wdtaror &1

Choose the correct answer from the options
given below :

A WA :

(a) A, B, Donlyﬁlﬁﬂ A.B,D 3

(b) A, C, D only @ A, C, D = oy

(c) A, D, E only/FE8 Cold, {; -

(d) A, B, Ennw.raﬁaa,[), 4
Ans. (a) : 77 fazAl g i @ sfied & olem &
fore v fadifem, dfers giem &1 m ww -Gt
milmwﬁmmﬁwmm
fer gar < 2, 1w @ SeEen & @ 8
52.

Which of the following are correct about
complementary events

e et & fawa § Prefeflgs § | @-9
&2
(A) Mulually exclusive
T AT d
(B) Independent
Haa
(C) Such that their probabilities add up to 1.
t for Tat wifgeranadt &t o 1 g
(D) Collective exhaustive
wTfes w9/ Ut €
Choose the most appropriate answer from the
options given below :
e fou v faeedt # ® WEw I9gT I @
A W
(a) A, B, Conly/®ad A, B, C
(b) A, B, D only/&ad A, B, D
(c) B, C, Donly/&Fad B, C, D
(d) A, C.D only/#ad A, C, D
Ans. (d) : @& g2 & e § e gz 3w
UF WA F =0A B 929 & 9feq 8 31 S 5
W9 #| T 9EAT 7R T ¢, 59 A & gRom & 2
3R & fou v wlen 3wl &0 @ s ol 3wl A
T T & 34 ¢l v & S fawtm s am
1 & 21

53.  Which of the following statements are correct

about Chi-Square lest?
Prefafgs #§ § @9 Fa9 Chi @aar giem &
at i &2 -
(i) The only parameter of g~ hu-.ﬁqunre
distribution is its number ofdegregs of I'l!reedom
a;ré(uu}mmmmﬁm
A=A S A & T AT §
(i) '[he ol h}pplhms in piven Chi-Square
test ls rolncled when  caleulated value of

- Wi'uihla exceed its cnllca] value

| B Mmoo (Chi) =R wheor F
“YTahedAT i AT &1 f3ar wran ¢ ?lﬁ' =

T WA 36 Thifes AT | 3t 34T €1
(fii) The rejection region in a goodness of it
test lies only in the right tail of the distribution,
e afw-faee witer # arefrem g o
& TEm-ges H & wa
(d) The Chi-Square test is a parametric test

Chi Taa whers us wrafes oitaror §)

(¢) At a=.05 and V = 1 the critical value of ¥*
is equal to Z— value at the same level of
significance

a = .05 3T V = | & = uv wrdwmar & @A
T T o T Thiferes W19 2 01 & |91 §ian €1

Choose the most appropriate answer from the
aptions given below ;

frer fau mr famedt f ¥ wEw Iuges I @
=aq WA :

(@) B, D, E only/ad B, D, E

(b) A, C, E only/#aw A, C, E

(¢c) A, B, C only/@a@ A, B, C

(d) B, C, D only/@ad B, C,D

Ans. (c) : Fn-FE UF WS 0w @, e
3w Agfed A @ avfiag 9 & e & sia @ o
70 & fou far o @ @f amfm it &@ T oftom
¥ 4 Goodness of it #1 wi=wr & =1 w51 =0 F1d
frmmfa 3 @ @

:_(0-E)

N

=T T

0 = Observation ( Ta@iEa)

E = Expected (#fam)
'ﬂ%ﬁ‘ﬂﬁNcgalivu#ﬁT_ngﬁl
Note— Range 0 ta o

Calculated Value < Table Value = I, is accepted
Caleulated value > Table Value = Hy is Rejectesd.

TR UEEE WEE @dd @ aEE & den 8, i v
ufiEer & seEller 1 fZa o
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The principles of management have the

following distinct features :
wEtR & fagri &t fmfafes ype fagreand
%

(i) Flexibility
EIGILE]
(ii) Universal application

(iii) Principles are relative not absolute
g W g €, ey

(iv) Based on situation

wfiftafs o smafia

Choose the most appropriate answer from the
options given below :
Hrer fau o forwedt § & waEd IugeR IWT @
=TT Fe
(a) A, B only/#ad A 3R B
(b) B, C only/hse B 3R C
(c) A, C,Donly@&ad A, C 3R D
(d) A,B,C,D/#ad A, B,C 3 D
Ans. (d) : ¥R T fagi 3 faemand frafafa 2-
1. YA F fagiA ot )
2. YA & fAgiA @9 8 8
3, Y94 & fogla e mew & @9 €
4, yay fogia aier @ €, Py 9 @ €
5. 77 fifgf uw amafE g )
55.

Use of the interviews as a training nceds

assessment  technique  has  the  following
advantnges :
wivTaor & YEaih aaHE & B

W eI & Iwan W frefates @ g €
{i) Questions ean be modified

WYHT § W TR 9 wehar g1

(ii) Easy to unn!yzc

fargeran & o mE

(iii) Can explore unanticipated issues that come

u

PO S S I
& TR §

(iv) Less time consuming

THE &H AW T E

Choose the most appropriate answer from the
options given below :

et fag Ty fawedt # | wa® Iwg I H
A &I :

(a) A, B only/#aa A 3R B

(b) B, C only/%ad B 3 C

(c) A, Conly/#ad A 3R C

(d) B, C, D only/&ad B, C 3R D

Ans. (c) : ST SNETITAH T qediH ShHeA TG
Faue 9 Fuzd & waten afs § 4 us €1 a9z G o
Wy wEiEa oW wEar @) 9w sEvada
qeiFa & am e g-

1. % TONE 3R AHE 221 UHT S § 7ER a8
2. 7g TaY W 3w wfawd Wa & § nEg a5 2

3. 30F TR WAl # quR fE @ o g

4. 7z 3 vfemor 5 w4 A i s &=
AW B F 2

5. FFgaEta fawdl # G a2

56.

The advanlage of incentive payments are
WIeATE= ST o a-a 1 @I § ¢

(i) Ease in the introduction of new machines
=% Tyl @ e gfeem

(ii) Better utilization of cquipment
FUFTUT T AT ITAT

(iti) Reduced absenteeism and turnover
srquftaf 3it st & wh

(iv) Increased scrap

arafte | ghg

Choose the most appropriate answer from the
option given below :

o fau Ty fareedt # | wER 30T I H
=g WA :

(a) A, B only/Fad@ A, B

(b) B, C only/dad B, C

(¢) B,C,Donly/@ad B,C,D

(d) A, B, C only/&@d@ A, B, C

Ans. (b) : SIRIEA da7 TS e & G e R
T 3w # g 9 F 9gE @ UF e
afia 21 39 e e 2-

1. T Fafarlt waviq 3 sfauwm

1. FET HIAHSE FEYH

3. IUFTN F A& TG FAl E |

4. TR W 1 frafad & § Tew 1w )

5. Iruftafy 3 smgf o & W s 81
57.  Which of the following forms may not result in
credit risk?

foeteiaa # § g ®0 | |/ WiiEw g4 @i
HuTET T 7

(i) Principle and/or interest amount may not bhe
repaid in the case of direct lending,.

TRy IR & WA ¥ gees ofw wmmw w
g 7 Rear wan gn

(ii) In case of guarantces or letter of credit,

fund may not be forth coming from the
constituents upon erystallisation of the liability.

TRET OT WE-UN & WIAS W egaT & it
T et o TR 7 31 9t wil
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(¢) Funds/Securities settlement may not be
effected, in case of securities trading business.

vlegfy wmaw wEEm & owme W
faftrai /wfergfeat o frem = g2 En

(d) Provide information for determining
adequacy of loan loss provision.

/U N WA F gAiEar | s s
ferq g==T yaE= &wEm

Choose the correct answer from the options
given below :

Ho fau U fawedt § ¥ W SWC & wad

it «

(a) A, Band C anly/&ad A, B 3 C

(b) A, Cand D only/#=a A, C 3T D

(c) B,andConlyﬁfﬂHBaﬁ‘( C

(d) D only/&ad D
Ans. (d) : 394w foedl ¥ @ Fw 21 wawm & gaiEm
feffa &= & 0 g1 ¥ F B SifEn gE @
HEATET e 2
58,

Which of the following statements are false
regarding  electronic  purse? Indicate the
correct code,

seraTrE v 3wy # Proffe § @ w6
¥ T 270 §7 WE wIg & fafwa &
(i) Retinal pattern verification
arfirrerar wemTa
(ii) Visual recognition
T Tge
(iii) No risk of bad payment
T YA WA Ay Tl
(iv) Method of accepting payments with no
cash float to manage and no risk of theft.
Uwme waw @ yau fag fa=r sfc =rd &
Witgw & o A wiga &t @t fafl

Choose the correct answer from the options
given below :

#rer fou o fomedt & ¥ wH I w W@

T :

(a) A.Bandl’.‘onlya?ﬁﬁ A,Baﬂtc

(b) B, C and D only/&a& B, C 3 D

(¢) A and B only/dae A 3B

(d) C and D only/&aa C 3R D
Ans. (c) : ORI o % wm A7 & W 3w
# IE S 3 oA & 2 I F S & 0@
qF It I @ g S f§ wA-ea § w9 § gfaefe w
U FH & T 2| SeEiaE g6 W F1E W S @
81 I fawen 1 Ffevedn sfme armm ai gva
TEa F4T 3T ¢

59.  Which of the following statements are the

defects of Indian Money Market?

Frafafes # 8§ SF-§ ST W §5 e
T it &7

(i) Profitable Investment/@TwerTll frawm

(i) Dichotomy in Indian Money market/dTTTT
T A ¥ g

(iit) Financing Indnslr}ﬁ'ﬂfm W faa yg=
AT

(iv) Diversity in interest rates/@dTaT T A
Terfir=rar

Choose the correct answer from the options
given below :

Hrer gy T fawmedt @ @ Wl I = wE
Hif ‘ )
(a) A, Band Conly@ad A, B AR C
ib) ﬂnnd(‘unl}'xﬁﬁﬁfnaﬁ'{c
() A.Band D only/&ae A, B 3T D
(d) B and D only/a@ B 3R D
Ans, (d) : frdl 2w @ fafia T fGfim sar 3 g,
Iy & e Fm &) T fafg aen § g oawm
ST goft amm 2 wifte @ §) 9 g@ o aeR #
it o §-
1. IS qR AR A ARaE)
2, WA & TEE |
3, = Z N SEEEE
4. g7 AR i Al
5. WA et aoR 7 fZasE|
60.

Penetration pricing strategy delivers results :
ANOET gea-fruir s aftemeras
gt &)
(i) Where price quality association is weak

WE YA T AUETT W SR G g g
(ii) When the product is perceived as a "[ligh
technology' product

TE IS F I ST AT IWE & B
2 AT £

(iii) When the market is characterised by
intensive competition

T AT rfaerarer e wieiiaT g
(iv) When the firm uses it as an entry strategy
& wiE wayr i & w9 § 3HET 394
HAT

Choose the most appropriate answer from the
options given below :

#rar fau o fawreui F ¥ wEd I0gE I @
=~a-d Eﬂﬁl’l{ :
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(a) B, C only/&a@ B, C

(b) A, Donly/&ad A, D

(c) A, C,D onlyad A, C,D

(d) A, B, Conly/@ad A, B, C
Ans. () : TIRGEA A-ERV FEAETT UH  fA90E
wrifa 8, frean 3wdm smEamEl ZW IS 91 UF
TR A Fa F fav ol it Tvww & dmm an
FIA ) T T AT w6 F o B s 2
& FIAG T A4 S0 91 Ta1 & SR 0 9 e 3R
meai & Yo § g smHe ¢ 0 uEg e g

§ way &1 UF Wi 2 PR
61.

Which of the following rtprnsié'ti;ts"frfditiunnl
logistics management appraach -
T A B T, ﬂ-:r JEU I N yEA
e |\
(i) Indcpeﬁdé’hl inventory management cfforts
¥, e e g

"(u} Minimise firm costs

giegr &1 TTEl @ AR

(iii) Amount of informuation sharing and
moniloring limited to current processes

THET PiERaTsi W AT T WE w T
AT Ud Ikt TR

(iv) Small breadth of supplier hase to increase
coordination

TW=TA B ghy & f smuiieaist & difa
e

Choose the correct answer from the options
given below :

e fau o fawedl ¥ ¥ wEW IugwR I &
Wﬁﬁ‘l’ﬂ::

(a) A, Bonly/&&d A, B

(b) B, C only/Fae B, C

(c) A, C,Donly/@ad A,C,D

Fa oform o7 @ @ A W oqem @ ||
mmmﬁlmqﬂﬁuﬁmiﬂfﬁlélﬂﬁm.

62. Which of the following statements are False?

Indicate the correct code.

ﬁn%ﬁgﬁwﬂﬂq#mmt?nﬂaﬁz
afea &t :

(i) No company has to file any hresrﬁhed
declaration before cummen&emnfol'bu!mﬁ'i.

fareht oft sl @t wmEETd e w W gl
w13 fafge sraom :ﬁ H-TGﬁ B &1
(i) A companyi il _ratify the contract entered
into by the promoters with third parties on
_~helidiFarhe company before its formation.
| S I e A yd wardent g gt @ it
R g T & ww S w wfeer S A =
el
(iii) The date mentioned in the certificate for

commencement of business is taken as the date
of birth of a public company.

ST UHW &7 o WATW R H Ieoiiad fary
Ufteres G-t @t w0 fafer o= = &

(iv) A private company has to file a "Scttlement
in lieu of prospectus" with the registrar.

s @l & Cwfgeroer @1 W gwstEr’

Uoftaen o awi SifEer &1 g 61

Choose the correct answer from the options

given below :

Hrer fag o famsedt o W wE 3T @ W@

WITAT :

(a) A, Band D only/3aa A, B 3t D

(b) A and B only/Fae A 3t B

(c) B, C and D only/&ad B, C 3R D

(d) C and D only/F&d C 3T D
Ans.(:):?ﬂﬂﬁﬁ?ﬁﬁfﬁﬁﬂﬂﬁmﬁﬁé—
|, TR F W TR # Oy Wl g| e # 3w |
i o arg diaw #) wfe A @ uEd 2
2. SR AN &F & WY ¥ SeeligA [ wEwieE
FOE F 35 F A T A S 2
%.ﬁ;ﬂmﬁaﬁdﬁﬁﬂﬁ&mﬁtﬁ'@nmm
g 2

(d) B.C D oy B.C. D 63.  Which of the following are not the objeclives of
e v 1. VY : ﬁ : == — competition %ﬂ:&z{m!‘.’
ns. (n) : AAZET WA Wi =1 Wefin = frrefafiae waT-gar wiwmat arfafrog
f same @t &0 afga fen s 2, dafea fe @ @ 2002 & Feva TH §?
st 3w aifim dimem aw ygarar S i mw U (i) Ensure freedom of trade for other
ST A & fad dqibmE fEAail 3R participants in incidental and connected
smyfieisl @ TEWE w1 & Wa-ae A S "““"‘“'Fs' rgt ) i -
3 wda @ Fafmr @ miva @) @ s @ vE, ;Fq ; %mﬁﬁ : f' e
g Sl A AR A if) Provid ble level of reliability and
58 . ™ - # wada _ E.:Ln:::;pt;:a:';:}a:ma ¢ level of reliability an
sit sfiram o =g @t a1 et R s Afaa fagw=aaT Y2 S 9 Jare g
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(iii) Adhere to generally accepted security
procedures

W T W igha Geen Tgidl e ues
(iv) Protect the interests of consumers
figeit = wivaror

Choose the correct answer from the options
given below :

frar fau wu fraedt O A Wl I @ W@
i :

(a) A, C, D only/&ad A, C 3 D

(b) B, C, D only/#a@ B, C 3 D

(c) A, C only/&ad A, C

(d) B, C only/@@d B,C

Ans. (d) : St srfufrm, 2002 sl fasae &
ag @ 8, 9 Afe 59 § @ a1 AR el afta
FH % fau GiEER & T Tfie S0 9 81 9w
sfufaam, 2002 7 wmm 3t g9 g wufaiem G T
a1 31 uEfyaR 3 ShEamTE =R SaeR srafrEm,
1969 @1 wienfua fear man 4w wioeml &)
frifid &0 & foro Wil 81 309 3e%d A -

|, wioel 37am &1 reen & fon s9En faR & e

2. uEHER F1 Uad 37 AR | it &1 g e F
fami

3. IR fet F1 g

4. IR § AW G e A a e giafea e
64.

Which of the following persons cannot use
ITR- 47

fafeafEa # 9 @R-11 @fw g & am-4
T WA FE T AT &7

(i) Who is director of a company

o et @ ey §

{(ii) Who has held any unlisted equity shares
forads o argEfaeg sfead v §)

(iiil Who has any asset located outside India

faaes e e & and faa &g oftamfy
(iv) A firm (other than LLP) il assessee is a
Resident

e Wi (TR uA W & iR ) afe o
fruifta frardt &

(v) Who has income from other sources

foq & e 3=y |iEl |/ 3§

Choose the most appropriate answer from the
options given below :

Hrer feq T faenedt F | W I @ waw
S -

(a) A, B, Conly/#a@ A, B, C

(b) A, B, D only/#ad A, B, D

(¢) B, D, E only/&ad B, D, E

(d) C, D, Eonly/&ad C, D, E

Ans. (a) : WRATG EE AfufEw, 1961 & AR ITR-
4 T WM I FEmH & fau amar fwd wid @ S
YT 44AD, YR 44ADA & T&d SR 34 d9 &
faFer g &1 ITR-4 U& @fem famdi, HUF, &
(LLP & 37eTa) 31 Sif@a & o1 w3 2

65. Which ol the following losses are not deductible

from business income?
Pefafas & a-dt ofy 3t =i saog
3T | E AT AT §7

(i) Loss sustained hefore the business is
commenced,

TGEE J6 4§ 9d g3 e
(ii) Lossess incurred in the closing down of the
business

TIaTa &E o H g8 g

(iii) Loss incurred due to damage, destruction,
etc., of capital assets

A wre-fw genfz & @wwRwr gl
uftawfaar &t g

(iv) Loss of raw material and finished goods in
transit

Zifsre ¥ Foer wrer ffT T awga @ g
(v) Loss of stock-in-trade due to enemy action

I & e & HT SIS W g

Choose the correct amswer from the options
given below :
Hrer feu o fareedl # A/ W@ IR @ w4
ITAT
(a) A, B, C only/&a@ A, B, C
(b) B, C, D only/&a@ B, C, D
(¢) A.D, E only/&a@ A, D, E
(d) A, B, D only/&@@ A, B,D
Ans. (a) : F=felEn e 3 S0 aEafas w9 €
7 wFA 2
(1) 7594 o =R @1 99 § fau s=fes T8 g,
fauffedt gro faan <t &
(2) e wEfa & efd, e, i & Fwer g aren
il
(3) fan & sv 7 ufia 99 & B & Fro g et
T
(4) TF T4 AGAE @ &E & fou F o i)
N qFE S 3 ¥ T s w2
(5) o sEvai & fon faesh g W@ ™ v @
e B |
(6) =aEg I[E g 4 g A
(7) FEA TS FH UG a
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66.

Match List I with List 11 :

et 13 T g 1w frem @

List-I/gefi-1

List-TI/g=it-11

(International Trade

received from  the
purchasing company
for the shareholders
of the  vendor
company

Tt rat s
F TR URE & o
WA e § oW
CE A TR B
Sgat gftafer

Theories)
(@feida s
fagr=)
(a) |David Ricardo (i) |Theory of absolute
e el (1817) advantage
uui @ =
(b) [Michael Porter (i) |Factor endowment
TR UIT(1990) theory
I W faard
(c) [Adam Smith (iii) | Theory of
uzy fEw (1776) comparative
advanlage
WT?WEE oY &7
fergm
(d) |[Heckscher  (1919-(iv) [Theory of
Ohlin (1933) compelilive
£ (1919)- advantage
3B (1933) wfamaicns oW
fagrt

Net
Method

(b)

frae wmfy faf

Assets

(i)

On the basis of ratio
in which the shares
of the transferee
company are to be
exchanged for the
shares of the
transferor company
I IR F AN
W fEi  ewiEf
Ho & vEd @l
Fo % ovEn d
fafemr faan s 21

Choose the correct answer from the options

given below :

#iar g T farwedt @ @l I ow owae

i

d
iv
i
i

i

-1

qerToTE o @ freia
sfraiEs @ & fagia

a b c

(a) i i il

(b) @i v i

(c) iv il ii

(dy i iv i
Ans. (b) : T-1 & Tg -1 71 T8 foem F:1-
-1
|efas feret (1817)
U G (1990)
wen fma (1776)

THIR (1919), 37— (1938)

ot @ @ faai
T TEar e

Net
Method

(c)

T A fafd

Payment

(iii)

The amount to be
paid by the
transferee company
lo transferor
company for
amalgamation of its
business

CEsIGIEG M 2 | A
W74 oEEE &l
urifad ave & ferg
FTA @ OUEE A
A ATl W

67.  Match List I with List 11 :

YEiT- 1 o W - 1 @ e #if

List 17g=h-1 List-11AT=H-11

{Method/faftn (Purchase
consideration)
(z wferde)

(a) |Lump-sum (1) |Calculated by
payment method adding up the total
THIT EuCic] amount (money
fafia value) of existing

shares, preference
shares and cash

(d) |Swap

method

fafy

FEE-ATCA ST

Ratio

(iv)

Arrived at by adding
the agreed value of
assets  faken over
and deducting there
from the agreed
values of liabilities
sfimfen awfdi &
T qed & SEa
W I R I
& WeWaqed &
2CACTE I

Choose the correct answer from the options

given below :

o feu W freedi @ Wl I @ wOw

i
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a b c d (c) | Cost plus | (iii) | Price  deviations
(a) i i i iv pricing from marginal cost
(by i iv i il GG i LG should be
(c) v i i i Frafror im'ersei_y__._l e
Wy v i i proportigalf N} (o
Ans. @) : -1 & W G-Il 7 FE@ WA - .{’""c!?;rﬂﬁ;:'&‘-‘? jof
wet-1 (fafin) wei-11 (w0 wiere ) Ao 3
THYd T Teid (i M - ,.fi-‘ﬁ WHE:
FEAE T e & & «* Y\ -k maa'”{ !
F1 ApTAE # W aren fen AN\ \V' 5”:1""
fraet wmafe fafy sfefes wofdl & wema| | P L
e 1 m 3k o ﬁ % “{d) | Penetration (iv) | It is full cost
T F T WA pricing pricing  sirategy
HETEE?THT‘:I W N EiFii EL] that also includes
WY > O | o mark up for target
T e fafa Tﬂfﬁmw R 3ﬁ} o return, degree of
[EETL Mfﬁ YA &6 competition, price
P Frrll @ WE AEe clasticity and
& Fa uw F SiEw availability of
L b N ofighiE substitules.
LA I fafY W AT & R R o Rk Ila%'
\ Fer aE & i @ frofon_ worif
TR T A F & MR
it @ fafrr fem m #) o _Ia';g”ﬂ S,
68.  Match List I with List II : - ?ﬁ-{%
EiT-1 % W geft-11 w7 forem @i '1@& Faﬁ laﬁ
List-1 (Pricing List-1/ge-11 S
Strategies)(7T (Description) égg
ferurtror i ) ( ferarron ) el
(@) | Ramsay () | Scting _a  high Choose the correct answer from the options
pricing price  when a Eﬁ_g" below : P X
T T product is  [first fay my famedt @ W@ I @ WA
fyfan introduced  and SHifa:
gradually lowering a b s d
B e @ i v i i
F=f 3912 57 a0 (b) ii i il iv
i S (c) iii i v
=5 fW @ (d) i v ii iii
3R am § g Ans. () : FdI-1 & @4 -1 F BE Faem -
wwE am F ae || [ geft-11
i A EE fg_ﬁ:ﬂfﬂhﬂﬁl’d:ﬁﬁn (ﬁ:_'a'{u'r)
(b) | Price (ii) | Firm charges s e freto Hmin A § W‘ﬁ‘w
skimming lower price (than IAE OH OFME W W
WEH =i the ongoing price) SRR #rt =fe
(fz7 to gain  market ||| g ot firll IR &1 9R A Haa
Forafor w=f) emry i 3 - :
w 9K 0 98 {Wﬁﬁmm)mwwm@mm
T & fu @w Tz § g-aa‘[ T A F AR
A (T F A § g
& qa §) fuiRa || [@rm 4m oo fefon @ ol am e Faio
T 2| widifi 8, R e s
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1 fafgr @wn, siafm @
T, T8 @M 3 st
&1 9@ mibd &6l 21

AN Bed ged fuir ol s § SR A &
W A (I FW F qE
1) Fwife €

69. Match List T with List IT :

EiT-13 wer g 11 = T St :

List-1/a=-1 List-11/g=f-11

(i)

Market risk Associated with the
TR Sy efliciency with
which a firm conduct

its operations within
the broader
environment
imposed upon it.

W FEmW q
Wa=H 30 W A
g A % 3R
Hd F@ &1 Hdre
T 21

(a)

(1) | Arnses due to change
in operating
conditions caused hy
conditions thrust
upon the firm which
are  beyond its
control

asH W3S
fgamr @ 0w
wfiftafigt smfm &=
u wd uitftafadi §
Radd & 9o g
21

Financial risk

forfrg hfaw

(b)

Variations in price
sparked off due to
real, social, political
and economic events
e W 3WE
ToHiE 3R anfdE
wAET 0 Fma H

External (i)
business risk
q9| 989
ifiam

(c)

Associated with the
capital structurc of a
firm

s 3 g 7 |
el

Internal (iv)
business risk
ai®
FqEg iy

(d)

Hi fau U fawmewt ® W@ I @ WA

wifaT:
a b c d
{a) 1 i i iv
(b) i v i i
{c) 1ii i i iv
(d) iv ii i ii
Ans. (b) : THI-1 F w4 -1 7 w6 e -
- TEh-11
IR Infdw gemef § FmE A
I B4 a1 Ifaal
fadira sifam wfasm & $frm =fa |
i |
gl AGEE S WasH W s Fdam § ®
sftfeafral smifm &m & &
vfiftafadl § wfieda & 9
T &2
1 wfoem 3 o s
FET A & 3t H
Tl 1 W a1 2
70. Logically scquence the following in the process

of entering international markets oullined in
the uppsala model

IqATET wisw ¥ Sfeefae it aww ®
YAy & Wt withan W frefafiaa @t adhwa
A H T
(i) Sporadic (Ad hoc) exports

wed (T ) frata

(ii) Foreign production and manufacturing

faeeft 3ware 7 fafmio

(iii) Establishing a foreign sales subsidiary
faesht fama weras o wnfta &

(iv) Domestic operations and production
UL JTET & IAE

(v) Exporting via independent representative
e gl & oAy  fata wEr

Choose the correct answer [rom the options

given below :

Hrer fRu 7w faeedt § # wd IO @ weA

i

(a) (a), (b), (d) and (e)

(b) (e), (b), (d), (a) and (c)

(c) (d), (a). (e), (c) and (b)

(d) (e), (b), (d), (c)and (a)

Ans, (c) : S9ATCT Hew ATl faofaed & fo @m

F A WfEn Al (Sierma 3 fastgEn-uE

Choose the correct answer from the options

given below :

1975, e S a@H 1977) 7 39 99 & SwEE

9ER & gl W Hard I[en 91 3 9T 8
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I A Afuwie fogi wieghs v @1 &9 S 8 a b ¢ d

FHE IF=RGE AR G §aw w2 F Wb FEratEs g- (@) ii v

1. ¥e] SEIeH 9 I (b) i v i iii

2. 7= (vzes) fgfa (c) iii ii i iv

3. @A wiafaf & mnan & fala & (d) iv N

4. fazaft fama v 39 w=nivm @) Ans. (b) : TH-1 & g T=-11 T W fram -
5. et smmem 3 fafmfo Eft-1 -1

71. Match List I with List 11 : (3mam) (&afvha o)

Welt-1 W gei 11 @ e @iy Eliten A, e, frear i fmid
List1ae-1 List-lrgeti-n || ot SE-SF,  uRedl, Wi,
{Personality (Individual Traits) ﬁﬁh a3 A
Dimensions) (-a-qﬁ.yﬁ;-gw) TS [T A, W AR Efﬁﬁl

( 2T ) ST T, foramg, iﬁm?n:

(a) | Extroversion (i) | Calm, happy Bt i 3 FeeE w9 W

aﬁ‘@@m and secure ez
wid, ¥ i E 72.  Match List I with List II :
il =ht-13% e =i 11 @ e #fag

(b) | Conscientiousness | (ii) | Talkative, List-1/ T=fi-1 List-11/a=i-11

AT :3?:?:11;:: and (a) | Insurance Act (i) 1988
pitgoing dir aAfafaam
argl,  3m, (b) | Life Insurance | (ii) 1963
foear &R Corpaoration Act
i Siaq  d@mr fAm

(¢) | Emotional (iii) | Creative, _
stability curious, {c) | Motor Vehicles | (1)) | 1938
TEATTS et intellectual, Act

imaginative e are rfufEm

and I:{ﬂistically (d) | Marine Insurance | (iv) | 1956
sensitive Act

SIS, Tt " sifafrEm

fmg, it Choose the correct answer from the options
FeqaTee 3 given below :

ﬁmmﬂ #=t faw v famedt € wE IEC W WA
BECTNIGS A

(d) | Openess lo | (iv) | Self- a b ¢ d
experience disciplined, (a) iv i i i
TR avore Ak ) i @i i v

organized, i s . .
dependable and () n v : .

; (d) iv iii ii 1
persistent 5
m_mm :\I‘lﬁ.(t):_\‘fﬁ-l ﬁm@-”ﬂﬁﬁlﬁiﬁﬂ—
oo, ainam, |1 -1
fr dmg i |0 S 1938
- stra= g fam wfefaam 1956

ot aeA Afufgn 1988

Choose the correct answer from the options

given below : At = arfufam 1963

Hrer fay o fawedt @ Wt IWC @ wa@= |73, Match List I with List 11 :

wifo: w=it-1 & T gEit-11 = firems #if:
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List-1 (Books) List-11/g=h-11 faery afrai and are awarded
-|(3§|§;) y Gicea by  way of
kS Author{s) ) punishment only
(a) | Wealth of | (1) | Thomas T e § e
nations, 1776 Malthus -y ifIEﬂ' %, |
bl SENTEB A
O T 2
(b) | Principles of | (i) | Karl Marx — — - é_
Political ] (c) | Exemplary o=~ | (ii}/| Anise  in  the
Economy and damage™, °C_» ordinary course of
Taxalion, 1817 e, afra events from the
fifrTEn HiE T\\? breach of contracl
qietieahe At dfaq o #a S
Uz YA, 1817 AND AR
() | Principle _of | (iil) | AdamSmitet || o R S
Population, 1798 | | sert-fer Lkl
fiifegm 3 [ X ™ (d) | Nominal (iv) | The  constitute
W‘gﬂ_ 18\ { ) damages N m:]l_rccl loss
(d) | Das Capital 4 86% | (iv) | David Ricarda At e :;gﬁ:;i ] by pa'r':;
. e, 1867 efae fiame] on account  of
‘Chogose thie gorrect answer from the options breach of contract
N givenbelow : _ fifa T B OF
viTer fau g faeecdl § @ WE SO0 @ wEA FROT ifed o &
wifog : G
a b ¢ d GUES
() . . Y i Choose the correct answer from the options
(b) m v I given below :
(c) ii LU e e freredt & et I = T
(d) tii i iv ii
- A b ¢ d
Ans. (h) : @H & T4 ﬂ__'-ﬁ'” 1 Tl foem - (a) iii iv i i
aeft-1 Tl-n b) iv i i i
(Ih) (vrE@s ) (c) i i v il
aeq e 9, 1776 uen faa Wy i i i v
yifafewa s wws 2faz fawst Ans. (a) : A1 & T0F E-11 & w@h e -
TFIA, 1817 -1 -1
fiftraer 3w Qigeer, 1798 @i Heaw ar Al dfawr i g9 @ fRaf i wmE
am &z, 1867 Frel mr gz AW § I f R
74.  Match List T with List IT : ferema arferad dfam o @ F a e w
o= 1 & wre g 11 = fes il & B A e B
List-17g=ht-1 List-11/a=ft-11 e it 4 R sl 91 e @ s
(a) | Ordinary (i) | Never granted by i A e & w9 & oh 8
damages way of st wi & e o Iﬁl AASREL
am el compensation for wEd A 3 A 2
the loss 75.  Match List I with List 11 :
B & -1 %\ gEf- 1 = e st
sfrgfs % w9 # List-I/a=h-11 List-11/a=hi-11
FN owEm wW A . .
= 31 (a) | Section 35| (i) | Payment made to
(2AA) certain institutions
(b) | Special (i) | They are quite HAT 35 (2AA) for scientific
damages heavy in amount research
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(b) | Section 35 (1) | (11) | Payment made to
(ii a) certain istitutions
"W 35 (1) (i for research in
a) social scicnees
e fagm @
BRI UGIC]

(¢) | Section 35 (1) | (iii) | Payment made 1o
(ii1) a company to be
€10 35 (1) (iii) used for scientific
research

CENCE A
& fau Fwi &1
feram e A

(d) | Section 35 (1) | (iv) | Payment made to
(ii) Indian Institule of
"I 35 (1) (i) Technology  for
Scientific
Research

i Tw &
fe Lleoi
Wil HeE &
feram T qraE

Choose the correct answer from the options
given below :

For e o famedr ® wd SWe @ WA
Ff:

a 1] ¢ d
(a) iv ii i i
(b) iv il ii i
(c) i il iii v
(d) i il v i

Ans. (b) : -1 & Tg -1 T T e -

T=fi-1 geit-11

¥R 35(2AA) s Wi & fau awaa s
U 35(1)(iia) A viw & fow wam R o E
um 35(1)Gii)  wwtas famm d v & e ge

aRT 351y AwieE v & A g e @

fere, Fvsht =01 faan T g
Tl & fE T g

fran T AT

76.

Sequence the following in increasing order of
integration of member economics

v doeRmell % usiater @ o3P #
foafeiias @ T e W sxartad o

(A) Free Trade Area/qvh SAUR &?ﬁ'
(B) Economic Union/3TTda T
(C) Custom Union/Hramyes Hu
(D) Preferential Trade Agreements/3TRITT=
waTa witt
(E) Common Market/ATHTT ST
Choose the correct answer from the options
given below :
i fau o fawedt # @ WH ST @ woA
AT
a b < d ¢

(a) i i v ii iv
by i v i iv
(c) iv i i v il
(dy iii v i iv i
Ans, (¢) : HeH AT & TV & ¥ F AT
&1 H-
FftmE =R st
¢ -
[ ST &7
A5
Hmrees Ty
1
T AR
!
= 4w

77. The liguidator after realizing the assets of the

company should distribute the proceeds among
below mentioned claimants in the following
order.

freme &t sut @ ufdetaar @it aget &
ag ATTHT @i anifefEw graenl o fRw ww o
ferafta &oaT @TiR:

(A) Legal charges/faftras amfs (gumw)

(B) Liquidators remuneration and cost of
expenses of winding up/fTEmE & uitsfs
3w wftware w3 & ufterg @t @ve

(C) Workman's due and claims of the secured
creditors

T & FeTy offt gEikm Ten & g

(D) Preferential creditors and creditors secured
by fMoating charge

sftmarfi SR it sremdt yww gro Wil
EEHE]

(E) Unsecured creditors

IR Trer

Choose the correct answer from the options
given below :

Hrer fem o Rremed ¥ @ W@ IS W w9
T :
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i il iii iv v
(a) b c a d e
by d c b a [
(c) a b c d e
(d) b C e a d

Ans. (c) : Freoms 1 &l &1 ofcrmf & agel &
FHTA TIigu-
fafes =t (79m)

d

s & witsfi 3R oftenma @ & fter 1 @
!

IR & T 3R g AR T4
d
R ERR S arerll R g il e

4

E g
Arrange the following market structures in the
increasing order of pricing power to firms.

78.

frafafiea awm deEed @ wH @ g

Frufror wifes & a@=d =0 o waftad i

(i) Monopolistic competition

(ii) Perfect competition/guf e
(iii) I}uopol.\'iaﬁml'

(iv) Monopoly/TahTiRIETT

(v) Oligopoly/3TeaiitIai

Choose the correct answer from the options
given below :

et fau o faeedi W ¥ Wl I @ WA

i,

79.

Arrange the following items, ie. stages of
capital budgeting in correct sequence :

qft Fwed & Fafafaa =l &1 amag & :
(i) Identification of potential investment
opportunities/Harea fawr [ it ug=a
(ii) Assembling of proposed investments
wEATad fAav & gae

(iiii) Decision making/ Fuia=

(iv) Implementation and performance review
wrataaa 3 fmearea wi g

(v) Preparation of
appropriations

G e s fatE @ dar

Choose the correct answer from the options
given below :

Hra feg mu fawedt § A W I = @A
i -

i 1] iii iv
(a) b a ¢
(b e c a
{c) ¢ e d
{(d) a b C

capital budget and

o T oo
(=N =N =]

Ans, (d) : T3 T 5_5 aU-

Hwren frges a1 g

d
ST ﬁ&ﬁﬂ“‘ﬂhﬁq
J
[EupE

l

goft awiz 2 fafgni 6 dad
!

Fraaga AR Fees & wden

80.

Arrange the following stages of processing of

(a) :., :_; :l :: : data i|:| s{currr.'d sequence :
b a e ¢ d sffwst & wwww & Frfafea oo o 7@
(c) a c b d e Y § Saityd &Y
dd ¢ e a b (i) Coding/&z-UahaT
Ans. (b) : TR G F EA F ed fufon vfE & (i) Editing/dames
A w9 - . (iii) Tabulation/aruftaar
T’f wfeanfa (iv) Classification /avffetor
\) . (v) Using pcrrcntagesmﬁ?ﬁ o AT
weEfeERard s Choose the correct answer from the options
g given below :
T e f3u W fareredt o 7 W I @ waw St
J i ii i v v
ACEAL (a) a b C d e
J Eh; d Z b ; e
c) ¢ a e
ISR @b a d ¢ e
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Ans. (c) : 99 fT@@ @ wawn 750 79 64—

—wEl #§ W foam SR a8 el
8 AU i A e & dn R e wewl & A i
A 1 I T ¢

T & 919 W & F0T 23 Y 8 g |
—TEE TG HAFE IE a4 R WE F 3y 3R
HE % it &) qfeae & e al)

— WEE W AEn-3AE g ¢ AR wWE 6 ug
gald

— 5 sfanfia 3iR suaf A g wirE i

Ans. (d) : 3TTHST & FHAV & Tal TWHI- 82. Arrange l!le following steps in .Iogical sequence
3 3z e — T —yuroh T - :a::)::::l-on of the registration of portfolio
@ A Wrwifdl yaRE % defte @ g &
81, Arrange the following characteristics of stages Haftra frafafias =i &5t m W b1
development in the increasing order : A
W faa sraearsl & faifera g ( S
arfrereron &1 @gd W W eartyd &1 : (a) Prior “Ppm‘“l o ““ [Bllﬁﬁil & Té
(i) Members begin to resolve differences and SRS
clarify the purpose of the group and the roles (b) Adequate !Ié 5 fﬂl’ redressal of investors
of group members pricyane &t fBreraat & framr &
mmw@wﬁt#@w% MWB@I
Ieva 3N wE & wEwl @ gy ﬂ TE),  \.(c) Maintenance of the specified capital
&l E \  adequacy requircments/faffcE Gl ﬂﬂ“ﬂﬂl
(b) It includes recognition for pmmpalinuud T ATIATAFHAT HT TATT T
;_cﬂl:nﬁinwﬁmc-nﬁt afnr ﬁ ﬁ A (d) l'ng'mcnt nffcofﬂﬁi'mr LUGIES ‘
et &1 \ ¢ (¢) Abide by the regulations under the SEBI act
% wdt sruf=an & faf & ve @
{c] Mcembers are hlﬂh[!’ ll!k-ﬂncnlod and there Ch i or b :
is unity in thégroup .- nns; Itu- correct nnswer from the options
Em m ﬂ@' m o given Delow
ik s A J o § TE et feu o freedl F @ W@ I @ wEA
{_Tehpt wreft &1 -
% (dy Conflicts start arising due (o (he differences W L
‘of opinion among members 1 a w Wy
el & @9 Aavg & HHw T IS R (@c e a b d
Einih{ hd a b e ¢
(¢) Members are moderately eager, have (c) a d b . ¢
posilive expectations, anxious about why they dd . £ _ A _ c b _
are therc, and who other members are Ans. (¢) : TEHITA FAREH F OGS0 F1 w4
wew § amr g s TR UL | |[gfan s #n-
Zrt & afft & arow w=d & 9t ¥4 & @ afw & W g S
TOY T & A Sy W IgE e € l
Choose the correct answer from the options e & P
given below @ 1
o . .
#rer fau 7w frewedt O @ W I = waA Crrrt @ frrd & P —
H-ﬂ'ﬁﬂq: J,
i@ v i -
@e d a b ¢ faffde ot yafaa & wEwsa 5 59 @
d e ¢ a b ) 4
e d a e b T sfufran & e & wiem &
(d d b a d < 83, Arrange the following stages of consumer

decision making process in a sequential order
with regard to a young person Divyn :

T W IUATH foear & Pria-ufera & W &
AU T WA B

(A) looks for a specific colour and showroom
delivery ay she does not wani to wait.

T fave o1 wd view ¥ godht wed &
FiTe ag uiaan T8 =T T

(B) narrows down to a dark car of a specific
brand.

TR ERT U Y H U g wie w g §)
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(C) belongs to an executive group and all her
colleagues have their own vehicles

TEUE WOE W oam §oafm Imes w
wEaifiEl & | 3w

(D) uses media and other social channels to
collect information about different models.
Hifean U 270 WvTE S & I9EnT &
fafirar migel @ dafim STl 908 & &
(E) feels that fuel efficiency should be the most
critical factor while making a choice,

forst 3 weg €t o Al & gAra W dum- g
HEH WEAYU & BT wIEU

Choose the correct answer from the options
given below :

Hrer fou o fawedt o ¥ Wl I @ wwA
AT ¢

(a)a ¢ b d e
(b)e e d a b
(e a d e b
de ¢ a d b

Ans. (b) : IR =0 & fvig sfwar & Fag -
ST TR § An € 3R 3us o v F o
A IR A
l
< fil 3 e < f Tl & gAe H $ae-gma @y
WYY FEH o 9T
%

Wz @ 3= T e & 3990 & G wEdr
T wafa| IHER 798 &= ¢
d
uw fovm o1 wd wiew & qrdft awd @ wiE 9w e
T FX A 21
d
TR YH 1 F SN S {9y #ve F A ¢
Arrange the following stapes of formation of
companies in a proper sequence :
SHUldi @t &0 W @ fretAiEd =l @i
ECrdCar
(a) Promotion stage/Aad= =
(b) Raising of share capital stage/3ior d3ft &
forto &1 =
(c) Incorporation stage/fSma= =rwor
(d) Commencement stage/STiTTeR =0T
(¢) Selection of name/ATH &l =AA

Choose the correct answer from the options
given below :

et Ty o famed § # Wl I @ waA
it :

84,

i ii iii iv v
(a) ¢ a e d b
(b) b e a c d
(c) a e c b d
(d) d a b c e

Ans. (c) : T i & wmrg -

Haga WO — AW & T — fmm e — i)
& fonfa & = — wwfoges 9w

85.

Sequence the sieps for computing gross annual
value of income from house property :

T Wi ® AT F W ate qed @
TATUTAT & SV Tl ThAEg SITAT:

(a) Find out the rent actually reccived or
receivable after excluding unrealized Rent
hefore deducting loss due to vacancy.

arEa W e gIn fEran o v urelt w6
AV IOH @ W e & gd U e
fTt T Wert % U yita A R @
AT AT

(b) Find out the less because of vacancy

TET W 16 o ShIT0T g3 EI ST 9ar S
(¢) Find out the reasonable expected rent of the
property.

woty & wgfue gl feran @ uar @mar
(d) Find out which one is the higher amount
computed in (C) or (A).

(C) 3f (A) a7 famd ot arfirs ofdr =t o
@1 M |, T UAT T

(e) (D) - (B) is gross annual value

(D) — (B) ¥&he1 ATt 9ed &1

Choose the correct from the options given

below :

Hrer o T, farnedt § & WR IO @ AT WS
i ii iii iv v

(a) c a d b e

(b) a d c b e

(c) d a c b e

(d) a b C d e

Ans. (1) : T8 W9 ¥ OFA AT g @ 0 S
FHAG T-
Tt & T S SR F u ae E
!
ara § WE g fEE @ vEE gl T F Fn
A @ & wEE & gl 1 e faRE @ wem &
wgm Wit 49 7S &1 9 S
i)
(C) 3 (A) a1 Foradt o axfers uftr & o &t d 2,
& Al S,
4
W @I T F a0 g wf @ v
l
(D)(B) TFaA TfF T &
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86. Given below are two statements ¢

et St wew few

Statement 1 : Deferred Tax Liabilities (Net) is
the amount of tax on the temporary difference
between the accounting income and taxable

income. It arises when the accounting income is
more than the taxable income.

HYA | : A W Fag (Frae ) s e
afr @ ama & e armmdt afET W o
ufYr {1 W@ F@ A wEnT B st
Bl ¥, 7 I e €

Statement I1 : Deferred Tax Liabilities (Net)

and Deferred Tax Assets (Net) are only hook |,

entries i. e. they are neither actual lmhllnw nar

actual asset.
FAT 11 : AR @ %:uﬂ'rﬁf (ﬁmﬂ) :n’h
mﬁﬁﬁmﬁiﬁ(ﬁaﬁ) T wiafeat
mtmﬁaweﬂ'aﬂaﬁmmtm:ﬁ
In the light, nf Ihe Wbove statements, choose the
,___cnrrecunm €r from the options given helow :
“weq &% enw #, det R g
':"_;ﬁmﬁﬁﬁmﬂmmmmwml
(a) Both Statement | and Statement II are
true /&4 | 31 [| 241 8 &)
(b) Both siatement I and statement
false/®2A | 3T 11 3T T €1
(c) Statement | is true but Statement 1l is
false/®4 | 7 ©, WA F94 11 e 21
(d) Stotement [ is false but Statement 1 is
true/&aA | T &, WA &A1 98 &)
Ans, (a) : FaF-1 A 7 Zgan (Faq) @ 3
W W Ay WY & Fe e s W ot 2 wE
W 3 3 ArE 3 § fas 6 #, 98 390 an
¥ a1 T 8
Tl >3 FX ggad (fad) 3t amaimm &
Tt (Fae) e sfafedl o= €, sl @ 5 @
TrAfaE @gal ¥, 3R A A1 aaas gy 3 SE-11
¢ 2 & w0 §
87.

11 are

Given below are two statements @
Hrer € wu= fag o £

Statement [ : Modified Internal rate of return
is based on reinvestment assumption.

HaT I : aftes wiwer &1 =
QATEYT AR U7 3T gt &

Statement Il : Value - additivity principle is not
applicable in NPV

w2 11 ; Y wafdar g o f o ot ang
& ' g

In the light of the above statements, choose the
most appropriate answer from the options
given below :

|3 -1 TEA |

IATH FIT & IWEE #, Y faw . frawedt

W # HaH IUGTh I H qGT FHIA)

(a) Both Swatement | and Statement 1
correcU/FEA | 3 11 &1 w1 71 %

(b) Both Statement | and Smmmcnt Tt are
incormrec/E4 | E-fh LG T 'n'l

() Statement I is commet bl “Slatement 11 is
incorrect/FAFATE .. AfFT FoF 117 )

(d) Sl.ncmu.nl 158 lﬂmrru.l bul Statement 11 is
comecy @A | Wert §, TaA wa 11T )

Aus. (&) ¢ mimnfuﬁamﬁ'ﬁwﬁma?r?tgﬂﬁam
mmrrqramﬂﬂm?lm FAT-| T B
For-1| e Fam fagih ol w e A d

arc

88. Given below are two statements ;

et 31 wa= faw o #)
Statement | : Delegation is an interpersonal
transactions based on hehaviour analysis.

1 : WA waEr favewur Ut awenfia
FAdathe Geaag £
Statement II : Delegation is an evolutionary
and development process which needs
encouragement and reinforcement.
wHa : UANW TR wAfawms it

fawmawe whear § faed Wi of
YFdEA W Savahar g

In the light of the above statements, choose the
most appropriate answer from the options
gi\ en below :

ITIH Ha & Ao W, I faw o fawer
# ® wad g IN E oA S
(a) Both Statement | and Statement
correct/FE [ 3T 11 31 75 21
{(b) Both Statement | and Statement
incorrect/FLA [ 3T 11 21 o |
{c) Statement | is correct but Statement Il is
incorrect/FaA [ W8l &, WidT T |1 T )
(d) Statement I is incorrect but Statement U is
vorrect/EA | &4 'ﬁ, e 44 1] el %I
Ans. (d) : TRV UF FHEGEEE 3R s K6
@ ol WieE o (e 31 v A &1 st
VRIS SR e Woafa srdat Teagn
6 & 81 am: fawe () T
89.

Il are

Il are

Given below are two statements :
e St wmaw fg o E)

Statement | : Only low priced products will sell
in rural india.

FaA | : Faw Fra-ae & s andftor aren
o farsh
Statement Il
homogenous lot

Rural consumers dare a
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T 11 : AT ITHITHT U AEI-WHE B

In the light of the above statements, choose the

most appropriate answer from the options

given below :

INNTH AT & e §, e fyu m Rremedt

¥ A gad IugTh I E AT A

(a) Both Statement [ and Statement 11 are correct
/R 1 3R 11 EH T4 R

(b) Both Statement 1 and Statement 1 are
incorrect /HUH | 3 11 EE1 T 2

(¢) Statement | is correct but Statement Il is
incorrect /@ | T &, il a1 e £

(d) Statement I is incorrect bul Statement 11 is
correct /R4 | TR &, AiE F2A 11 T B

e

Ans. (b) : W ¥ 3@ 70 2F1 ¥4, FEd AR &
IR wnfior AR # fE sEr anfor 3T U
guifl-wg €d 2, a1 Ted g1 ¥ e (b) I

90.

Given below are two slatements : one is
Inbelled as Assertion A and the other is labelled
as Reason R.

#rer & wow R mw € uwm sifuewn
{Assertion A) & &0 ¥ fafgw & &t oo @&
THIUT (Reason R) & ®0 W:

Assertion A : ITR- 1 can be an individual
whose total income does not exceed Rs. 1
Crore.

afirmas A : o & 3R 1w IUEh O wfw
B fmar = waar § et T e 1 e
a0 W 3tftrew g

Reason R : ITR- 1 cannot be used by an
individual who is director in a company

AT R : 3ME F 3T 1 @ IUA U st ga
€I Terar 9T Wkl § T Ueh huAT § TH29Ta £
In the light of the above statements, choose the

most appropriate answer from the oplions
given, below

INWNTh HUF & A |, S faw o et

T ¥ A" IUGh 3T @ G AT

(a) Both A and R are correct and R is the correci
explanation of A/A #R R gHI e ? 3 R,
A 31 W =men 21

(b) Both A and R are correct But R 1s NOT the
correct explanation of A/A 3R R & wE 2
3R R, A F WE =E T 2

(c) A is correct but R is not correct/A F#l ¢ cifaa
R W& T

(d) A is not correct but R is correc/A F&l =@ 2
T R T 2

Ans. (d) : #FT A o ITR-1 T 3997 ©9 =bw 70
frar =1 w6 2, e 3 | e wva 4 i 2
¥ @O A T 21

FUT R — [TR-1 &7 394 UH AR 30 A8 &1 =1
EAl 2, & U T i FReE 2, 3 R 68 2

Passage
forefafiga TrRIToT & 3TUT UT W99 & IS -

In 2019, India's ten largest trading partners
were USA, China, UAE, Saudi Arabia, Ilong
Kong, Iraq, Singapore, Germany, South Korea
and Switzerland. In 2018 - 19, the Foreign
Direet Investment (FDI) in India was $564.4
billion with service sector, computer and
telecom industry remains leading sectors for
FDI inflows. India has (ree trade apreements
with several nations, including ASEAN,
SAFTA, Mercosur, South Korea, Japan and
few other which are in cffect or under
negotialing stage. The service sector makes up
55.6% of GDP and remains the fastest growing
sector, while the industrial sector and the
agricultural sector employs a majority of the
labor force. The Bombay Stock Exchange and
National Stock Exchange are one of the
World's largest stock exchanges by market
capitalization. India is the world's sixth-largest
manufacturer, representing 3% of global
manufacturing output and employs over 57
million people. Nearly 66% of India's
population is rural whose primary source of
livelihood is agriculture and contributes less
than 50% of India's GDT. It has the world's
fifth-largest foreign-exchanpge reserves worth
Rs. 38,832.21 billion (US $540 billion). India
has a high national debt with 68% of GDP,
while its fiseal deficit remained at 3.4% of
GDP. However, as per 2019 CAG report, the
actual fiscal deficit is 5.85% of GDP. India's
government-owned banks faced mounting bad
debt,  resulting  in low  credit  growth;
simultancously the NBFC sector has been
engulfed in a liquidity crisis. India faces high
unemployment, rising income inequality and
major slump in aggregale demand.

ad 2019 §, WRA ©h TH Wad a3 TR ATHET
& quwe, <=, quE, v wg, g, 3,
2018-19 ¥ wrw # freeft weaar e (uw &
AE) 644 fafmam =few ar o dar &=,
T 3 AR 3T Uw T AT3 oy
& yq@ &9 a4 §U & Qs Wi, meigy,
hyror wiftar 3w T s 29 & Wiy uRe W
eh A Hitr § 3f 3o i =y 39 & Wi
ug A & Jar &3 @ SEdy 0 55.6%
M § 3 7% Waw @i | Ggar g3 4 g,
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wafs ofeifis &7 off Ffy 8 o s
oW TA I T I ¢ aTan gafreRtur @i
I ¥ TR =wiE wrEw it e =i
TGRS AT & HEy 78 Bis e § °
&1 v ghvan & v waw T fafmiar § 5
Afger fatmin fnfe & 3% &1 S T §
afrr 57 faferas @it @1 T YR AT E
WA T AIEET W OO (6% T §
fireas Sfifamiarsts =1 wrafirs & @wfa g ok
W OF & WA S AEd § 5% armer §
W U fay @ vt waw ag fayft o
vz ¥ fawar wow 38,832.21 fafeas woa

( S4ofaferas smfiat 2fem) &1 wna =t 9 &

Tl Wit arftes & W Sl @6 68% %,
mmﬁd’mmﬁﬁ?ﬁﬁaﬂM%wml
afe, 2019 @ el R & sEw,
mﬁmmmﬁﬁw:sq% R RG]
¥ TrenTt ol o SITeNIERTI T agAT I T &
forrdr W gfig # Wl and §; 3 wa-wg
_TEr ) WET aE Hehe # IEE gan g
\ITA_Fed aiTeTl, 3T@ Wi addl STEATET
"aﬁfuarrnmﬁwr&mﬁa&ﬂﬁmw
HIHAT & T 81

On the basis of the above
answers to question

frafafiEs T & TN WYy R IATE ¢

India has significant trading partners from
which of the following regions :

frafafes # & fAW &% ¥ Wna & wEeg
=mIftes Wigher §7

(a) Eurupc."q"ﬁ'ﬂ

(b) Amecrica/3TaftaT

(c) Asia/afymar

(d) Africa/3T9RTRT

Choose the correct answer from the options
given below :

Hrr feu U faeedi @ W W I W owEA

i : _

(a) (a), (b), () only/Fa (a), (b), (c)

(b) (b), (c). (d) only/Fa (b), (c), (d)

(c) (a), (b). (d) only/ & (a), (b), (d)

(d) (a) and (d) only/HTe (a) ¥R (b)
Ans. () : 39T T & YN 91 JUU, IR 3
uferan wmA & vy @i e E

passage, given

91.

(c) Primary Sector/yTafirs &=
(d) Fisheries and Animal Husbandry/™ e
FTiT 3T Uy e

Choose the correct answer from thl.' uptinns
gntn below :

Ein faq Ty fawedt # 11 ufr ‘a'r“ﬂ B =aq
(a) (u} u.nd (b) onlysaer (o)1t )
(b) (b)and (gF anl;,rfqm (b) #TT (¢)
(¢) (6 () pnly/Ter (¢) 3T (d)
(&) Ya) an () only/FEH (a) 3T (d)
Ans.\ (a].zqﬁmmmmmmaﬁtﬁﬁm—
o @ s e FEw s 4
Which among the following statements is the
correct ane? (Choose the most appropriate
one)?
ﬁr:iﬁaﬁya wHuE ¥ ¥ A wd §? (waifus
I o)
(a) India has a heller_ trade _relations with
E:urupu.an counlrie TIM & W T &
FAFT AR WY F
(b) MSE is the largest stock exchange in the
world™ TH 3 I T e T WiE
T £
(c) Indian primary scctor is contributing less as
compared to other sectors/5 = HF qor
i W & WAl A &N AEE & 8
{d) India attracts highest FDI from USA/MRA &l
QUAw § wEifw ULy g
Ans. (¢) : ST TN & MO W 3fEElEA FA 7 53

gmaﬁgamqm?ﬂmﬁirmwwm
|

93.

94. The comptroller and Auditor General has
reported a different estimate than of
ernments, in terms of :
%@Tm&mﬁ T formds died o W @ arem
IgE= = a2
(a) GDP/SfiEld

(b) Fiscal Deficit/ UM a2l

(¢) FDINEARE

(d) Liguidity of private banks/faft d=i 21 e
Ans. (b) : IV® TV % YR W F@ TEOhE A

TENE R F el § mER ¥ 3em 3EH AW
feram 21

95.  Which of the following has not been articulated

92.  Which of the following scctors have significant in the passage? .

Foreign Direct Investment (FDI) in India? e § 7 2 & vew i ¥ st @ 87

Frerferfign o ® e 8 o ww # yeaw fagf (i) GDP Growth/GDP faama

e (uwdiong ) arfues §7 (il) Currency flows/TET & Faw®

(a) Service Sector/daT 8 i) Liquidity/atean

(b) Secondary Sector/fEdas &= (iv) Demographics/S=aiaTa
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Choose the correct answer from the options
given below :

Frer ey my Rreeewt § W WE IWC @ W@
E-ﬁﬂ‘l‘l{: wad ERE ST
(a) (a) and (b) only!ﬁi?-'l‘t‘.‘t‘ {a) 3t (b)
(b) (b) and (c) only/Fae (b) 3T (c)
(c) (b) only/&=e (b)
(d) (c)and (d) only/&ad (c) 3R (d)
Ans. (c) : ITF T gF F ¥R 92F AR A4

B

Read the following passage carefully and answer the
question from 96 to 100:

TFrafaftad Teier & 3R U7 99T 96-100 & 39T o

XYZ Ltd. [furnished you with the following
information:
XYZfa. 3 et fafeafea ge=r yer= @
Budget/@sE | Actual (in a
particular
month)
artas (=
g fagma o)
No. of working days
- . 2
F feawi 2 @em - 2
Production (in units)
Fatvge 2
T (T ) 20,000 22,000
Fixed overhead (in
Rupees)
srafea] gafcemm (s | 30.000 31,000
)

Budgeted overhead rate is Rs. 1 per unit. In a
particular month the actual hours worked were
31,500

aWE @ TS uitad] SuitemTa 1 wuar wh gihe
uw W fave # anafas wd "2 3 de 31500
ot

96. What is the total overhead variance in the
given month experienced by the XYZ Ltd?
XYZ fa. o yew wg ¥ @ Iufteme afew
o &2
(a) Rs. 4,000 (Favourable)'d,000 ¥97 (3F]F4)
(b) Rs. 2,000 (Adverse)’2000 ¥74 (¥fage)
(c) Rs. 1,000 (Adverse)/1 000 =74 (Sfighe)
(d) Rs. 2,000 (Favourable)/2,000 97 (SfiHd)
Ans. (d) : Total overhead variance— Aclual outpulx
standard Rate — Actual overhead
= 22000 = 1.5 - 31000
= 33000 - 31000
= Y2000 (Favourable)
30000

=1.5
20000

Standard Rate =

97. What is the expenditure variance of XYZ Litd

as on given month?
Wa UTE ¥ XYZ . &1 =g 3y faaan §7
(a) Rs. 1,000 (Adverse)/1,000 7Y (sfage)
(b) Rs. 1,500 (Adverse)/1,500 ¥4 (Sfide)
(¢) Rs, 2,000 (Favourable)?2,000 wqg (3 Fe)
(d) Rs. 1,500 (Favourable)1,500 99 (37F)
Ans. (a) : Expenditure overhead variance = Budgeted
Fixed overheads— Aclual overheads
= 30000 - 31000 = T1000 (Adverse)
98.

From given information in the passage, what is
the volume variance of XY Z Itd in given month?

TR # WEW GEAT & AN YEW 0E § XYZ
. @ uftamor afat faemm £7
(a) Rs. 3,000 (Favourable)/3,000 &4 (3 F)
(b) Rs. 2,000 (Adverse)/2000 ¥4 (Sfige)
(c) Rs. 1,500 (Favourable)/1,500 9d (37E)
(d) Rs. 1,500 (Adverse)/1,500 93 (Sfige)
Ans. (a) : Volume variance = Actual output x Standard
Rate — Budgeted fixed overheads
= 22000 = 1.5 -30000
= 33000 - 30000 = T3000 (Favourable)

99. Find the capacity variance for the month from
the information given in the passage.

iy # yEw gun ®# I Aw & feg g
37T T AT T

(a) Rs. 1,000 (Favourable)/1,000 94 (31F)
(b) Rs. 900 (Adverse)/900 a7 (Nfiger)

(¢) Rs. 1,500 (Favourable)/1,500 ¥ (371%)
(d) Rs. 1,000 (Adverse)/I 000 T (Sfger)

Ans, (¢) : Capacity variance = Standard Rate (Revised
Budgeted units — Budgeled unils)

=1 (33000 - 31500)

=1= 1500

=3 1500 (Favourable)

100. Given the information in the passage, what is
the calendar variance for the month?

iy ® yeN GEAT & AJEN I WE & g
Hhetet st famn £7

(a) Rs. 2,000 (Favourable)/2,000 &4 ()
(b) Rs. 3,000 (Adverse)’3,000 94 (Sfige)

(¢) Rs. 2,4000 (Favourable)2,400 =7 ( 37Fe)
(d) Rs. 1,000 (Adverse)/1,000 =94 (Sfage)

Ans. (¢) : Calendar variance = Change in Number of]
units by change in actual and Standard Number of days
x standard Rate

Increase units in 2 days

20000 .
x 2 = 1600units

Calendar variance = 1600 = 1.5
= ¥2400 (Favourable)
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gt T e wien feaman-2020/97-2021

STt
IEGIER P RE ]

TergeteuT wiga =meEn
[wfrarr ferfr - 25.11.2021, Shifi-11

1. FDIin Indian manufacturing has largely been | 3. Which of the following countries/territories is

e & fymior sgim O weanr faeyht frawr not a member of the WTO?

(FDI) tfrerer et & frefafaa & & @=-T1 So/8m fag amr

(a) Resource seeking /F8NH & ar&d HIET (WTO) &1 Heer =g 872

(b) Liliciency swkingm'qm F ard {a) China /4

(¢) Market seeking /AR & = (b) Russia /&8

(d) Export - criented /Fafa-1a (c) Iran /3TA

Ans. (c) : Yot f5esf FEw @ @ 2 93 I8 S
el qat % § fel oawfas e G v @
Frior & @1 FDIF T, faaeh sofel 69 gm 2w
i fea-sfifaw & @l o wita 2 &1 3o Tem 9 @
|6 o 7 Faa IS 9 §@ o @ 8, afew 39, §vE
R T ff & @ &1 FDIWRA F o4 faaw & favw
UF TEEy i HE @1 1991 & U2 F 9 A §
wifde Ferdiw &t yEwm g o T § 2w § FDI A
amAR gfE 71 WA 3§ A ZEn fasew moui
100 @ @ fewm 2 3R dedfes FDI 360 & faw =
WA 1 981 WRT F fmin 3Em s faaeh fam
(FD1) TR & a7 31E® @1 2

2.

Occasional sale of a commodity at a lower price
abroad in order to unload and unforeseen and
temporary surplus of the commadity without
reducing domestic prices is called:

Wy F @ w0 ey fe et T &
ety o sreamdt anfiuem @1 W W w0
@& forg fagwl o oW Fiwe W 95 & JETer
(a) Persistent dumping /8 TFARA

(b) Predatory dumping /el aferaims

(c) Exporl subsidies [t <

(d) Sporadic dumping /@araf-a TFIMEA
Ans. (d) ; 207 fa=en § 9= a9 3 =EEEs g 2
fSrand ool 3794 91 1 W9 TG AU F Yo 9 &9 S
W fagwi # a9 21 g sl F1 e W vEivER
TS A9 AW & e @ feu R s @) g
FA 30 3@l &1 (A w9 § i @ WA
T & R vm wwEias @ sl 92 @ wEAl 2
o B W O A A A & e s
T ITaEg &1 9N FH 0 § (@ faevl § S5 e
R aw] & Rl s & i I &@d 8

(d) Taiwan /AEaH

Ans. (c) : [79 PR & e 1995 | g m
UE ARG WA 2, W Ui & A dfws emn fambi
F @ T 21 3ud fade faw gg & wAwm 9l
T GATT W 1947 & WA AN &1 @ &L Zar an
™ 2021 7 faw =R TEA 7§ 164 wEE IW A
NG TR @A & uRE B, W g 2016 A
it g3 9 Pead S (fazsmeme) § 21
I fomey o 3 faw oR WA @ gEe 9 2

4.

Which of the following entity has recently been

negotinted to replace NAFTA with effect from
July 2020?

B W Witamat & AFUT TEm 2020 | e
(NAFTA) &1 T @I om?
(a) Quad group of countries /&Y @ e (Quad)
W
(b) USMCAA T TR H.T
(c) Shanghai cooperation organisation /79§
TEEm T3
(d) Trans Atlantic organisation /9U-37Ewifca
iza
Ans. (b) : TW IWTF O AT TIFA (NAFTA) I
it § vw frodfm =m = fs o @ o W
TGS | FEd 1994 W T g3 S Fgm Ue-
Ul EAEl g (USMCA) 30 | J@% 2020 H
sfeenfr &2 T USMCA #=en, #fdma sk T
U & 9 UF O SR AugE f1 A Weg i
TR Al o @ee § omER @ 8 s Il

s sderan & fawr & 21
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5. Amalgamation adjustment account is used for
recording:

WO TUMETaT @ & ga frefaies &

afaerea & foag g &:

(a) Capital Reserve in the books of the transferee
company/g&dif @91 &1 @ J & fod

{b) General Reserve in the books of the transferee
company [EWIGAA &9 @ Tel H AERE
f=d

(c) Statutory Reserve in the books of the
transferee company /Eeiafcl daAl @ w4 6
duis fod

(d) Revenue Reserve in the book of the transferee [\

company /EEIARA O 1 A Wﬁm

Ans. (o) :
“wOed & fau aar numm@ﬁa#mmﬁ'

qEaTaFAl 2l 2, mwaﬁmﬁﬁamﬁ$mn
mz@rﬁmmmﬁmmmﬁ ferrer =
iy, faprR-gz wmim, frfm am osmfm o i
mﬁ?ﬁm#’rgmﬁﬂ TR T FAEE @ F
Debit 36 3 Aufrd 3RFA @9 & 90 3 Ha
A 21 WA AT Rad @ S & 59 0 sy
7 E

6.

The accounting standard AS3 (Revised) has
become mandatory w.e. accounting periods
beginning from 01-04-2001 for which of the
following enterprise

frefefgs & ¥ o Iadl & g 01-4-

2001 ® yrw g arell cigieT srafrat &

fera AS3 ( wftynfir ) wgie wwe aifard g

T §?

(a) Commercial, industrial and business reporting
enterprises whose turnover for the accounting
period exceeds 50 crores. /AT, ST
3R =ZEu e 96 3 e FREn
i vy & fom 2 50 SE 9 afuw =
af

(b) Enterprises whose debt or equily securities
are not listed on a recognised stock exchange
A T B w A seEd sl
-1 20 T W HES T

(c) All enterprises whose turnover exceeds ¥ 2
crores. /ANft W fie FAER T 2 =02 9
afis =1 8

(d) only banking and insurance /Faa affm 3
Ciui|

Ans. (1) : 1997 H Fuifaa AS-3 7 Felt s ard=fe

& 1 glag FwhE i aF shdfts, afnfes si

HEATas I0HA & fA0 deilud %54 yar faam 3

WWHGEH?_[HRIC#IKITFW

famftn 3 @1 754 R fqam #1 @@ aw ¥ d9r R
ST iR o uitare, Fayr 3 R niafaii & fog
Homl A Y & G0A A9 vaE 91 ROE @ o1 FF)
aiftfeas, siofs 3R smaam ROE T, 9@t (3w
o sHER daEs IEm F faw 50 mﬁaﬁﬁ*
F @ A 1 A 2001 F I FAGTE A A
?WA%](W&H)W._:WQW & T 8|

1. CCA  method of inflatios’ accounting is as a
result plthe ﬂ‘mmm:-ndntlnn of ?

Ty erate @ W W g R R
mﬁrwwﬁmw &7
____(,;} Wandilands Committee /aicias wfef
(by Tandlelands Commiliee ZEEHAEH HH
(¢} Sandilands Committee /82idgT wffa
(d) Marrylands Committee /A0d=s |iEfd
Ans. (c) : 721 TFifd @@ § CCA T8fd (Current Cost
Accouting) 3 a1 @ o | oftwefaE 1 39S
e TR Te9 F IR W Tee & 8, A 5 tfrefas
T & AER W WE IEe wata @didl T A CCA ®
e, M F T -AEE aEH F A e W
fFm 1 = Femem ol & @l w1 ofom #wm
FHA F 3o o wiftw Sfeviem 4
8. I'he net profits of partnership business, afler
providing for income tax for the last five years
were: 20,000; <1,00,000; <1,20,000; T 1,25,000
and T 2,000, The capital employed in the
business is T 10,00,000 and the normal rate of
return is 10% the value of goodwill on the basis
of the annuity method; taking the present value
of the annuity of Re, 1 for 5 years at 10% is
3.7907 (approx): mll be
AT & YEE o o ag TeRdl wiErer
wIaaE & g @9 o uia ol § wwen: §
80,000%. 10,00,000 . 1,20,000,
%1,25,000 2T % 2,00,000 & =EEE |
wmms w4t %.10,00,000 & ot whvee &
[T X 10% &1 92 10% O 5 a9l & fAT .
1 afiat @ adme 7 3.7907 (Fwm) §,
=t arftfent faftr & smaw W @y @@ ged g
(a) T 2,500 (approx)/®. 2,500 (FM9)
(b) T 79.225(approx)! . 79,225 (FM7)
(c) T 94,770(approx)/ ¥. 94,770 (TTTH)

(dy ¥ 2,25,000 (approx) /%. 2,25,000 (T7T4T)
Ans. (¢) : Normal Profit = Capital Employed x
Normal Rale ol return
100
10

= 1000000 x— = 100000 T
100

Super Profit = Avg. Profit - Normal Profit
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= 125000 — 100000
=25000%

Goodwill = Super Profit x Annuity Rate
= 25000 x 3.7907

=94767.5 = (94770 Approx.)

The cross clasticity of demand between the
complementary products is:

YT & drer Wit @t wher
(a) Positive /S-THE (b) Zero/IA
(d) Infinite /371

(c) Negative /ARUTHSR

12 When demand is slack and market is

competitive, firms follow which of the following

pricing mcthods?

W& w9 @ i amn wfremdt g, 9t wl

Frefafan § ¥ fre weaw fafer o wem @ §2

(a) Penetration pricing /ATT-3a7 Jeamuiwo

(b) Peak load pricing /7 3mafEd qeg-ffor
(e wire wfi)

(¢) Marginal cost pricing /T @ qeafrafon

(d) Skimming pricing /Fa Yeafaio

Ans. (c) : T &3 & (G- & WY AF0D (HiH)
HE 2§ | QO awql d 3G 8 WA UE WY Igdm
fErar ST €1 39 WAeE ¢ % UH WmE & uE-gem &
| ware § I9gm fon o @, e 39 9o | giz
el 1 3EH W @ EW e A g el

10.

Income effect of n price rise is greater than its
substitution effect in case of.

frofaftas § & faw & dadt § oo ghig @

Ay wat waTa 3@ yiaraas yarE § it

g &7

(a) Inl'criorgoods/'ﬁﬁ'rlaﬁfi

(b) Giffen gondsrﬁlﬁﬂ'aﬂq

(c) Status symbol goods

wfeafa i i

(d) Pcrishublcguudsﬂ?gﬁf ﬁﬂ'ﬂaﬁq
Ans, (b) : T Feqd @w #1ma art 3. €, e min
HUA & WY a7l 21 4 I G & HEIERA &l
0 & F o 3avas 8, 3R 396 oW 39 6 e
aggE & faen win & difes FEw w0 S F )
fiea ol & 79 afe &1 99 ol g9 599
s wrE @ AU w8
11.

If the scale parameter (r) is greater than one (r
>1) the CES production function exihibits:

Ans. (c) : =1 @A ed fAuRo-idm @ e
fraftor o= e fufoor woreifs €, fomss e sammt &
argl 3R Taei F fau S & fufo @ s
a2, 9 IrgeA @ Wi are @ ol & w9 A
S 2 R, uF g e e @
feh f2a gu aees 37 uF afefis 590 & 3me 9 92
@d 1 sfaffue 30 favm qeg fufor ITEn & g,
el ot s & @fdm & an § fRar W wEa 21 98
Iy 3l 37 feafedi & fam amer @ fuffa a0 §
it @ & fom gfism & fau smomee 8 &,
IR & o st g il @ o a2

13.  What is the value of levered firm “L" if it has
the same EBIT as an unlevered firm “U™, (with
value of T 700 Iac), has a debt of T 200 lae, tax
rale is 35% under MM approach?

ferdt Iwitfera Wl “L" &1 e @@r g afe
39 wrw ¢ ot arrd # foredi srwifera W «u,
(700 TN ®IE Yo aTE ) S A B 99T S0
U 200 W@ & KU UG UH UW WA H
AT 35% i ST RI?

(a) T 950 lac/950 TG ¥99

(b) T 630 lac /630 W@ F74

(¢) T 770 lac /770 ©@ TY4

(d) T 525 lac /525 @RI ¥4

afe waHt o (r) O (r > 1) ¥ arfires §, 9| |Ans. (c) : The value of levered firm ‘L’ is T 770 Lac.
g U IS yETd wAv gy €7 Vi=Va+iy
(2) Decreasing returns to scale where, V1 = Value of the levered firm
T T ZE S Vn = Value of unlevered firm
(b) Constant returns to scale t =_Rale of corporale tax
W - VD ~¢muul ol Debl.
. = n*tlil
(c) Negative returns lo scale ! =700 + 200 (0.35)
AT T O F =700+70
(d) Increasing returns to scale =770 lac.
9T S % gX 3 el 14. is n percentage discount rate used
Ans. (d) : HEUH IR Fod UH AGEE I in capital investment appraisals which brings
w8, W A # P da e s @ g the cost of a project and its future cash infllows
vl § aeAEl SiaeeE @ e o d wiavm gitads into equality. . )
& FAT TG A 0 FE (I 99 A G 3 & ?H'Q_“\'_E@Tm% mmﬁ‘ﬁﬁ 1:"'&77
7 foret favm Ofad d &) 2R e S () O (0 et # fehan s & fch sieria aftareT
> 1) Y s 8, 7 D s v et W T 3 gEes Wt ey staaTel @ g
WiARe ZwEm| % T TT FIET S
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(a) Accounting rate of return /e SR 2T

(b) Internal rate of return /2 XAwa =

(c) Profitability Index/eTTWam Taa®

(d) Net present value /@@ adum geg
Ans. (b) : 3 SfAwd =1 9@ = 2 forgw wam &
& Fraw qeaiaAl § e o 2, e semia ofgsen
A AR 5 wE {Fg sl @ g & WOW
T I &1 T8 G AW # Uh awAw B

IRR =

L — — [nitialinvestment
(1+r)

Where,
C = Cash flows in the period (1)
r= Discount rate
1= time period

The theory which r.xpltms thc clTecl of
devaluntion on hn!mcenftrhdn i€ known as:

ag g <t Ny gqee & gau 7 3|y
& TNTE H @ AT §, FEATAT 8
_ (@) Ptitlips Curve theory /ffem 1 3% fogi
C vy Muiidell- “Tobin I[:,Tlmhcm
-(c)quwclhcoryfﬁlﬂaiﬁmiﬁ
(d) K Curve Theory/® @% fagia
Ans. (c) : 7 % fGgr- 98 0 wfds fggm ¢ 71 f&
TR R F AR AR R YE @A # S
AU AR 2] % 4 HEEeA & 918 awd €, w6
frrafm & #imd o T @9 8 s T S 2
el 36F el U % wE § g, e i fag
® o9 ® FW 33N
16.

15.

The annual demand for an item is 3,200 units.
The unit cost is T 6 and inventory carrying
charges 25% pa. IT the cost of one
procurement is ¥ 150, determine number of
orders per vear.

ferdlt o =t e & 3200 318 &1 5@
@t @ 6 wud § 3fit wme gerE yaw 25%
wiwad &) afg ve wig & @ 150 99 §

At ardy @t wen fuifta st
(a) 3 (b) 4
(c) 6 (d) 8OO

Ans. (b) : Annual Demand (D)= 3200 umts
Ocst of One Order (S) =3 150
Cost Per Unit (o) =
Helding cost in % (1) = 25%
Holding cost in ¥= I=xC
25

=6x——=15
100

2x8xD
H

EOQ =

] x 32 '
= ’% =/640000 = 800 units

Annual Demand
EOQ
3200,
E{JO
If each value in a.giv en setof | dntn is divided by
4, how will Jt_;lf_fect Karl Pearson’s coefficient
of Skeéw m:w’
P wﬁﬁqmﬂmmw#m W W
¢ A%mﬂﬁmmt,ﬁwmﬁﬁuﬂwm
AT @ Sl gwTfa wem?

{a) It will reduce the value of co-¢lTicient 1o one
fourth/@® TN F A 1 UE-GAE F9 4K
am|

{(b) Tt will increase l]:.c \ialuc of Fu-cl"ﬁcicnt o
four times/@® U & WH & AR AT FGFT
ami

(c) It will not affect the co-elficient of Skewness
value /589 991 TTid F AW AFETaA @M

(d) Nothing can be said about the change [t
& @i i g2 o 78 @@ @ wE )

Ans. (c) : 9f2 AU W0 siiEET & wHeAA & Sod 0 3
4 F wm fem I @ @ GEA a1 e
e

No. of orders per year =

= 4 OrﬂEI' d

X =2
Karl Pearson’s coefficient of Skewness = ——
a

X =mean

Z = mode

o = Standard Deviation
s SR fa&d fafsw 9= €y wgey § wm G
FEW, & 98 WWE 8

18. A coin and pair of dice are tossed together, the
total numher of possible outcome for an

cxperiment is:
s foas @t oft o & W2 W uw Wy
IOTAT AT £, T wAm & whvrfaa oftomw @

el W fehReT §7
(a) 12 (b) 72
(c) 36 (d) 24

Ans. (b) : 517 U faa 3o @, g9 e gu-

=2

T & TE S T, @ g 99 ga-

=6"=36
W@ S WM UF 69 A €, i fe W g
=6*x2
=36x2
=72
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19.  Each of the values of a series is decreased by K.

Which of the following does not hold in the
context?

ferdlt 3@ & Yol W W § K @i wer faar

e €1 30 ded W fratataa 1 F S 16

(1

(a) The quartile deviation does not change.
ragde fagem 1 @i afada @ & 2

(b} The co-efTicient of quartile deviation remain
unchanged. Rlﬂ?féﬁ fawea & HRED i wE
uftar Tl & 2

(c) The lower and upper quartile values each

increase hy K./ 3R 3= ade ") HﬁFt’ i

i K i gfg & i 21
(d)} The quamlc coefTicient of, dﬁpnrsmn rises.
T i i & g Eesaed
Ans. (b) : uﬁﬁrﬁfm%mmnahmmﬁm
T, @ a e @\ WA o T8 a d
ﬂﬁmﬂﬁﬂﬁmam 5% W § aftadT g
Q.-9Q
: Ql
'For Binomial distribution with
n=30,q=0.7,the mecan and variance will be
equal to:

faug dex foamd n=30,q=07, %, & forg v
aftr feremror fapmes amaT B
(a) 21 and V63/ 21 3 J63

(b) 9 and V6,379 3T /6.3
(¢) 9 and 6.3 /9 3T 6.3
(d) 21 and 6.3/ 21 3T 6.3

C‘n—:eﬂ'mlcnt nf‘Quamln Deviation =

20.

Ans. (h) ; a9 duar (WHeve § el duar) A6d ¢
f% o 399 g 39 & oo @t fa oS TR A
wﬁﬂﬂmﬁlmwﬂﬁmﬁwmﬁ&wﬁﬁél
ot 7e foeh sr feafe # st o 3 o awdnft 2]
T Y A, TFETE | wEtA dea g9 dm g @
#rll &, Fm £ % Uw U nE Nfohm § werd g
%1 gum ITEM W ofEeR FErE BT T W § fE
afz @ wienw F2 fapieemaedl @1 wavia & 81 g%
mmaﬁﬁmﬁﬁmw*ﬁmmaﬁtma
T e e 70 & fan fFm )
221 Which' among the following is wnot a
~characteristics of transactional leaders?
frofafga O ¥ F=-w =ZmEgfts Jani 3
fargraar =i 82
(a) Gives personal attention, treats  each
employee individually, /=T == | '3‘,
W FHOM F WY AT S9ER 3 8
(b) Abdicates responsibilities, avoid making
decisions, /3TEIGEl H @M W &, ffg
FC G T3 81
(c) Intervens only when standards are nol
met/Af EEH AT €, F T & e A6
foran = 21
(d) Contracts cxclmngcs ol' rewards for efTorls.
fearEt & age gftms & W= S g

Ans. (a) : FEEINE 9 ofemi @ SR <A ) g
pinpie e ol B Co e i oo e S
T & G WA 8 A6 IW A F G 3 T0g
aﬁmﬁﬁfﬂmgﬂu THEE @ 9T 8| e-ad @l ard
T UF A | vafts aER i GrEd F g @
T & | AT Aai & favmar e § -

A () Vs =y . T
1207 (i) e 3iT fEew g
=0.30 (iii) @R
Hence, mean = np = 0.30 x 30 (iv) U Gifan amE & EvaE g
) =9 (v) QR ¥Ee
Variance =3;Pq - (vi) @@l St i 3w fawedi d fEew (a)
=30x030x0.7 AT = >
g 71 fergmn 4 1
=6.3
TR e T B s Q£ L e ok e
on the test (Predictors) are related to job known as: ' ’ ’ o
performance is: o N ~
AU T TH YEHN A q§ —¥eivia @ § fw mfﬁ?ﬁﬁgmﬁww
afterer & TR (qafqee) @ Praes o %“‘;‘E‘m' ;?‘mﬁ“‘ o o ERLL
T £, THET S g ' .
mlidi (a) Control stretch goals /fFa=ur [t =g
(a) Test validity /58wl ERL
(b) Criterion validity /= e (b) Cluster stretch goals /7@ farmita w7
(c) Content validity /frwa dumn (¢) Vertical strelch goals /Feafen fawifta e
(d) Construct validity ffd S (d) Horizontal stretch goals /éifia fawmfta wea
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Ans. (c) : fa@a @~7 U7 =3 2. &, o g 3
F A F vEE U FE HGE WO A A 8w &
WFR G U A 8 W FH T I URE enad A8
foan T 81 36 W@ & owd fuifa @@ @ fW & we
T IH AT &F F A w1 fam sman @ 3k I oW
IEE FX WS &1 qgl 05 & 32 a8 0 ua 8 8 ¢
ff @ =1 od &1 amiq U fafa o= s S &
arne Tfafafidi § OFed F Ieoat WU & TE S &)
gﬁﬁ‘ra?nﬂ1

Usually in  which one of the following
erI‘urm‘mce appraisal technique, subject self-
ratings are negatively correlated with their
subsequent performance in an assessmeni
center?

amre: Prefafaas 8§ & feg skt
edigA aa-ie 0 fandll geaie s o @l
& W YEdichT T IR Iviadl sty §
T fuen far wmar £2
(a) Appraisal by subordinates
qediaA
(b) 360- Degree feedback /360 feIf wizas
(c) Scll‘—ra1ingsﬂﬁ5:ﬁfﬂ
(d) Peer Appraisals /TTFET ER1 qeaie=
Ans. (c) : T qREA &% 0 @@ | 74 & =
qediTA a'léa'aa“l Fewadf @ P § TR frem
faar T 2 =i H, |- - U A #
WoTTelt, mﬁ?ﬁ s e F ot @ WE

JE:Cip e |

T
25.  Which one of the following statements is true
about the risk considered for capital

rcqmromonti under Basal I17

o -7 &9 1l & 3=
Fofrma smam-ﬁ & Toru ferenfta wifew &
e o wWer §7
(a) Credit risk, interest rate risk and fnrmg:n
exchange risk /9@ Ff@EH, == I AET AR
foeeht fafrma gz sifm
(b) Credit risk, market risk and operational risk
/AT Wi, A SfEn R e e

(¢) Credit nsk, political risk and country risk
/AR fEw, e HR gwr HAd

sifam

(d) Credit risk, interest rate risk and pultl:cal risk

/TG Wif@n, W et a3
Sfam
Ans. (b) : 759G B a3 & fafs & fau

mwaf%mﬁuhﬁﬁé-ﬁtﬁfwﬁﬁﬁﬁéﬁh
¥ F fov 5 vda:f o w0 e oeam F fao
UF 49 Y2 F 21 9T WA 1974 § 9 a9 &
WE F oo 9% & WA g @ 7 off) U 2004 F
BCBS z/m T8 I fgw-fdy wwfom 58 o o) s
I1 & e dofme stEvasasi & fau faafa sifam |
ara SifEm, TR SiEd 3t SaeT SiEn o g

26.  Which one of the following is not the character

tics of mutual funds?
Frefafed # & @E-H JIae HE & @&
Tergraen =t §72
(a) Consistent Investment process
(b) Strong fund management
CCACICRELC!
(c) Diversity in interest rates
=19 &0 | fafaua
(d) DifTerences rom the benchmark
e & firnd
Ans. (c) = %mmqmmmw@mﬁmmél
favel & T foee el & faw o s
st § fraw @3 €1 gy wve | 0 g A
o 2, 9 39 9§ @ fafm e e § fae 569 &
fau s Faw yeme Fve @ I & ¢ 98 U
A 9ed ael WE 2, g7 Y wEaRm, dand @
foamd anfe Tod wwifen 8, wafs == =0 § fafasar
T wffem 7 &t 2
27.

Which one of the following statement is false?

frafafas ¥ 3 =9 71 wgs T 87

(a) Capital market is a market for medium and
long term lunds.
TSht am Ty 3 dartas i 5 o
e

GDR is a negotiable instrument issued by a
US bank

WAL, um. §F 70 W e faw g
Many publiely listed companies in India

trades their shares through Bombay stock
exchange or national stock exchange,

A § 3F e 59 § gaEg &
i TS T 9 e 'S e §
AR § IR F AR T 8

Seccuritics that are listed on various stock
exchange arc eligible for being traded there
are called listed securities.

it sl o faft i fatd W e

§ fe 9@ =R few ST mEar 7, @

e slmjfaat e 9 2
Ans. (b) : GDR - 3¢ TdEa feuifaed wie #ed €1 59
wRiET el wie & =9 7 ff 5= 5 81 W@ A=
g = frr mar uw wor-wg €, W faev s %
¥R @fEd 2 ) @ § 5 & 81| GDR UF W
fam & fFg 59 US 9% T 78 ol fm s &1 us
i% 7 ADR 9l fan s @1 GDR & wifa, =,
&

(c)

(d)
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28.  Which anc of the following is not the services

provided under NBFCs?

frr=fefiga o ® @=-91 o ot uw o & ardia

yer @t 7 Far T 2

(a) Leasing services /731 ey Tard

(b) Implementing modernisation /A=
foraraem

(¢) Asset management services /Sl ¥ESA

wand
(d) Mutual benefit finance services bank /ATEIEH
v o e 9%
Ans. (b) : T, U4, mmmﬁmﬁmﬂ%— ,
(i) TE faw e Jl
(i) adTETE faw-umo p
(iiiy forn a@lg Fad e Yo
(iv) =mm fag A\
(v) uftamfa w3y Hemz
(vi) oifsimEEd

(vii) = #ﬁm*ﬂﬁfﬂa a=rrﬁ: éi

I faw ) ayfEew @ e @
qq‘ﬁr'r{tr'iﬁamaﬁfamﬁél

29.

"Which of the following can be categorised ns
information processing services?

3 o Rl @ geer-wkeas (dwhiv

WAt widdw ) o arffga forar s gawar §7?

(a) Legal services /FF1 Tamd

(b) Health care /Fare Fad] Zm@-are

(¢) Education /fmn

(d) Management consultancy TR Qe
Ans, (a) : FIETH:&-H Mmd-i—‘él_rﬂu-ﬂ Nehaw T TE|
ﬁumﬁrmﬁﬁm@ﬁmmmaﬂhmﬁlw
WHRERU HaTH & IR W oaml, A R qued
s &1 37 49t 4, T & fv Iy I ' F AR
TEE F WA A4S T A qniE T @ T
21 "El NHEAT § S dae sEEn SEih @ S
&1 4 & FPN Faw, s, sEEEe G, i
Az &1 3w famey # fawey (o) 70 81
30.

Which of the following is not true markets?

IOW | FF T G  fava 7wl Tl g7

(n) Print media is not necessarily impactful in
rural markets/@® ETIS T @ f5 =
Tifgem Fmfror e F o e

(b) Rural customer is price sensilive, /AW IEH
qe Hagrae g #

(c) No significanl change may be required in the
advertising copy. /a0 wfa o feedt nza’qui
A 1 WEvEE A E

(d) Products should be simpler, easy to use,
service and maintain. /378 T & 3 ITAM
ud T@-rE f e gl

Ans. () : JTHOT AT A A T A9 A
#1 IR W N & fere gl ARl § 3R 91 YaR
AT § T YR AE7 § I & afeaE 0 g 81 W
mmmqmmaﬂwﬁaw%tmn
fadt ofted= & EvEE T T 2 TR PR @
ﬁtmr@m@mqmiﬂlmﬁm

ﬁiﬁaﬁqqaynﬁqﬁ%:fmﬁn@m TR H
EEicearil G TR
3. Whichbofythe l'bllfti“'mg is not true for supply

cham\managément apprnach 7
[ R A E SR gl gEen gEue e &
e # vl T 2
(a) Joint reduction in channel inventories /9-
i wnll 7 dygw &l
(b) Large breadth of supplier base to increase
competition and spread risk /Sl UE
Sifan & Ged & o smgfiwait £ afa
(c) Risk and rewards are shared over long term
/e amafy | wifEw ud wiwa J AEen
(d} Companies use intermodal lr.snxpnrtalmn to
reach to their markels /AT 7% WA % fag
Fnfdi Zr fafis oftagi & wam
Ans. (b) : I @ FHHA IJIPE-IY @ S
qaaa—ﬂmw&"{{mmm—lmmﬁtm
IEE H HEd I G AN IEE qgin:c 7% UE
FAH MG F UF Acad gAml &, o IE @
Tl U F A | I T R | S g, S
i Fwdra @ e §) @ A s i S
wfawa § WEE, AR % o & fau s gw
fafi vRee @ wam fear s &1 I fwed #
fasea (b) T T &, wEitE wAersl @ wiEn & Sem
F fou smuffamisi 1 afe = = &)
32.  Which one of the following
consumers?
FUH -1 SUA & o Wt §7
{a) Consumers are rational and think in a linear
manner /3Tt fEaE @d € #H @uE =y 4
T 2
(b) Culture and society have relationship to
consumers llmughtq and leelings .‘IIFfﬁ II,H
s & I & faanl wd awE #
Ay B2 |
(c) Consumers can be molivated Lo believe and

internalise messages the way the marketer
desires /3T &1 ARA Feal =1 w6 & B

4 foshm & swoER "Ew A fagw o ud
HIHHR |

(d) Consumers can explain_their thought and
behaviour /39T H94 TR TH =EER &
AT FXFH 2

is true for
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Ans. (b) : 3T faFed 7 F49 (b) T8 &, FiF TI9F
IYVTE AU [ATH § TGl 98 @Al €, a8 & Gep, q@
% W@, WS § F 99 @ 8, 7@ W9 @99 39T
frard @ swiad & 21 3 G U oawe @
IyEsT F faan ud sreet @ wweer W d )

33.

The amount of penalty for making a false
statement to the “Competition Commission™ by
a person who is a party to combination shall be
between

ufy fadh wag @1 wew «1§ =afw wieegut

ATENT & WA FET wa AT §, $Ea forg

ardds §:

(a) 20 lakhs to 50 lakhs /20 @@ & 50 @@

(b) 50 lakhs to | crore /50 @RI F 1 FAE

(¢) 8 lakhs to 10 lakhs /8 @@ & 10 @@

(d) 70 lakhs to | crore /70 ©F & 1 HUg
Ans. (b) : 9 Wyl @M Ui @ UE EfEs
A €| SHE 3RS Wami &1 g 2 8 i 9
oA & fod @ WA AT W TF | YA §EE T
13 598 2003 & wiremt smam & F% §ER 3
T FY) 3EH 1 3Ty 3 6 TREN & g 4% aTam
&4 o &1 IR T Vg w gL W HEm & qee
31 F9M 0 €, A 79 AU 50 d@ " 1 FT 7 &
FdEvE o gl &1 3 fawen (b) 9 2
34. ‘A’ Minor takes a loan Rs. 4,000/- from ‘B’

during his minority on attaining majority. he

applies to ‘B’ for a further loan of Rs. 3,000/-

‘B* gives this loan and obtains from ‘A’ a

combined promissory note of Rs. 7,000/~ for the

two loans, This is considered as:

AT A’ AT FATEHAT & A ‘BT T

4,000 YT AT §) OER ¥4 O 9% B° & OH

3,000 w1 AMAfvs |0 oY & fou amEes

FHYar €1 B TE /W T g E o A W g

/Uit & faw %.7,000 & dgw gfemr-us e

T A =8 T W

(a) Void Contract /¢ #faa

(b) Valid Contract Ay dfag

(c) Nlegal Contract /M- Hfaar

(d) Unilateral Contract /e Hiaan
Ans. (b) : W 3E afufmm 1872 Fuw 10 F
WAOR, 3FY @l W= B @ 9 a8 Rl @)
aevfa @ fwar mm @n afafrmy £t am 14 4
@ T @ IR, WA e, S, Tem
a3 Al & dea W & o wewfa & w9
o B ma &) 3w v B fa Rl owmm F
weufa & fow w@gm @@ @ &, @ 98 99 sf g,
Fiifh T 3290 U Waha 49 &1 3% fFweT (b) &
{

Which among the following essence of the

information technology act is not a correct

statement?

Frafafaa & @ g 2erarat sfufa @

HIT-6T G, O HIT TaT &7

(a) Legal Rfcnunmnn of Electronic documents
ERE AR el fean i R

(b) Any contract for the sale or conveyance of
immovable property or any Interest in such

property  /379@ Tafa & fawa a1 oRaew &
fere o Wit wafe  wfesfa & foe @ Jfam
(c) Legal Recognition of Digital signatures
TR 3 F A
(d) Justice Dispensation system for cyber crimes
raEAT At F fau = st 6
Ans. (b) : GEAI T HAfuEe 9@ 9dE §9% 2@
ufty w sifafam @ St 17 3R 2000 F U@ g3
27 @A 2009 & UF UM TN 39 AW fE
W|mwm$aﬁmnq§mnculﬁm
stafrt wfefEm 2000 ofta & far sk 17 s
2000 @1 ¥ogew 9@ & W oan] @ @ W
sfefaam & geva et @ -
(i) FoAZ A AT ol AT A
iy  fefoma wamm St Frph A=
(i) T R IeA
(iv) W A & fav =9 =T
T fawed § faFew (b) T W A 2w o
qefa & e a1 oftee & foe 48 @ 2
36.

Which one of the following is not included in
the term “Work™ under copyright Act 19572
wifee e, 1957 st
frferfaa o & foe &t “ard ! 3 wftafea T
feran wmem &7
(a) A Cinematographic film /s fhey
(b) Layout designs of integrated circuits RoE
Tf#=z & 9-3Ee ¥y
{c) A sound recording rafy ffdn
(d) A dramatic work /TF TEEE S
Ans. (b) : T T FiEZ HuwRi #1 @0 & fa 1957
1w sfufEm @ 3” gam 3w sffm @ v
afnfon # am@n & A gm 8, afew o,
W a1 IedreRsl a o fgal § 3fem e w@i
T 91 T8 AfufEE 3E aF 7 AR (1957, 1983,
1984, 1992, 1994, 2010 3 2012) Huifd & F&
2 TR W g7 wfufEm e 9 a2 i fea,
t1 3w faweq (b) W F202e wffz & @-¥Re sy

& & | afafem 78 s 2
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37.  Tax audit is compulsory in case of a person in a

profession whose gross receipts from the
profession exceed:

afe =g =afvs Yyn =T T E, A 99 ¥ g

yiftrat fara @ afies @9 Wt o sfeRgror

sfrard gt §2

(a) Rs. | crore /5. 1 &S

(b) Rs. 40 lakh/®. 40 ©M@

(c) Rs. 60 Lakh /. 60 @@

(d) Rs. 50 Lakh /%, 50 @@
Ans. (d) : 3EF IETTEH, 1961 & UM 44AB F
HAER il O @ A qen ¥9F Afh 3 g @
ez T & TR 2, af% 99 9 InE gwa wia
fioe ad & so om@ 99 @ st & &1 steem sifaErd
21 I fages (d) 94 2
38.

Maximum tax-free limit for payment received
under voluntary retirement scheme is:

wifvgs Farrgla FieET & i g Qe

% T arfbraaw o-vh | §:

(a) Rs.4,00,000

(b) Rs. 5,00,000

(e) Rs. 8,00,000

(d) Rs. 10,00,000
Ans. (b) : WA e aMfEm 1961 F oUW
10(10C) & 18R 3R ol el 3 @i Tty
o HETE W GHE WA w2, a5 s
500000 94 7 &I g2 faerd 21
39.

A is Resident in India aged 60 years earned
agricultural income of Rs. 500,000 and non-
agricultural income Rs. 3,00,000 during the
previous year 2019-20. What is tax liability of
A?

‘A’ WA @ Frardt & fraet 3w 60 v & afw
Ta ad 2019-20 W FHfU4 W 3@ E. 5,00,000
i - ama ¥ 3,00,000 T OCA' T
adT--- T E?

(a) Rs. 72,000

(b) Rs. 72,100

(c) Rs. 2,600

(d) Nil¥

40.  Any planning of tax which aims at reducing tax
liability in legally recognised permissible way
can be termed as an instance of:
‘&g W e e Sty A w5 9
TTAATYTS 3TRA wites W &Y qaar § &l @rw
TINT &, IW Tg WEA &
(a) Tax planning /A fra==
{(b) Tax avoidance /& UfeR
(c) Tax evasion /&L a9
(d) Tax management /& Ha
Ans, (b) : TTE 3EFK AT 1961 F 3ER, I
ofER @1 & w9 Uw & aiE ¢, fre e 9@
T FAE IE @ 0 g T amEa & O @
w0 &0 & oo wwr #) 39 = § o A R g,
TS 41 34 BF § WER g 1 o § 994 & o 3ua
T A & OAAF A ITH FE FY Y T A A F
39T FT VAN AT &1 T@ AT F Ao F AE A
41. Identify the principles of trade policy
framework from the following under the WTO:
fag =R weR & sida, foafafas @
I Hfifema gten fagia & g &ifau:
1. Reciprocity and transparent/arieafisnat afrr
areyit
2, Benefactory and resilient/fgaantit afit w=few
3. Non- discriminatory/3ifaragarit
4. Binding and enforcenble commitments
EREEr-Gl
5. Protective and benevolent/HT&VTIHG 3t
fictnft

Chose the correct answer from the option given

below:

Hrer faw v fament ® # Wl I = WO

-&ﬂﬁq: - £

(a) 1,2 and 3 only/sdw 1,2 AN 3

(b) 3,4 and S only /&ael 3,4 3T 5

{c) I.3and4nnlyﬁh‘aﬂ 1,3 R 4

(d) 2,4 and 5 only /a0 2,4 3T 5
Ans. (c) : 39w fawedi 7 fag &R WA F I
=R Hfifrm gt frtar A fafim & § orefam o
TEsf =R & oy sfaieEd, S s v
a9 ggaie 3 8| 3m: e (o) ' 8

Al"}- (d) : *A” W o1 fFramd é: format S0 60 @i ¢ 3| 42, The rights of the consumer as enunciated

fom @ af 2019-20 ¥ T & 3@ F9F 500000 3R under section 6 of the consumer protection Act,

g & 3w 300000 ¥ g afe A S 1986 includes:

aqi;fﬁﬁq st ~§g~ . IUUTTRT HIHOT Affan, 1986 @ AW 6 &
0 G2 3 Wi ¥4 € Fie &HEm AT &l . 3 v &

W 60 T &1 TAF FETEE T T T I 3'3““:““"'“3‘" st # frfien

mﬁmiﬁnmamﬁiaﬂ*{{rﬁ— 1. T h' tected inst th keti f
o f - . . To be protected apainst the marketing o

() A e q‘ N sl R goods and services which are hazardous to life

(2) I8H Y[ & P 5000 94 H A &l and property

UGC NTA NET Commerce 11" Paper Dec-2020/June 2021 45 YCT

Scanned with CamScanner



Tt weEi ol YAl & o & faeg
wogr St St @ duf & fag sfamgef 31

2. To be assured the competitive price and low
cost quality producls and sery ices/wferameit T
T foreremm ura At e i wanet @
Jrgra-l

3. To be assured that consumers inlerests will
service the due consideration at appropriate
forums/ag Myaa T it 1

e v W 3faa R faar smom
4. To be protected for multiple use of products,
profits, diversity and equity./39Tg, e,
fhfaum T WA & age WA iy warm

. To be informed about the quality, pulmﬂ.
punh and price of goods or.servieg/3WE &

Taait T TurET, mﬁsmﬂtaqmﬁ?aﬁtﬁ
qﬁmﬁn:rrM| -

gn en hclﬂ‘h’

4.The determination of the cost of assets
purchased before the balance sheet date/

qeAua fafa
T &7 T

Choose the most appropriate ans‘iyﬂ' ftum the
options given hcluw!ﬂ% oot o

Wﬁaﬂgﬁmaﬁrmm
{a)|3and4on1yr%m”afru
(b) 1and 2 unly;%ﬁ!ﬂ‘i 3 2
(c) "uml soniyf&ﬁa 2 3 3
o (d) tﬂnd-d only /e 1 3 4
Abs. ()% gmmhfvraammmﬁmﬁ 7
e S €, S g W # s faf
fafa & ¥= &M 21 9 g He & q
g @ WA §) 2 g fairg faene % Swdraat
F i Pt 1 wofad 32 T4 21 AS<4 F IR W
Wﬂmqﬁ#waﬁfﬁﬁ:mﬁmaﬁaﬁmﬁ
Fﬂﬁﬂiwmﬂﬁﬂﬁﬁﬁﬂi'ﬁaﬂmﬁm
# wmm @ fuf @ aerafim G s s e e
(d) T 21

__=.=ﬁ%faqanaﬁ&r‘ﬁvnﬁmmmaﬁﬁm

{1} l1 nnd.}nnI} Aad 1,2 3T 3 44. 3Innngnmen| Accnuming fnl_'nrn:latinn is vsed
for which of the following distinctive purposes
_._{b]_ ﬂnd4tlnljm2,3m4 mmmmmmﬁﬁ
(¢) 3,4ﬂnd50nly.’?ﬁﬂ 3,4 3T s m“ﬂmm%mﬁzg
(d) 1.3 and 5 only /el 1,3 H S 1. Measurcment/Amd3
Ans, (d) : 390w fefEm, 1986 ITEEEI @ 2. Control/f=T
ararEl a1 e aqﬁm ¥l ® T & fem gwdre 3. Rcmrdingtmn:aclinnsfﬁ?—';{ﬁm aferEs
aaﬁm'{nfm T &g yﬁj’:m 'ﬁﬁ'{ﬁﬁ m € fi g 4. Alternative choices/derfedes a7
A ilE.’ﬂT ﬁﬁm 31 i mﬁi d Fﬂz e Choose the most appropriate answer form_the
ST R /E | W 6 F AR A H W o option given below: fegu ng
() T Fge s FaeT & fwm & feg ww S TE I T FTT Fi
e 7w % fow sy € (@) 1.2 and 3 only A= 1,2 3 3
(iiy @ sy fF T & fedl @ wyfan 9w (b) 2,3 and 4 only /&F@d 2,3 3 4
3fem ferame = s . (c) 1,2 and 4 only/ae 1,2 3 4
{iii)@@‘ﬂmﬁw- “ﬁﬁ-wﬂ‘iﬁﬁ (d) 1and 3 only /&9 1 37T 3
an i gfew e w1 3 fawea (d) W &) Ans, (¢) : S TEEA SEAI & GA SEEE &

43.  Which of the following events after the balance
sheet date would normally qualify as adjusting
events according to AS-4 (Events after balance
sheet date)?

qean fafe & o =t Frafafas § se-d@

AEHT SEE & 34 NEYEl a4l I39dm # gEtud 1w,
M IR I TR i @ 9 F A TR wEe
& 5 T T vEE au Fem o @ Jew Al 8
F A A W gEe ILYE oA, fEen 3w
dafeqs; 997 & fou & €1 31: 99ed (o) T 81

AT AATAA: AS-4 (Temea faf & ae @it

q 45. A U-shaped long-run average cost curve is

mﬂ’) & AU W FAES T based on the assumptions that:
ELULE g e @ G wifere aftae T @ R
1. The insolvency of a customer on the balance STAETTUTTST U I %;?
sheet date/gera= =1 fafr o0 & T w0 1. Greater division of Inbour and specialisation
JroremeT w1 frafa) accure to larger firms/$TH /T GEoW
2. A decline in the market value of afrr farvragrar gt wul o g &
investments/ AT 3 ATt g | frmae 2. Minimum cost of production at various level
3. The declaration of an ordinary dividend of output/Frin & fafesr i W I &t
[ATHT=T FATHIYT ST S =AW ATl
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3. Economics of scale prevail at small levels of
outpu D iy LTl T e
4

4. It become more difficult to manage the firm

effectively as it grows bigger/®d @ @3 B W

T 3@ WHIET &1 | YEfra &iar st s &l

AT I

5. Discconomices of scale prevail at larger level

of output/FiiH & @ ¥WT W

HAATHI

Choose the correct answer from the options

given below: /et ﬁ't{ m i ELL

&1 wraw fRfima:

(a) 1,2and 3 unly!ﬁa‘cl?'l 1,2 3T 3

(b) 2,3 and 4 only /&AW 2,3 3K 4

(c) 2,34 andSnnlyﬁlﬁﬂ 2,3,4 R 5

(dy 1,34 andﬁmﬂy.’%lﬁﬂ 1,3,4 3T 5
Ans. (d) : T A9 § IOES & W FRE & w20
o #) 3m YR O Il @ aF F TR &
A & & fau SEia 3auren 999 & Saed &
frm &1 @ wmg o fer o afEfda @@ @ 3
ofad-a @A Faa 3@ @ & SWiad FX A 8
FH-TY IeqEA & W oagal 8, GaA &) forerd &m
Fd 2 3 I A siten e d gz o @, ek am §
qfg B9 @ 21 U IR @ a3 A a®

fay araymomsi W oamaiE & -

(M) oH a'g gewl v o fasmgm @ @l d
Fanild!

(i  Foln & @y =) w R ges gan & 2

Gi) @ F a2 @ 99 9 3 il 20 § wefaa 6
s F34 @ s 2

(iv)  Frfa & gt = w s, sz

e fere (d) wél 21

46. Identify the necessary conditions for price

discrimination:

e faves & fou smavaw ye @ fafga
EAlE L

1. There should be imperfect competition in
markets/@TSHT aTgqui wiereut gt =@

2. Markets must be snparublem o
JeaRTiTa §1AT SRy

3. Differentiated products and interde
between firms EG I afir
ey Frdam

4. Elasticity of demand must be different in

different markets/fafirs o wim &t
Tz 2l =nfem

Choose the most appropriate answer from the

option given below:/ et fau wy fasreat i
Had IYvR I T AT RIAT;

ndence

& o=

(a) 1,2 and 3 only /&ae 1,2 ¥ 3

(b) 1,3 and 4 only /Fa 1,3 30 4

(c) 2,3 and 4 only /e 2,3 3 4

(d) 1,2and 4 only /Fad 1,2 3T 4
Ans. (d) : T0 fET 7 @ 2, 9@ &3 faswa 37em-
e wlEEd &l ste-san @imd W o fafne awg
T AU &1 W EW A OSWR @ wEted T4 e e

fawren &1 wid f=fafaEs g -

(i)  am & i sfeeat @l

(i) A9 @ gy g Al

(iiiy  fafir @ & win & o9 fim g6 Tfew

3: faed (d) 7 21

47. Which of the following explains downward

slope of an ordinary demand curve?
i/ F W Wi ousw &t

ST 16T S WY T &2

1. Income effect of price change/ed qRad=
Rl ATT AT

2. Substitution effect of price change/Jed
uftad= @ ylemneT yua

3. Utility Maximising hehaviour of

consumer. @l @l

T ATAT THEEN

4. Risk averse behaviour of consumer/3THITH
&l WIRGR # AT a1elT Saagt

Choose the most appropriate answer from the

options given helow: feu {

wad IUgh I & FAF R

(a) land?.nn]yféﬁﬁﬁﬂ"{z

(b) 2,3 and 4 only /Fad 2,3 3T 4

(c) I,ZandBonlyJW1.2 3 3

(d) I.3m1d4nn|yf5ﬁ'dﬂ 1,3 3T 4
Ans. (c) : T Fime fieh @ @1 fh amg F oin 3 o
9T W & K 3ESG faulid #=7 oie g9 G gl W &
@ & I & W 9% @ gAY $ H e
3 T 21 A i A s = fe a el @
e FA -

(W) T Uftad F 30 X6

(ii) e ftad F1 Sfawn- 99a

(i) ITw @ It @ Afwmen Wge e
RN £ |

31: faae (¢) W 21

48. The reasons put forth for the control over the

activities uf the international banks are:

M A & Frdwemal ot fsr & wHeT

|ATT T §:

1. These banks encourage inflation by adding

stock of money supply through credit creation/
f oI { AR W

T Y w34 €
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2. These banks some times are responsible for
bank failures that mar the interest of the
depositors3T d&1 W TWg T wl-wT dF
fawe & ot & forad smrwwel & e 59
AT E

3. They cause unmanageable  indebtedness

among the ba rruwinggm'crnmcnls by charging
high interest rates/4 I AT TL THT

IUTH TTET @ T FHUREAT ¥ 2T g &
fo=a sawr = &t urdh

4. They do not adhere to the credit allocation
policy of the host government/d WS=T Wi
W /O e Hif @& U T 5w 6 )

options given below:
et faw ru; ﬁ'aa—:-u'r ﬂ' f-r Faﬁ ::.‘qgﬁ I

(a) 1,2,3 nnlyﬁlﬁlﬁ 1-;2,3

(b) 1, 3¢ only /3 1,3,4

" (c) 2\3 4-0nly fFae 2,34

Vi 'r2.3,41,2,3,4

Ans. (d) : % IUF HTUE NTH GlE AR H 300
foer & e @, @ vt ' {4 faww @ o
T & ATE &AW W fAd wOm sruEa d@ &

feramememdl ot Frdam & o s @ -

(i 7 4% @ foim & mem § e 3
TR & A 2 8

(iiy 31 431 91 ave o ad-af 4% fawd 8 9 €,
foma smreraisi @1 = =7 s 2

g Ted A & AME IUREHA T & wE
RUEA H 2T an 8, FAd A 56 #
il

{(in)

(iv) T U9 TR & T 3ESA i w1 OO T
T € 3 fre (d) 7 R
49. A new issue debt or shares will invariably

involve floatation costs in the form of:

ferelt U s @ Yo & foofn o e s @
% WU H wEs A i gt )

A. Legal fees/fafs yoe

B. Administrative expenses/SVITRI TS @

C. Brnkernge!ﬂ?—ﬂ?-ﬁ

D. Underwriting/37fama=

E. Risk Preminm/sitian diftam

Chaoose the most appropriate answer from the
option given below:

e fou o fareedi W ¥ wEW IUGH IAT
maﬁﬁq:

|zt afirem, e, wie weE e f

N [Bf 3 oz dftm W §1 EEaie e el g
Choose the most appropriate anstyer frtml |

(a) (A), (B), (D), (E) only
FA (A)(B),(D)(E)
(b) (A). (C)only
& (A)(C)
(c) [M(B}.(C).(D)only  C\ N
FAA (ALBUOD L, e | ™ 7
(d) (M(H}{(){I)](H .
& (AL(B) tC_},{D}afR (E)
Ans. (c): mmmqmg T T T
’m%mﬂmmmmrﬂmﬁélm
fafifr =1 W &) fowri faferm wpow, ot @,

% wfavd & &9 # = 5 96 €1 2 e (o) 9
2
50.

Which of the following are the reasons for
raising funds via securitization?

wferferamr & wmaw & it Jee & @wo
Preeriam & @ @4 §7

A. To raise capital uwng non-convenlional

sources/AT-uTtafiE wAT & S e

B. Ta accelerate  carmings for  financial
reporting purposes/fardia warE &g
HATHEAT ARHT

C. The diversify funding resources/fawaraTT &
wanrEl @t fafafraTor

D. The potential for reducing lunding cost/
faraTaor FTTR T HE H AT

Choose the mast appropriate answer from the
options given helow:
e feu wu famedl ¥ W w9 IUg IO @
=g Wi
(2) (A)(C).(D) only /Fa (A)(C)(D)
(b) (B)(C)(D) only/F (B)(C)(D)
(c) (C), (D) only/@aa (C)(D)
(i (A) (B) (D) only /& (A)(B)(D)
Ans. (b) : Sfrgfr -faefa ik fadim fmdl & |-
e TS 3w a2 5 e oorfe e
sfergfeen & 3vam &6 e & o B E -
() @ 9w AvE S oEm S S e
(i) o umwr Emn o fGEfaas o @ am
(iii) @9z FfEw &1 FauT T &) e
(iv) fadfr dosil F foo &% sifam-smafe g
FETIEAN 1 [ F ey g SrEvEwa 4
Fefaa T |
(v) Y= 379 IF T
(vi) H-HeE BEATET e S & HEEw
a7 e (b) 78 21
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51. Non-sampling errors may arise because of:
Ir-yfer =g et fnafates § @ fm s |
B T E

A.  Vague definitions wused in_ data
collection/3ThST WIEUT § Fgvh ITEAE TRWTETG
B. Defective method of data collection/ 3TiehgT
g o gt faf

C. Incomplete coverage of the population/AufE

T YU WY | YN faRar @A
D. Wrong Enln made in the
questionnaire o @t M3 T gl

E. Only part of the population is observed and
expected to aveid census study/STTUET AHAT

¥ "o & foo unfy & et @ & deor fear

et & 3 gt sy & = §)

Choose the most appropriate answer from_the

options given below: feuw mq T

Wad JUGh ST o Ja feRhau:

(a) (A)(BYC),(D) only/@&@a (A),(B),(C)(D)

(b) (A),(C).(D).(E) only /e (A),(C)(D)(E)

(¢) (B)(C)(D)(E) only /Fad (B)(C)(D){(E)

(d) (A)L(B).(D).(E) only /T (A),(B)(D),(E)
Ans. (d) : mnﬁwg&q&rgﬁmmﬂma el
22 WAE & WO § I € €, s o g we
wnhmélmwg&ﬂmmélw
TN YT IR AEE e & 99 'ﬂé R 2
dfga g AR F wRomrEsy @ g @) RS
I fafm =0 7 & wmd @ W s ged fe
F T & TEA & -

(i) Twg TR § Ngw 1Y qieTand |

(i) iwer wmew a1 gl fafy

(iiiy 5% g ¥ 3 7 Tem wiafy

(iv) S g AT s afe S R @ @
S feran S @, 3 a3 @ Sl 81 3
farmreT (d) = &

52. Which of the following are the correct
statement with regard to positive skewed
distribution?
taTHE fawa faarn & ddu ® Pttt §
|/ - T T §?

A. Mean>Median>Mode/@saur >urftaar >
ageich

B. Mean<Median<Mode/AEAATA<
wiitaeET<ages

C. Q; - Median<Median- Q,/Q, — WIita&T <
it - Q,

D. Q,- Median>Median- Q, / Q, - WTfitaraT >
mitaET-Q,

E. Mean = Median = Mode/ TR = Wity
= E’gﬁﬂi

Clmose the correct from the options given

below:/=et fau o fameai § ¥ | 39T @

G AT

(a) (A)(D) only /FT (A),(D)

(b) (A){C) only /Faa (A),(C)

(€) (B)C).(D)only /Fad (B)(C)AD)

(d) (BLI('I,(IJ).(E)OHnya?Eﬁ"T (BL(CLD)L(E)
Ans. (a) : ¥Es favg famor & &9 § &5 wgfa
(mer, Mg 3R AgEE) & W Y U g & T
& &1 wEwms w9 4 faed 22 % g, 39 R g
T § | g faem famm § Fi vt s § e
T Ty e e # o e o T g -
WA > W > TAw
Q, — wiegar > mfea - Q,
3A: faFey (a) 7 81
53.

Use of Focus Groups and collaboration tools as
a training needs assessment technique has the
following disadvantages

wivgor & o navaw gedice dadial o
T H WwT WE T wEari JuE & yan
& Frafatas gea= §

A. Time consuming or organize/3Tata o
afs wwa o arer

B. Unuseful with complex or contraversial
issues that one person may be unable or

unwilling to explore/afee o1 faaegmy faaai
Pt 319 T § &is oafth 3T & a1 a8
afrgs w1, & e srguantt

C. Questions cannot be modified to explore
unanticipated issues/ &l

I & & fou gyt f uftads fmar @

T B

D. Group members provide only information

they think you want to hear/ TYE & |

e g WG Y &id ¢ @ o J6gd &

Tor 3g o g== =med §)

Choose the most appropriate answer from the

option given bhelow:/ H=r fer mo frri O

TEH IUGH IAT & AT R

(a) (A), (B) only /F3d (A),(B)

(b) (B), (C) only /& (B), (C)

(€) (A), (D) only /&= (A),(D)

(d) (C). (D) only /&= (C). (D)
Ans. (c) : W?mmmm?m
fi Ty A 3 mEEntt I & XEm " A i
Ifers g9 A¢ @M 21 TR F W™ Wi dEd 96
T T2H F3 §, S 39 T AN T TR
THE w9 3R 9 I 98 d € 3 G (o) T 2
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Principles of management are important and
useflul on account of the following reasons:

yaua & foag Frafafaa s & weeagol
3fy swamt §:

A. To increase managerial efficiency/Jauaa
AT AT

B. To attain social nhjectivesfﬂTﬂ'lﬁﬁi ':I%S"Cﬁ
T YIS HEAT

C. To train managers/Wetiehl sl WA T
D. To improve research/7mer HUTW &H{AT

E. To coordinate

resources/difam i
WA= &HTAT _
Choose the most appropriate answer l'rl:mi [l‘I.E
option given helow: fag 7@
TER IUGT I N GG R
(a) (A), (E) only Bgiy AL(E)
(b) (B), (D) oly /% (B).(D)
(€) ABC), (D) only /= (B)(C).(D)
() (AL(B),(CY,(D) (E)V=Ea (A)(B).(C),(D)(E)
Any. () 0 F frgm @1 s el g A fEm
a1 3% INEE YA e F S & B9 § 96 S
) o um " fagia Y o @, W vEea &
o w0 W A A o G §) SO A & 14
faem @ &) vaa & fagim = @non & seart E-
(i) ARG A T
(ily T ST & A FHE
(ili) FE=TH 1 wreEE
(iv) ¥ § guR &)
(v) IR R 919G HAHT F S e i F7
a: faFew (d) W 2
55.

material and human

Which of the followings is not an approach to
the structure of Indian Financial system?
fetafEs @ 9 FF-a1 3w 9wy e
77 & e T gafta Tl

(A) A brokerage can be either full service or
discount

FETeAt Qut AT v wmErdt B TEar gl

(B) The financial system is concerned about
money, credit and lnance, the three terms are
intimately related vet are some what different
from each other

forefra w3 u, =0 i fa & wdftm & &
= ug us gat § ufyg gy vad o oft go-
T - I €

{C) Housing finance simply refers to providing
finance for venture capital

ammardra fam @ wa sifgw 96 & foe faw
T T W E §

(D) Financial instruments may also be divided
according to asset class, which depends on
whether they are debt-based or equity based/
& ITTUT T
ferenfore feman s waen &, WY 3@ oL W
& o & spor-amufw € @ sﬁa'!r-'—arrmﬁai
Choose the correct allsv.cr frnm ths.- option
given below:/ = ﬁ."q TG Taheal W W WE I
& =TT Fa;
(a) {AI {C} and {D:l unlvﬁ-n_\ﬁ‘f (A)(C) 3T (D)
) {Bland([)} only /a4 (B) 3T (D)
(c) {C} only /Fae (C)
(d) (A)and (C) only /& (A) 3 (C)

ﬂI.IIAns (c) : WA fada wonel g9 391 & SidE S
a||[F w8 memyl wresi 4 @ uw 2 9w woned 2w @

A AT T 4" v F YA F YEEE F 8, 9
3 Wi @ de & o e @ FEw w81
3 faima ofemfeal o oft sor F 3wl F v
F A9 @ YA AR O &l €1 98 A faw @
wa wifaEw O % fov fam wem &= 7 T g 2
I faFed (o) wf &
56.

Which of the following statcments isfare
correct regarding application of data mining
techniques?

Ty wpfn el & wam @ wefim
Prefafas ¥ 9§ #9-8 waw 7 §7

(A) Predicting future trends based on
information available/3UeiaY =T & IR
uy ygfwai @t wirsranft s

(B) Electronic dntn intcrchangeﬂﬁﬂi‘fﬁlﬁ BleT
atafifroa

(C) Analysing t_lcnlugrﬂphiﬁcinl’urmntlun about
customers g1

fergeraur =T
(D) Credit risk analysis/Rur Sifitan fayerau

Choose the currect answer from the option

given below: ﬁq Rl fereredl o & wft In¢

T =a Shifa:

(a) (B)and (D) only /& (A) 31 (B)

(h) (A), (B), (C) and (D) only /&= (A)(B)(C)

3 (D)

(c) (A),(B) and (D) only /& (A),(B) #I (D)

(d) (A), (C)and (D) only /A7 (A), (C) 3 (D)
Ans. (d) : 21 WEAT ¥ @ed agt w0 2@ § 3
e | 81 227 Rl @ W 99 91 gEe & ATER W
vaftdt & wfasgand e @) s aem & el 9
T TE F e 3 B SiiEs @ favem
T 81 A: e (d) 74 2

UGC NTA NET Commerce 1™ Paper Dee-2020/ une 2021

50

YCT

Scanned with CamScanner



Sklmmmg pricing strategy delivers results:
feanfii Iamt @) gea-frator
CADLIIG uﬁﬂnﬂm FAGIRA

A. When the size of the market is large and it is
a growing market/STE GTA T TR TET B

afrr mraT &g @ A

B. When the product is perceived as enhancin
the customer's status in sociely/ST® IR

WUTH T TS @i YR &l =g aem 0ET
AT BN

C. When the firm uscs it as an entry strategy/
W WS yav W % B W SHaT WA
AT B

D. When the target market associates quality of
the products with its price/5Td T8 @T9H JedTg

@ U] & WA IWE HIRd | T S
il

Choose the most appre
options given below: !

wad IUGTH I A AT aﬂfm

(a) (A), (B) only /&6 (A),(B)

(b) (B), (D) only /et (B),(D)

(c) (B), (C)only /&ad (B),(C)

(d) (A), (C), (D) only /Faa (A),(C)(D)

t.lte ans“er from the

oot o &

(i) HasH (Substantiay
(iv) TaviEF (Differentiable)

(v) Sfadifiar &t T&Fa (Intensity in competition)

(vi) @A 3I3H 44 (Actionable)

3a: fawey (d) T éf

59. Environmental characteristics factors

influencing distribution decisions are

faawur fauiat & ywifae & ol gatarft

arfaas /& §:

A. Government policy/aTaRtt Fifer

B. State of economy/3rderasam &t gym

C. Social activistism/ATHT e AfeRaar

D. Technological and infrastructure
developments/yTeltfitent wa arftrari=mT faawma

E. Statutory pru-.-i';ionsfa‘UTﬁlﬂ-T ICLIE]

Choose the most apprngrlale nnmer from _the
option given below:

naﬁzug?ﬁmﬁrmaﬁﬁq.

(a) (A), (D) only /&a@ (A),(D)

(b) (B).(C)(E) only /&ad (B),(C)(E)

(€) (A)C). (Dyonly /@ (A)(C),(D)

(d) (A), (B), (D), (E) only /& (A),(B),(D)(E)

Ans. (b) : F$ ITHA TTedl e fawRo wHif § TR §
aU & wed FEgs @ g & F g Fuffa @
W €, 3R fR 0 s & w2 wifE s TEd
iz it @ 99 21 98 Wil a9 9% gdl 2, 99
INE F GAS § A &1 Iufafd &1 g aren uen
ST ¢ 3 T TR AR IR & e F g
3G WA @ nfid G 8 oE: fTEe (b) 9é 2

58,

Requirements for cffective market

segmentation are:

Tt ST fraTRtE # smavasaTd &

A. Accessibility/ 3Tfirmrar

B. Differentiation/faw<iar

C. Measurable/Ama=a

D. Vioble/sTagrdan

E. Intensity in cnmpctilinnfﬂﬁiﬁ'ﬁlﬂl’ &t WA

Choose the most appropriate answer [rom the

option given below:/ e feu mu

WEH IUTH I H TAA HAC:

() (A), (B) only /&= (A),(B)

(b) (B),(C){E) only /Faa (B),(C)(E)

() (A)(C).(D) only /Faa (A)(C)(D)

(d) (A),(C),(D).(E) only/F (A),(C)(D),(E)
Ans. (d) : TF TIE1 @R foae= &1 IEvaEad e
(i) 3\ T & (Measurable)
(i) W& AT (Accessible)

Ans. (d) : famo Fefal it soifer 59 T waEdE
e e § -

() @R & Fafam a0 - A, Seara

(il) IE FASF - IO F GFA, T

(i) Wl fifa

(iv) demawn @it g

(v) wrEhE e e fEm

(vi) duifaE wEuH

am: fasew (d) o 21

60. Which of the following statement are correct

regarding the objectives of Right to

Information Act? Indicate the correet code:
frrafafaa ¥ ®F-9 ®a9 g & A
arffufirag & FJyal & dauw o 9 &7 94 S

& AT Hi

(A) To operationalise the fundamental right to
information/@aT & it T
Yt &t

(B) To set up system and mechanisms that
facilitate people’s easy access to information/34
el @ wE @ v S A g @
W T A WG e £

(C) To promote transparency and accountability
in governance/ IMAA W

T WA T
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(D) To minimize corruption and inefficiency in | |(iii) fEamE & Eadl
public offices wnd ensure people participation | |(jy) 3= % e TS T WA T )
in governance and decision making Note — NTA T =0 W7 =1 &1 f5m &, =it m =
el § e T SHEA S A FE| (7 i o f
BLUR UL s frofas & & @ mﬁ_"'r& 62. On which of the following graundc. Thc
wiAfa &em Tribunal may order for the Wwindingup-of a
Choose the correct apswer from the options company or a petition(submigted.eo it, Indicate
j.'[i\'ﬂ'l below:/ 1 9T the correct Cﬂdf.‘m %ﬁ:@qﬁﬁ ot _ﬁ'-i
T A I
) . foedt a6 w:mr: T 3M2YT S W §2 Wé
(a) (B)(C) and (D) only /F=e (B),(C) 27 (D) .mgﬁmﬁm.
(b) (A), (F_”' (C) and (D) all/ 97 (A)B)(C) Al P.“II‘I.]: of Special resolution for the winding
(D) . s \.up / THIGA & feT0 9T Hahed @l wiid g
(€) (A), (B), and (C) only /Fat (A}(B) JRAC)Y | & B.Conducting  affairs_ in_ a  fraudulent
(d) (A), (B) and (D) only /@@ (A), (1) ) manncrmg\ﬁ e ¥ o w=rEs
Ans. (b) : ga1 @ aHR ﬁﬁﬁqﬂ ﬂﬂﬂ ﬂ?[ﬂ'ﬂi 2R C. Rcdu'c'tinns in memhcrshipmiﬁ'iﬁﬂ’r
ufed U F 8, S 12 IR 2005, L g D. Inability to pay debts/550T 3TETaTt ¥ araywar
Eac e iniicy FI T T e T w2 8 | {I'h'nnsc Ihf.‘.. correct answer from the option
Hﬂlﬁmaﬁ%ﬁmaﬂmaﬁwéwﬂmﬁmiﬁm ivin helow: I TR St A W Wt Swc
frefafga & 4 REEEIELS ‘
()¢ 3 & sifor s &1 st &) () (A3, (8)yarid (Cyouly /9w (M'(H’a‘gt (©)
(b) (A)(B)and (D) only /&g (A),(B) (D)
{“) T Wonferdl @ @ a1 s w0 T (c) (A), (B), (C) and (D) only /Fad (A),(B),(C)
T A TR g 3 (D)
() I N @RIe '_,"mt Sraad! i Mg S| (d) (B), (C) and (D) only/&aw (B),(C) 3t (D)
(v) ¥ e § TR 3 S W AR T | (c) : Al fufgn 2013 # oW 271 & dw
ﬂmqmﬂmﬁﬂmqmﬂwﬁarﬂghfm Fesre T e e i 6 @ B g 8 -
F 2 (i) dR T BN T QAR AT 2
3: e (b) W 21 (i) o FeE A fase seE gl s e @ &
61. Which of the following taxes have been fempaer amr a= famar s
replaced by the GST? Indicate the correct ||y afz Furi @ fmio Fqzqet alE & g A
code: . . T T _ o &
St uw & g Prefates & @ fee =i @[V :ET.Q;H e Rl o et g & f
7 " . - .
whoenfeq fean e @2 T FE RN E: || o g fog 5 it @ s fed sk e
A. Central Excise duiymmﬂﬁ? f‘qﬁ'{u‘l AR S q.i—ﬁ ﬁ h‘q.m’ ﬁ?ﬁ §|
B. Service tax/&ar & (vi) FEF & HeEdE § & I &) 3 faEe (o)
C. Taxes on ndvertisements/fa@Ta=1 T &1 a2
D. Duties of Excise-Medicinal and toilet |63.  Which of the following income is generally
preparations/3ATGI e AUH T YEA WU clll:rgcahle ullder the head of income from
Choose the currm:l answer from the option S
given below: T fo et & 9wt 3w e 4 A s S s
& TG FHIfAw: :
(8) (A, (B)(D) only &t (A)(B) 3t (D) (A) ﬁ'“%m;affé;'{mm;‘;;‘;;“mm“m’%
(b) (A), (B) only EHH!{A) 3 (B) (B) Dircctor fec/fr
(c) {Il),((‘}.(l)luplyﬂﬁlﬁ(B).{C}a-ﬁll (D) (€ Groamd Rm‘”q&rﬂ ﬁus
(d) (C). (D) only (C) 3 (D) - (D) Agricultural Income from outside India/
Ans.{*]:GSTH_EMH%HWZOWHm mﬁ;mﬁﬁﬁm
d GS‘TET-U Fer =il & @1 wheeantaa foer T @ - (E) Insurance commission/@ETHT THHTET
(i) W 3rdE e=hl (F) Income from sale of securitiesr'ﬂﬁﬁ[ﬁﬂff *
(i) Ha F fama | yra ama
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Choose the most appropriate answer form_the
option given below:

fau wu fawe | |

65. The cxemption with respect to HRA is based

upon the following factors?

WaH ITYTH IAT H A HIA = femar o § g Prafafan s w
(a) (A)(B)(D)(E) only /7T (A),(B)(D),(E) it :
(b) (B).(C),(D)(E)(F) anly/ (A) Rent paid/symar= faear war famrar
Fad (B)L(C)L(D).(E)(F) (B) Place of Residence/fNard w&@m=
() (A)(B)(C),(E),(F) only/ (C) Salary/@a
el ""-{B]"C‘*SE?"F’ , (D) IRA Received, WTe WerT faRerar sae
Ans(ujmmyfﬁﬁmwmmaﬁmm )
P : e (F) Market Rent/aTamt fatrar
Tl A 3 $ﬁ Pt s €- Choose the most appropriate answer form_the
'{l} PL a1 TG F 4§ a9 option given below: T
(i) e g WA IUGTH IAT EH AT WA
(i) R (a) (AX(BKCHD) only /a4 (A)(B),(C)(D)
O o eSS (b) (AM(C)(D), (F) only & (A)(C)(D)(F)
:\?J FTFHT?T’ (c) (A)L(B),(C).(F)only /&da (A)(B).(C),(F)
Vi =
. . (d) (A)(B),(E),(F) only /e (A),(B),(E),(T)
(vir) S, il fam ("”mﬁ_a' i Ans. (a) : TRATE HEE AGAAT 1061 & FIA TEH
64. Which of the following are included in person Brd W 8 T F T B o S
under section 17(1)? . i mﬁ i fﬁ‘md aﬁ'{ﬁmﬁ "IIT{'I
urr 17(1) & 3imia frmafefaas § @ &0 .Iilau\i_ru iy 5 ' A fe
wafvh W witafer T smar §7 SR T I Sl 1
66.  Match List- I with List I1:
(A) A Hindu Uudnldu.l Family (IIUF) / :
(B) A company/aa-t List -17g=- 1 List 11/g=t- 11
(C) An firm/afagms (&) (A) | International (N 1944
(D) An individual/@afth finance corporation/
(E) A local aulhnrir_inFﬁﬂ"HTﬁJElT
(F) An association of persons/2fiwal &1 @0 : i
Cl . _ (B) | International (IT) 1967
100s¢ the most appropriate answer from the Development
option given below:/ ==l fau Tq oA A:mm:ﬂmn{
Fad IOYeh I H T FfA: salieaa daEiiz
(a) (A)(C)(DI(F) only /T (A)(C)(D)(F) THIfgEE
(®) (C)(DME)F) only /&ae (C)UD)LE)(F) (©) [ World Intellectural | (1) | 1956
(e} (B),(D),(E), (F) only /&ad (B),(D),(E), (F) property
(d) (A)(B),(C),(D)(E) and (F)/ organisation/aes
(A)(B),(C)(D)(E) 3T (F) e c o i
;Ens.!d}:ﬂ'ﬂ?ﬂ'ﬂ'ﬂl’ﬂﬂﬂ&?fﬂﬁﬂﬁ1961ﬁ?3l§ﬂﬂm HRAIZSIYH
Al 9 3G & a7 = 3 e § - (D) | International Bank | (IV) | 1960
li)y wfrwfm fesg ofEn for reconstruction
i and Development/
(i) T ! ST
(i) o ar sfamm fr iz
), = Sy
{v.) ﬁmﬁm Choose the ct:rrﬂt answer from the options
(vi) Sedl HTH given below:/Ter ew 7u Rreedi & @t sve & r
(vii) SIS qUIF Al TG e
ﬂﬂ:ﬁ?ﬂtglﬂ‘ﬁi’l oo (a) (A)- (IV), B - (1), (C) - (I11), D = (L1
Note ~ %73 # ©RI 17(1) T €, 7@ W 379 & i (b) (A)- (I), B - (IV), (C) - (). D - (111
A 21 A AfE ¥ gt 98 2 = | gafua ag (¢) (A)- (IIT), B - (I1),(C) - (IV), D= (1)
2{31)§I (d) (A)-(IIN), B - (IV),(C) - (1), D= (1)
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Ans. (d) : G-I F1 gA-11 § W e - B. | feie afwm V. | Fomgias &9 &
Tl -1 s
A. | Setemd uRAE e | 1L | 1956 C. | sfaan fofma I | adam  sfvera &
afafter e atm
B. [ sz gamiz | IV. | 1960 Tl & T
LAlIELRE] D. |sm wum (= | ) EEE g e
C. |awd seomgem st [ 1L [ 1967 HESCHIE | b/t @
AT  Egcal ) (F1-TTF)
D. | gzerere a R fdmaE (1L [ 1044 W F & fau gz
wE SqeTiz ~ YA\ W Fiftm siw
67. Match List I with List IL. 68.%  Mateh List | with List I1:
List— 1ga- 1 | List- 0ge- 1 o [\ 9= 1 & wa gt o @ e s
(A) | Bouns _ (N Invitation (o eXistifg List — I/g=ft- 1 List — 11/ghit- 1
shares/aTTH sharchaldis to Ohjectives of Economists/
39 _-purl.lmsu additional business (arefyTret )
| figw 511un.sEIT1'ﬂFl firms/(SAGETT &H &
7 s wli @ .
ST (A} | Long Run | (1) Marris,
! e i Survival Rohin/ifts, A
1 (B) JDeamit . (I | Issue is made 1o -
W Sshares/ existing  members -
Ho free of charpe —
TeE &l o (B) | Sales Revenue | (II) | Williamson,
Pritat et w81 maximisation / D.E./fafaasaa
(C) | Right (1 | si oed b e “ a3
ig Shares issued by a
issuc/3TEER company to its 35l
EnLEl employees/directors (C) | Firms’s Growth | (I11) | Rothschild,
at a discount for Rate KW/ .
providing  know- maximisation b GEIEES &
how/ &= T@ i 3 ogfe = ceot
Far/fer @ (D) | Managerial (1V) | Baumal, W.1/
TEEE (A1) utility Function afrer, =y, o
YoM & & o B2 maximization
W fifm 2w m
(D) | Sweat equity [ (IV) [ Shares in clectronic mTﬁF“ beag]
share/5i9 form, =4 CAlEDE TR T
T (ﬁ'z." ard I Choose the currect nnswer from the option
HEZCH RN given below:/ Srar feu o faeea 9 wd I
Choose the currect answer I'rnm the option T WA W
given below:fist faq g fommedtt F WA IR () (A)- (1), (B) - (1), (C)— (V). (D) (1)
R Wi (b) (A)- (IV), (B)— (11}, (C) — (111}, (D)~ (1)
(@) (A)- (1D, (B)=(IV),(C) - (1), (D)~ (11T (e) (A)- (1), (BY=(IV), (C) = (1), (D)—(I1)
(b) (A)-(11), (B) = (1), (C) - (IIT), (D) —(IV) (d) (A)-(11), (By= (1), (C)= (1), (D)= (1V)
(c) (A)- (IV), (B) = (I), (C)= (11}, (D)=(D) Ans. (¢} : 1 F -9 g feE = e
(d) (A)- (IV), (B) = (1}, (C) - (111), (D)—(ll) o (© E\fl S =
Ans. (a) : T ST - E T e - ) -
@_I@ T AT (oaaaTa e & Ie9d ) ( arefymmedi)
N T Tm wa =LA a’rﬂa;rﬁaaaaaﬁfrfam L | Gaeamses, .89
Fryes Frim R B. |faga wma @ | IV. | @ima, g
En] Sfergmm
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C|wfat gz man|1 [dfm ofm Ans. (c) : T-1 5 TI-11F w4 fem = &-
faHad ST -1 (TR T - 11 (=TET)
D. | vvdra  Iugifer | 11, | R, 84 & faftrat )
v & afuwas A | i fa==m (Just in | L HE LGl m:nm o
H time system) Ham F{I{ WH & q9H
69. Match List 1 with List 11: L] qug Tl
=t 1 & T g 1w frem S AT eE m
List — I/g=H- List — 1L/g=H- I/ wEa 2
1/(Method of (Explanation/ B. | ABC Forgerar [ IV. | s @ awged
Inoventory rEdn ) (Always better F ITTF T T
Control/ =T control analysis) F YR W affFa
oo @ faftrat) foan = €1
(A) | IIT system | (T) Divided the items Tergeram
AIT fa=m into the categories b ES_NTE? : L :_{ﬁ:r %TE
in the descending " ast moving
order  of  their S = Slow moving Eﬂ.’ 7 fom &
usuage rate. a’ﬂﬁ&ﬂ N = Non moving sofiga &
@ T ¥ & & || D, | VED favemm N ECE T
ST G T V = Vital meEqel WM &
q faum &1 gofiga E = Essential MR W faws @
FE D = Desirable s S
(B) | ABC Analysis | (IT) | Divides items into |70, Match List I with List II:
/ ABC fayemo categories in the
descending  order e _ ist —11/a<-
of their critical List quﬂ _I List =117 1l
use./ T 31 I (A) | Probability | (I) (b—q)’
F distribution/ ag=.|2=9)
wEEE  sEm & T 12
o W fawm =1 P
gufiga T —
(B) | Bmomial |(II) = ’ 2
(C) | FSND (T1T) | Inventory arrive to distribution/ o= ZP("_“}
Analysis the manufacturing fegs dz9
fFSND sites just few hours ; _
fagerm before they are put © ge]:rnr:::ic (m o =/npq
o use/AIH-T distribution/
@ owA I
WH & W g9 e AR
T fafmion =@ o
T g 2 (D) [ Uniform _[(1V) NIRRT
(D) [ VED Analysis [ (IV) | The  items of distribution/ GﬂJﬂ[F']( N’ ][N I]
/VED faverm inventory are THAT -
classificd famor
according lo value Choose the correct answer from the option
of usage. /FAH-T given below:/-f=r f2u 7y faweat @ wft I &
a3 3 =@ Wi
m“"m"“ﬁ;;'m’“ (@) (A)- (I1), (B) - (111}, (C)= V), (D)~ (1)
3 (b) (A)- (11), {B) = (1I1), (C)= (1), (D)= (IV)
' (c) (A)- (1), {B) (D, (C) - (III), (D) - (IV)
Choose the correct answer from the option (d) (A)- (D), {(B)— (1D, (C)— (11D, (D) —(1V)
given below:/Telt 1 & wra o= 1 & 1%\_-"'-! Ans, (a): TEt-1 F1 -1 7 T8 e -
( )(A:) (1), (B) = (11}, (C) = {111), (D)= (IV) Lt — TR A
a - (1), - 3 - g - r
(b) (A)- (1), (B) = (111}, (C) = (IV), (D)= (1) (A)| o feawr \(D| o S nx—p)
() (A)- (1), (BY=(1V), (©)=(D, (D) =(ID) -
() (A)- (IV), (B) (I}, (C) — (11}, (D)~(I) (B)| Fwde (i o =ynpq
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C)| === =fwm fIv) NN N-n Choose the correct answer from the option

o 6= Jn[?'J[T][ N _[) given below: 3

' H2 fu T el ¥ W I @ wE
(D) | wsww= famor [(D . (b-qr i,
12 (@) (A)-(11), (B) - (ID), (C)— (IV), Lm )
71. Match List 1 with ListII: (b) (A)- (1), (B)— (1), (C) 4 IV, (=11
e foy U fawewr ®OWH IW @ wEd (€) (A)- (1), (B) - (IV)C) - WIThAD) - (11)
: (d) (A)- (1), (B) =), (C) =AIV), (D) —(III)
List-1/ g=h-1 List 11/ 11 Ans. (b): T1-1.70 - (& wd frem e 2-
(Organisational | (Features)/ ( favraamt ) W I(‘HT'TBﬁﬁF - gt 11 fvreard )
Design)/ Wit m)
liopia) | m]:...aaﬁmrw (1)} deam1 = @ 9ftad= &
{A)|lcarning () [Flexibility in the dram s wiRE SiEa
organization structure or LacKo{ M| it ;
Jeferm s structufe /AT A ufew & we sfage wy
e st e 1 % few
e kK (B) | Fmdt WA | (1) | E | e sgEr s
(B)|Spaghetti " " |(TH" |Linking of separate 7 &l

organizafion/ pars of the same ©) | frwre a1V 7=, 7w = 9, 3

YIRS W= organisation or Eﬁﬁﬁﬁ" '

3 networking of ! S'Iﬁﬁ W‘m
separate T g el I
arganisations to y=faftan & £
accomplish & (D) | ead s | ()| @ w3 & s
common gnaIJ’H'FIF{ & FET 3w Wi 38
TEA & AT qw ﬂi'g”;‘_ﬁﬁﬁ bl
F1 S 3 0 5 3 B A4l
W I A W@ Fi FZardm
F F1 @ @4 || 72. Match List I with List 11:

) Feafd et 1 % wra g 11 @ faens @it
(D) |Fishnet _ [y [ The ability to List-17gei-1 List ~T1/ge- 11
arganization/fRIH cotinually change A) | Hedgery 0| Osaka/ara

Z T3 structure and e ®
internal process to e (&)
conform o (B) | Financial (1) | Increased
feedback with the derivatives  in volatility/a#l
environmenl, /AT India/ ™A i AT
a1 A aftar fardite i o
# qﬁ"q""ﬁm . (C) | Arbitrageurs’ | (111) | Commercial
5 FRQUEAT producers/

% W4 HfgfE w78 arfnfsga: e
A F fau . -
_ (D) | Commodity (IV) | Riskless
(D) |Netwark . (IV) [Flexible, adaptable future in proﬁﬁi'ﬁ@m

structure/-Zad rearranges itsell origin/ Tt o

- quickly while M
retaining its WEl &1 39494
inherent Choose the correct answer from the option
strengthe, el given below:/=frer feq 7 fameat & Wit Iwr
FH W ?'EEE maﬂﬁﬂl:

e i & @) (A)- (1), (B) = (IV), (C) (11}, (D)~ (1)
ﬁ“a“.‘”'f’*’“ w (b) (A)-(111), (B) —(I1), (C) - (IV), (D)~ (1)
v ; (€) (A)-(IV), (B)— (I1), (C) - (1), (D)~ (11)
oAt # € (@) (A)- (D), (B)~ (1), (C) - (111}, (D)~ (IV)
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Ans. (b): TH-1 1 -1 78 faem - 74.  Match List | with List 11:

—— -1 List-1/g=t-1 List —[1/g=H- 11
— o (A) | Actual (I) | Delivery by means of
(A) | sfoem (@) (1) h I Delivery/ obtaining possession
(B) | =ra A fadrm (1] 38 &2 99 T of goods by the seller
thafa e to the buyer /faswm
- - — FAT Al W A
(€) aﬂw-ﬁi (l‘-’)ﬁr‘lﬁﬂﬂtﬁﬁm == Rt & S
(D) |Fifedt s || (1) | ArEmEm F WTH FA
Iad (B) | Constructive [ (1) | Physical handing over
73.  Match List I with List II Delivery ohf the dnnhsscs;inn”uf
=i 15 9 llmﬁmaﬁﬁm: (TS the goods by the seller
hal ™ e to the buyer /&
List-1/g=ft-1 List ~11/7=- 0l T E W A 5
(Advertising Agency (Brand/@is) Tt 1 wifos g
in ZHIBFFHETWW (C) | Symbolic (I11) | Voluntary transfer of
2020 ) Delivery / possession of goods
(A) | O&M (Ogilvy | (1) Mastercard ST from seller to buyer/
_ _ farm & &0 7% T
and Mather)/ Jirexcacy g . .
N & e @ wWhes
H WE uH .
- G|
(AiMTerE wE .
) (D) | Delivery (IV) | Acknowledgement by
_ a third person in
(B) | Mc Cann | (Il) | Nestle /%t possession of goods to
Erickson fﬁE held them on behall
= of and at the disposal
EFF_.' of the buyers./AT &
(C) Trlkay:} Grey/ (1n Eadburyﬂ' v e B 1 B L
e % i = =
(D) | JWT Hindustan | (IV) | Proclor _.‘.md aa_m #it AR A a-fn
Thompson Gamble /81X gu fom e it @
Associates /S LLERULER Choose the correct answer form the options
=g & fegmm given below:/ =frer fau mu famredt & I
gfres AT W =TT i
Choose the correct answer from the option (a) (A)-(1V), (B) = (1), (C) = (II1), (D) —(II)
given below:/AT<r fou o faweat ¥ Wit I =1 (b) (A)- (1), (B) - (IV), (C) — (), (D)—(111)
O HITAT: (c) (A)- (), (B) - (1), (C) — (IV), (D)~ (1)

(d) (A)- (11D, (B) = (1N, (C) - (IV), (D) - (1)

A)- (111, (B) - I1), (C) - (IV), (D)~ (I :
(@) (A)- (1. (B)- (D), (C)= (V). (D)= () | e e e S e ey

(b) (A)- (11D, (B} = (1), (C) = (IV), (D)= (11

(c) (A)= (1), (B) = (IV), (C) = (1), (D) =(111) TEit-1 - 11

(d) (A)- (1), (B)= (I, (C) = (), (D)-(IV) (A) | arafas gl | () | Bz wa @ o@ &
Ans. (b): TA-1 31 TH-1 T 70 fae= B g- T & e qrE
it-1 ( RrgmoA werEt 2020 g=- 1 (B) | waieseh qyn [ (1V) [ et R el Tt @t

#) (wmz) 2}‘ il iy ‘?"Tfh

- - L a_E" ﬂ'i_rﬂ- [l 34']'{
(A) anrc?mtm(anﬁazﬁ (111) | Feht % fr T ) @

T ) (C) | i | (D | Faear 2 A 31 wra 1
(B) | &= &= tRaw () | ar= T Bl 3 oo )
(©) | frFmn 7 (IV) | sz vz e W &l
(| F =g dfegmm | () | = (D) | (1) | fean & a1 7% W &

AfrqE vInfaue Tl H wfeos AR
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75. Match List I with List 11 : 76. Arrange the following countries in the
=it 1 3 Ty g=h 1 e Fafa; ascending order of their contribution to the
: " WTO budget 2020:
List-1/g<-1 List —I1/g=it- 11 ~ -
{:; - “']5 —— _ Frofaias v @ gsg & ot aWe 2020 §
Section eduction in T styrer ST wm
EE/ respect of rent paid ) & 3 o i
T RO EE W i fem o (A) Chinas=fi=
fF & day F (B) Japan/aTarT
i (C) Germany/Sw=t
(B) | Scction 80 | (1) | Deduction in (D) United states of America/8gw T
GG/E[T 80 respect of certian arafta
GG donations for . . .
scientific researches (E) United kingdom/ 1323 fehmrem
/ﬁmﬁﬂ: Q‘i'm ‘Eﬁj Choose the correct answer fur'rn t_‘hc option
fave e+ & 99 | gil'enheluh:mﬁ'ﬁ'ﬂ_mﬁmﬁﬂﬂﬁm
T2 & ST wITAT:
(C) | Section 80 | (111) | Deduction in (a) (A)(B)(D).(E) and (C)/ (A).(B).(D)(E) 3/
GGA/ respect ol inlerest {C)
T 80 on loan taken for (b) (D)(A).(B)(E) and (C)/ (D).(A)(B)(L) T
GGA residential house / (©)
NI & W el (c) (E)(B){C)(A) and (D} (E)(B)(C)(A) 3
fau, o Fwor W = (D)
F Wi 7w (d) (D)A)(B)(C) and (EY/ (D)(A)(B).(C) it
(D) | Section 80 | (IV) | Deduction in (E)
I /ar 80 E respect of payment ||[40 () WTO a2 2020 § fatwa 2wl & 9%
of Interest on loan 1| e & seymm smidt wa & 2wl =1 o B #-
taken for Higher i e '
Education /3e=dt |||() Fes fdmew - 3.785%
femm &g fow wo (|| SOE - 3.925%
O W FAS F GA (| |Gi)) TR - 7.149%
T T (iv) o - 10.303%
Choose the correct answer form the option ||(v) Hﬂ’rﬁlﬁl it - 11.691%
given below: ﬁﬂ;m{ o T I 77.  The assets of the Partnership firm, including
EREEQIELE any sums contributed by the partners to make-
(a) (A)- (1), (B)—(1V), (C) - (1), (D) —(ILI) up deficiencies of capital at the time of
(b) (A)- (1), (B} — (1), (C)—(11), {D)—(IV) dissolution, shall be applied in the following
(c) (A)- (1), (B)- (1), (C) — (IV), (D) (1) manner  und  order =
(d) (A)- (1), (B)=(IV),(C) = (111), (D)—(1) gftwafret @, fad faees & woa dsft =
Ans. (b): THt-1 & FH-11 § T e 1 &- WU & & AU wEe gnn anegE @
-1 - 11 afyrat witafew €, foafafas yer g &0 F
(M| wmsore || FEam & vem g fo wEHT g
™ WU W A # (A) In paying cach partner ratcably what is
¥ due to him for advances as distinguished
i - _ from cnpitalJ"iTlﬁ | fas g aifing iyt &
(B)| %180 GG () | g fam ma fag T SN S G AT YA HE
F AE H T2 . o
_ _ _ (B) In paying to each pariner rateably what is
(€)| =m@B80GGA | (1) | FfT® T %ﬁm due to him on account of capital/daft & ar=x
& T ] T T F W EHER W AN YA
E 7 HET
(D) uW 80 E (IV) | 3= femn &g fam (C) In paying the debts of the firm to third
T T WS F parties/ 37X Tgil T UG & RO T AT
=Y F HE T
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(D) Dividing among the partners in the
proportion in which they were entitled to share
prnf’lsmﬁarﬁi‘imwaﬁﬂﬁ Tawfa
=T e & ow & fre v @ & geen
&
Choose the correct answer form the o
given below:/=r feu T faeeai @ @
& TG HITAC:
(a) (C).(A)(B),(D)
(b) (C).(B)(A)(D)
(c) (A)(B)(C)(D)
(d) (B)(C),(A)LID)

Ans, (a) :

tions

¥ ufyrt wfafeq €, wmﬁqmwm-

» 311 Wl %1 WS & B S

o §oft & fira st aifag, iyl ) € AR # R F
-qaﬁa’ammnmmmmﬁmaﬁmaaaﬂm
TAE FFN, o
Wmmmmwﬁﬂﬁammam
F fetm o &6 F gFan 4

0 fase § faFes (a) 7 1

78.  Arrange the following market structures in the
increasing order of the price elasticity of

products:/FreafafEs am= T =Tt & I@mEt

gl wAwE @ oteafEa @ e fRaea| |
L%m@a‘rmmmmmmmaﬂ“

79. 'The cash flow approach to assessing dcht

capacity involves the following steps; arrange
these steps in a correct sequence: 70T &THAT
At ¥ Fwd yag Ium 7 Ffafaa
mmﬂ!aﬁlstrm”aﬁnfrmﬁﬁ.maﬁw
(A) Specify the toTenn:e lmul on the
probability of defaults/J%h &1 @1 ATAEAT W

mﬁﬂWMMl
(B) Lvumale the pmhatuhh distribution of
__cashw flyws, Making into account the projected
pecformimnce of the firm. &
\_ ST #t e # T gu Awd vas &
wurfer famm @ AmwE wEeT
(C) Calculate the fixed charges by way of

interest payment and principal repayment
associated with various level of debtfmBuT

fafi w0 | I3 =W gmE i gem
T & Wreaw |/ P g @t e S

(D) Estimate the debt capacity of the firm as
the  highest  level  of  debt  which s
acceptahle /50T & Ie=ran THBIH

WY W FHUT GTHAT T IHAT AT
Choose the corrrﬂ ansncr I’rum the option

given below: ﬂ'ﬂ: "'ﬁ{ I
T Ta= Hita:
(b) (A)(B),(C)(D)

(a) (D)(C)(A),(B)
(c) (B)IC).DLA) (d) (MAA)(C).(B)

# Tem @ % @ = ¥ eaftea Ftag: [ |Ans. (b) @ T KA SEEA o Adel Y9w 390H H
° i wiefaa i &1 58 &9 -
A) Perfect competition wiereqet .. .
:Bl "\-lonnpn]yﬂ[;rﬁmiﬂw o TF TH 31 TOEA W AR I F) g AR 5w
o M o N o T & arglm & fremeA @ o | @ gy ARl &
(C) onopolistic cumpemwnf@-‘:llhﬂilﬁﬁ SN R T ST T
e o TN F ffim W R YT W yWR AR g
(D) Oligopoly/3TaTieremrt T F AreEn @ frA s # e
(E) Duopoly/gaiirat o U F Feaan WEd R F w0 o ) Ow e @
Choose the correct answer form_the options ||3fiFe ST
given b?lu“‘:mmwmw% aml quﬁm[hiqﬁi|
mmaﬁﬁm\; B0. Arrange the following steps of formulating
(a) (C)(D)(E)(B)AA) research proposal in a logical sequential order.
(b) (B).(E)(D)(C)(A) f9Te g g Fomfur & e.qérq&gq Ut ®l
(¢) (CLEWD)IA)LB) u_maﬁmmwmaﬁmﬂaﬂﬁn{:
(d) (A)LIC),(D)(E)(B) (A) Defining Research prnhlum.ﬂ'h’u T H
Ans. (b) : TR T3 F IE ) [ G & ) TRATT T
wF IR ~ (B) Formulation of Hypothesis./dT&=hed=T 1
o THIEER fogfor
o 24T (C) Review of Iilerature.m'l'@'ﬂi 'ﬂ'ﬁ wfie
o TR (D) Collection of data/3THST T HIE
SR - (E) Research design/giTer atfanea
Freq Choose the correct answer from the option
o i given below:/ <=1 fqq my | [ I
: faed (b) 78 8 T G WA
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(a) (A),(B),(C)(D),(L)
(b) (A)(E)(B)(C),(D)
(c) (A)(E)(C).(D),(B)
(d) (AXL(C)(B)(E)(D)
Ans. (d) : 39 YEE & Fmior & e 1w w -
.
i 3 i

J

WFFeaT &1 famo

\)
v 3AfiEed
\)
HiFel o1 AR
Arrange the following stages of the process of
organizational change in the sequential

order:/ATTEATwS ghadT it & feifea
T ! hAAT S i
(A) Detailed consideration of the proposcd

change/ weTTiam uftasd= ot fawga fa=m

(B) Collection of detailed information and
development of alternative approaches in
relation to the problem or issues/ AHET 37TAT

e & an ¥ dofeus gfeair fawfaa @
afir farege g wWoEw
(C) Evaluation of various alternatives and
framing a proposal/ fafursr faseul = geate
3R U YT AW AT
(D) Vacalization of the need to change/aftasd=
W ATETAHAT o A § AT
(E) Search [for the main cause underlying the
symptoms encountered/ 9T
& w0 i @
Choose the correct answer [rom the option
given below:/~a feu U fasheal § & W& I
T TG HTAT:
(a) (D)(E}(B)(A)(C)
(b) (DYAMENBIC)
(c) (ANELD)IC)(B)
(d) (B)L(E).(1)(ANC)
Ans. (b) : TEAE gftady & 9fFa & wEn Sattn
W e
o Uftada 3 anavgsa F an § dem
o WG Oty W fawga faan
o NI TR & AR 7@ F A g
o TR UG g2 F AR 0 dafers gfeRm e ae
3R fawgm g1 TwEm

81.

82. Arrange the following steps, in a logical
sequence of debt recovery by financial
institutions through Debt Recovery Tribunals
(DRTs)?/0  ae I (DTR) &
e ¥ T demid g omm oaget &
frefefaa o i arfdes @0 o sraftae =i

(A) Restrain him from dealing with/disposing
of the concerned assels/propertics pundi_nﬁ at

the hearing of the application.
Rrefaferai fefat § e W I TR W
Tk AT e & 3Mee=-us & gAam 7 ¥

(B) Direct him to disclose particulars of
properties other than those specified by the

applicant bank./aTdga da grr fAfde dufaar
& Afaftvs = wufwar =1 fafire et &
geTEn FA & fog 3 i

(C) Show cause within 30 days as to why the
reliel shquld not be granted to the bank/30

& ey &N Farn fh @l ge &= A
& s
Choose the correct answer the oplion given
below. few o T HEl 39T &
g witag;

(a) (B)L(ALC) (b) (A)(B)(C)

{c) (B)IC).(A) (d) (CL{B).(A)
Ans. (d) : O TE0 AETEEOT (DRT) & 99 |
fafra wieansil 2 v agell & omaftam F0 T -
e AT IO F ST Fr g A D
|
o AEEEH/A% a0 fAde Tafed = #fafts s g
7t fafte STt @1 g &3 & foo 3@ e &
o /AT g fAfde gwfedt & sfafts s aefad
7t fafere st @1 gorm @ & fou 3@ fde T
o 30 waRA sfarf e § e &6 W T e
R & @A 53 a9 & e -1 3 gTan Tl
83.

Arrange the following steps of market
feasibility study in the sequential order:/@To{

THEETHAT TEAAT & (=ifehd w0 i HAa
=afted i
(A) Based on the cost and anticipated sales

revenue, calculating the break-even price and
the sales volume./@ATTd

@ W oamaia ey i ein R

TRETT S FTOET e §O

(B) Forecasting sales, based on demand
estimation and competitive analysis.
qatqes, " s i wiert w
amaRe

(C) Estimation of demand in the target market,
ol different price levels. oA W WA
argum, firsr wivd @

(D) Estimating the cost of serving the market

L , segment./@ER ©T arEvaEAT gid
o fiifira i @ qegiad 3l o w@@ dER ) T T AT
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Choose the correct answer from the option
given below:/ATer fay T faeredt o ¥ WE I
T AT wifau:
(a) (D)(C)L(DWLA) (b) (C)B)L(DXMA)
(c) (B),(D),(A)(C) (d) (C)(B),(A)(D)
Ans. (b) : TR FEIET AT F Tl FaAtad 0T -
o Ao am # i s, frm @m0 T
o famg qEigEE, Wi wEE i sl e w
I |
o AR GUE &I HATEEAT G Al AT F A

(3= Sl g gfomT 1 WEn 3 gl
84.

of patent in a proper sequence:/¥e=. 92 &

it Frafafen ;r&‘am & wgfaa FHTTAT

TG

(A) The true lln.q"-fu;st uwner shall apply in

FORM-I and legal representative of true owner

_ shall dpply In FORM-1l/aTeiias @ wom w@md

{_gas F ardgy wom i avmtas @l @
\ faftr wfaffe yreg-11 o endew s

(B) A complete specification shall be filled with

fee of 50/- within 12 months from the date of

filing of application/3Md= fafr F 12 g &

it sowwd & Yo & Wiy wyut fafadee

| g

(C) The first inventor of the work who claims

to he true and first owner or his lepal

representalive/@TETdaE &4 1 21aT HT T,
F & YAN arEua 2 wuw w@ndt ataar
I fafte gfarfin

(D) For ecach invenlion scparale gppligatim:l for
a patent shall be made I & YT h

fow s & smaea fmar wmgrm
Choose the correct answer form he option
given below /et feu fameat @ @ Wl I
T TG HITAT:
(2) (A)L(D),(C)(B) (b) (C)(D)(A)(B)
(c) (B).(A),(D)(C) (d} (B)(D).(C).(A)
Ans. (b) : WU W& FT 3 Swar T WE 5w -
o drfa® @9 T AR FA N, w1 @ 9w A=
IR wem @ s I fafis sfafefi)
o VOF TN F v F faw sem ¥ smEda fEn
AW
o TFEfEE @ WM T OYEU-] § 3EET om 3
arafas @ @ fafus s wew 1§ smEE som
o 3 fifa & 12 R & w50 799 & ok & O
arquf fafrdere o smm)

o T 3T S Fe e s ww faes|

Arrange the following procedure for the p.ra.nt

85. Sequence the steps for computing depreciation

in income from Business and Business and
Profession:/S7a8Td Td U9 ¥ 3 arell 3@ o
BIE & UL F SO Y WHEE g
(A) The written down value of eacl!'bluck as on
the last day of previous H:Hr{ﬁﬂﬁ' e &
aife = ¢ woafr = mﬂarl’uaw
(B) Find the walue .of each block at the
hc;,mnm;, ol cnch year(gl ad & YA o ]
wwfHa, e Eal

& "(C} The moncy received along with scrap value,
l[ any in respect of the same blocks, which are

Nlol/discarded during the year/ad & drrT
wmfy #=f/gerd @ &, 396 deEu # srafe
e, AfE &3 &1, & Wig Y G4

(D) Assets required during the year in the
respeclive blocks to which the new assets

helong/ @4 & e wwwn: 3 wwfwal & ferg
smavas  wfidufwal faad w8 ufiwiafal

waftra gt §

Choose the carrect from_ the option given
below:/AiRt fau T feeal & & | 39 @
== i

(a) (A)(B)(CH(D) (b} {B).(D),(C)(A)

(c) (A)(B)(D)(C) (d) (D),(B),(C).(A)
Ans. {h} SEAY Ud 99 § g aell 3§ g| &
AT & FEEE Tl -
o g0 & WO § g wel & g 3w
e F A FEHW: I FWd F fau enavys
fcmrafer famd 8 oftamfaal mratam e 8
o T & I W WA A9/EEE S 8, 396 weEe H
yafre g, oft @ &, & T 9w e
o figel 7@ & 3ifam g amfa #1 sofefeEa gen
B6.

Given below are (wo statements, One is labelled
as Assertion A and the other is labelled as
Reason R/AE 21 Haw feu 7o &1 ww srfasa
(Assertion A) & ®0 W fafga & 91 a0 396
U (Reason R}% BTAW :

Assertion A: Foreign investment is playing an
increasing role in economic development and

contributes to a significant share of the
domestic investment, employment generation

and exports.

diirwea A ; Tagelt frawr st Rere o
siftretires gftrer Tt & T £ afir =teg
frder, et gee frafa ¥ weegnl arege
& T

Renson R;  Substantial  increase  in  the
magnitude of capital inllows have remarkably
improved the balance of payment and foreign
exchange reserve position.
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In the light of the above statements, choose the

most appropriate answer from the option given
below: i?wﬁmmmﬁ;an?—hmﬁ = fg g

faeeul # & TEW IUYH I A TG FHiTAC

(a) Both A and R are correct and R is the Lnrrecl
explanation of A /A 3 R A T € 3
RA &I 5@ same g1

(b) Both A and R are correct and R is NOT the
correct explanation of A /A AR R AT W €

3 R,A FT T e T8
(¢) A is correet but R is not correet /A TR 8
AT R 78 4 21
(d) A 15 not correct but R is correct /A wE T 2
@ R 98 21
Ans. (b) : AfEaT - A - fagsh faw anfds fawm @
Hfifes v fak @ w© 8 o o faw, Tm
gor a fafa & meeqol 9em = w@ @1 e Rar T
Hfirmem (A) T €1
m[l{)—tpﬁaram yae & famn § g gf&
ﬂg‘ﬂ ﬁmﬁgﬂmﬁﬁaﬁuamaa#lu
gunl?:ﬁm
o femm T #ROT (R) W@ R Uy AR (R) A

(A) &1 &¥) =are =8 a1 @ 2
87. Given below are two statements:/ =l g &=
fo 7 &1

Statements I : If firms are disproportionately
powerful, the market leader makes the first
move and captures two-thirds of the market
share, while the follower firm gets only a third

of the market share./

wHa | ; afe vl i w9 § vifvh vet
%, @ arat = suft wf s aget T &
a-fagd e W awer afrew W o &

safs ot v FEw aen % uw fend

frer o7 atitrew oA =T Ut
Statement 11 : Oligopolistic firms do better by
cooperating than following its dominant

strategy.
waT Il : gt (yarer ) T storer @ s | [T

Wears fife A | areafiremfia wEl
o1 e age g

In the light of the above statements, choose the

(d) Statement T is incorrect but Statement 1T is
correcUEaA | Teid 8, @fdd FaA 1 @8 21
Ans. (a) : T24-1 : af o R w9 ¥ niwwreh
¢, fl AR & st of Wi s TR & &-fer
et o svae afegr s o & wafE Al o Saw
R & UF [ fee w sifvEn s & 9 2
3: faan T Fam-1 w2
Fa- 11 : gl (Yae) WHIT s @ ST wedned
Hfa argem § el w0 @ FeEa e d)
I FA-11 T E
88.  Given below are two statements. One is labelled
as Assertion A and the other is labelled as
Reason RyAEr @ wuw few v &1 =
afirepa= (Assertion A) & wu u feflas 'E' ar
qmr:ﬂﬁsm (Reason H)%Tﬂﬂ'ﬁ ;
Assertion A : Mean deviation is about 80% of
Standard Deviation,
e A : g faaes Ame fauas @
T 8 0% BT &1
Reason R : The quartile deviation is about 2/3
of the Standard Deviation.
@MU R: wqde Rreew omew fawew @
T 2 /3 BT I

In the light of the above statements, choose the

correct answer from the option given below:

IAUh HUA F A |, Hiar 3y o fawedi

® § Wad IUYTH I H A Ay

(a) Both A and R are true and R is the correct
explanation of A /A 3 R 1 &1 g #R
R,A 1 T =me 2

(b) Both A and R are true and R is NOT the
correct expiation of A /A & R @1 W §

R R,A T T = A 2

(¢) A is true but R is false /A Té & fF R Tl
8 21

(d) A is false but R is true /A T&1 781 & &fF R
T &

Ans. (b) : mﬁ‘{aﬂﬁ—A e ferae oFe g
TR 80% BT &1 37 3T — A TE

- R : =pd® faaem am fawem @1 e 273
& 21
wa: fem T wmw (R) @ 2, W FW0 (R) afA
(A) = TET T TE 4 2

most appropriate answer, from the options (g9, Given below are two statements:
given/ - HEA & d, few g Statement | Capital market plays an
foraneat o ¥ waw SUGTh ITAT R 994 @i important role in mobilizing resources and
(a) Both Statement 1 and Statement 11 are correct diverting them in productive channels.
[T ] 1l 3T = 2 Statement [I: Capiial market is a market
(h) Both Statement I and Statement IT are where buyers and scllers engage in  trade of
incorrect /a4 | 31 || 2ET T&d 21 financial securities like bonds, stocks, etc.
(c) Statement 1 is correct but statement IT is In the light of the above statements. choose the
incorrect /&4 | TEl -3 T 49 11 7o §| correct answer from the option given below:
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w11 ; Usft AR ag Ao § WEl sher

ferdke fereira wRmforall Sy @fve, Wi aNfY &

TR | der &t £

IWTTH FUT & AErE 0, e fou mu faweat

o | vad Iugvh IO @ FGT S

(a) Both Statement | and Statement II are true
YA | 3R 1 &HT w2

(b) Both Statement | and Statement I are false
(& 1 3R 11 EF 7o €

(c) Statement | is true but Simclmm Il is false
[FIA | TE &, A T 11 Ted 2

(d) Statement 1 is false but statement II is
true/Fe | T 8, il w9 11w 2

Ang.(a}.m-l.mmmm@mafaﬁ
I i AR et gfter @ el e & o
&9 | WEl 21

F ~ 11 : G Ao 77 @ & Sl S a fee
sfiferat S A, wiE R % AR § e e g
A F-11 T

90.

Given below are two statement: One is labelled
as Assertion A and the other is labelled ns
Reason R.

Assertion A : A, the owner of a ship by
fraudulently representing her to be seaworthy
induces B, on underwriter to insure the ship,
Reason R : B can obtain cancellation of the
policy, as it is a fraud on account of
fraudulent  misrepresentation  under  the
contract act.

In the light of the above statements, choose the
correct answer from the option given below:

o @ wow fm € ww srfiemu

(Assertion A) & ®u # faftge § &1 gow I0&

TR (Reason R) S BAH :

st A ; ferdi g @ =T <A I8 B

T gyEETE gar & JiE B R W

#fiar & @t Jfita wE

WU R ; *B’ QiteTHT &t & U & el

t wifs dfeer sfufrag & afeda wweqel

TAAGATT & = TF HIS §

IUATH HAT & Aew |, Hrar fu wu fammear

o ¥ Wad I0g I H AT HA

(a) Both A and R are true and R is the correct
explanation of A /A 3 R &F1 W&l & 3 R,
AT = 3

{(b) Both A and R are true and R is NOT correct
explanation of A /A R &1 @ & 3 R,
A T Wl AT T £

(c) A is true but R is false /A W& € @ R T&
T €

v

(d) A is false but R is truc /A T& 7RI 7 2 dfT R

Td &)

Ans. (a) : ATELT-A : F Fo9 F @ A H BE |

A Fw 1 3 AT - A W 8

FT - R - B Uferd & PR e S w8, it
das sHfufram & sefa ozl Tem a9 & Ted a8
FYZ E| 3 WU (R) W @, 3 FWW (R), i
(A) BEl =N a4 g1

A AREE B & W@ & A & F

91.

Read the passage and answer the question
Recuperating of the impact of Covid-19, India
attained 13% growth boosted by investements in
the digital sector. Infrastructure and energy deals
also propped up M&A deals in India. As a result
India could achieve 13% growth in Foreign
Direct Investement (FD1) in 2020 Amidst global
collapse, China is the only other country that has
shown remarkably high FDI growth.

An ‘investement (rends monitor® issued by the
United Nations Conference on Trade and
Development (UNCTAD) pointed out, global
FDI collapsed in 2020 by 42% (o an cstimated
USD 859 hillion from USD L.5 trillion in 2019.
China and India were two major outliners in a
gloomy year for foreign direct investment.
India achieved positive growth (13%), boosted
by investments in the digital sector where the
investments continued, particularly through
acquisition. Cross border M&A grew 83% to
827 billion. Infrastruclure and energy deals
also propped up M&A deals in India. Indin and
Turkey are attracling good numbers of deals in
IT consulting and digital sectors, including e -
commerce platforms, data processing services
and digital payments. In terms of individual
mations in ICT and pharmaccutical sector,
China was the world's largest FDI recipicent,
with flows to the Asian giant rising by 4% to
§163 billion. Iligh-tech indusiries saw an
increase of 11% in 2020, and cross-border
M&As rose by 54%.

“Although their investment activity slowed
down initially in 2020, they arc now set to take
advanatge of low interest rates and increasing
market values lo acquire assets in overseas
markets for expansion, as well as rivals and
smaller innovative companies affected by the
crisis.

few ™y i @ wargds wiw eft ARagT
BH T IMUTAA §9 &7 39T S

FIAE-19 & YaTa | Jalaw @Rl @ U
B¢ v 7 fefid g & fdor @ @ we
13% @t ghg T wiw &N EEteqT @ Fai
HHEEl @ i 9d 7 UH Ug U &l 9N e
R Tawy year fageft A (uw # ag)
& & | WA 2020 W 13% ghyg WA W HH
s e & drar, I @ T arm S &
o Ieera-ra uw & anE gig weivia = €1
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TR @ fawm et dgw g F wwes
(3twerg) g wnft ‘gREde €T it &
FTAW 2020 W Afye uwdnmd W 42% =
firae amé afr @® 2019 W 1.5 fefeaw
ST ST | uT & w859 faferam
amfrat e w® mE eyl wew fraw &
frmyme=s o § wnw oft < & 2 wpa
afgatdr &

aa + fefeda g & e & aeEr ae
WS gl (13%) WIe =1 39 89 9 fav
T siftmger o witg feer BN d-uiE
afr w & 83% gfiz 3 afw =% $27 faferaw svew

B AT EHTA A FHar Awgar @ off W |
uw afit v woghat & wam faem g a g6, |

favn v -ahrw wewd - 2a-gdasto
Hara aft fefeedim Wﬁfﬁﬁmﬁmﬁ
afre fefedta & ), ﬂa&ﬁwumﬁﬁaﬂ
T &1 i F TR G § - ST
& WU o, Wra @ vEreTa 39 T uwEtamd
-..ummf%wﬂiwr{ﬁmumwaﬂrm
'-:_,,zra:.mirm 163 faffas sy TEr @
v T e IOvn ¥ 2020 F 1% &
gfg ¥ it dr-urfm uw aft @ o 54% =t
Licd o
Tafy I Fraw nfafafieat § 2020 & o o
W e, Ay o | frey = 6 ofw a e
e o gfig =1 @ 3ar o faeam & fog waE-
urfra @t § uftmmfar & sitnmger oft g
W ywfaw yigdt @ @9 Fdwd SufE &
FrftrrguT & U AT B R B

Which country outlined in the world in terms of
FDI inflows in ICT and pharmaceutical sector ?

A af i g W uwEeng yag & wav
W fag o ferm 291 o1 yeviA waod @ &7
(a) India 9T (b) USA/z7iiEn
(c) Israel/ZsHEd (d) Chinasdia
Ans. (d) : TIY F WWR W IRMA. T w7 o
A, \r F TRy 6 faw § 9F 2w @ v=vh
LERLET A
91,

The author opines in the paragraph that which
of the following has helped to acquire assets in
overseas markets for expansion,

TV # TEE & WA fawn & A wE-
it ST § At & rfumge & o
Frefafas w9 fomrs weram fief &2

(a) Low interest rales and increasing market

values/F= =M @ 3R a7 g SR e

(b) low per  capita incomes and  high
resources/fIe1 Wi @fF 3ma 3 3= Fanm
(c) Attractive markets and averseas

valuations/ 4T AAR a FYR-UEA FJedi

(d) Governmental support and incentivization to
promote cross horder trade/SIm-TR SR
Al &4 & fo T e 3 g
Ans. (a) : m&mmﬁmaﬁqa&:m
AR § it e F fﬂq ﬁrl:l m at 3
TR qed | g & gl 3 |
93.

Annual incrmsddecr.tﬂr-l.llu Tndia’s annual
i mllmu and Globalflows, respectively are :

uT | qurﬁ-m—g} & stmyae oft A=
I{ure.'tang m Tt gfg/fimae @u:
R
% () USD 27 billion and USD 163 billion/27
- fafgga amiE =R T 163 fafems amdEd
TR
(b) +13% and —42%/+13% HIT —42%/
(€) —4% and +11%/—4% 37T +11%/
(d) Dala nol available/3H2 3902 & &
Ans. (b) : ¥&T W & MR W T 7 FDI & 3
YA W/ fuF FDI ¥ER § aifE afe +13% iR e
-42% W &)

94. Indin and Turkey are attracting record
numbers of deals in
ane f @t § Proafafee § & feg g o

st e TR R €
(a) Overall production/8§9H FrUEA
(b) 1T consulting and digital sectors/E} quayi

7 fefordig &

(¢} Pharmaceutical and allied sectors/FMf &
TEgn &

(d) GDP and Per Capita Income/SIEId & WA
=in WG

Ans, (b) : TEE & MR T ARG HAR qE faeEE 5

ofem, Ayl ok e &6 § s Jem §

9 L E €1

95.  Which statements is not true about China?

Prfafias # 4 g & d6u § @999 @ sax

@ A g2

(2) FDI inflows increase by 4%/UGSIE 3:
WIE | 4% a1 9f& 7¢ @

(b) International M&A increase by 549"0"3?@?1?!
AT s A I d

(c) Highest FDI in ICT and Pharmaceutical
scctnr;’-':‘r:l'l’;"{ﬂ?ﬁ 3ﬁT AT E:-':':! T S=anq 'Q'H'Eci'ﬂ'l'f

(d) USD 1.5 Trillion sized economy/3rd=a=ean &
FR 1.5 Rfam sl s

Ans. (d) : TS & IR W G & sderEv @ amEn
4% T Tg 163 faferm efE e 2, A fF 15

feferas e 21
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96.

Read the following passage and answer
question in the most appropriate manner.
Management theories help organizations to
focus, communicate, and evolve. Using
management theory in the workplace allows
leadership to focus on their goals. When a
management style or theory is implemented, it
automatically streamlines the top priorities for
the organization. Management theory also
allows us to better communicate with people we
work with which in turn allows us to work
more efMiciently. By understanding
management theory, basic assumptions aboul
management style or theory is implemented, it
automatically streamlines the top priorities for
the orpanization. Management theory also
allows us to better communicate with people we
work with which in turn allows us to work
more efficiently. By understanding
management theory, basic assumptions about
management styles and goals can be assumed
and can save time during daily interactions and
meetings within an organization.
Theories can only reach so far, and
management theories are no exception. There
is no such thing as a one-size-fits-all
management theory. What may work for one
organization may not be relevant for another.
Therefore, when one theory does not fit a
particular siluation, it is important to explore
the option of developing a new theory that
would lead in a new, more applicable direction.
While some theories can stand the test of time,
other theorics may grow to be irrelevant and
new theories will develop in their place.
From the late 1700s through the early 1900s,
the Industrial Revolution brought
extraordinary change to the workplace and
forever transformed the way companies
operate, The Industrial Revolution broupht
better and  faster  technology  allowing
companies to perform more efficiently than
cver before and gave them the ability to
dramatically inrease their output. In order to
meel demand, company leadership had to
ensure their employvees were productive.

TRIYT & U W & IUH
I :
yeEuT TagAT @ €81 & SATTh0, Hieur a
o o wera faedt 1 e @ yEe
fagia & yam @ Ag w gEd wiad W
T Shigd o1 UTAT §1 9 g Uae= Yielt ar
fagim wdfan fmar @@ &, & @8 @4 &
e & vid wreafireraradl o srafem &t 2ar
Ty fogiv § 79 o wWedEl € Age
dWag & uw § e ga gw o
WHWAES W & U 1 yau fagia &
uEe ® yEue Wied of w@edl & Oe

s @ W wEd § it ged e

WA & aigy g arelt efte deat & I
W W Tt 1 frgit 2 oreft W deh &
it yeae fagia g Jrwag 7@ 3 T &
wrelt § ool wm wmd S & yEue fogia
¢ & UE dva § e 91 U dea & e
HON § a% AL & fT g A g gaf
wa u fugia fmht fang frafa o & 7 &3,
A amavas ¢ 5 Av faga & faeew &t
AT W W S ¥ e warew foom § o
Wy W& T Ho frgia awa @t wEE w at
I AWhd £, 34 gl & it g W
@ wuE § i IWe wmm w Au fagie
faafaa g

g E H A H aul A 20l FHA H YW &
wdl @& afreifites wifs @rdrare W sramamor
Tftada weRt o afit gHum & few IEd
wHufrar @t wrdyuTer @ waiaita & feam
sfrefis wifr & wig agar ofr daew
Toeret amg fama dfal ww fadt oft
wow | At Wewwgde wrd @ e
& o 3 I3al s swar ° st
gfg g1 uim 7t amgfd & & fog ot g
= wiafira @ vgn fs aafandt Iemes o)
Given below are two statements @

Statement 1 : Management is the ultimate tool
for achicving business poals,

Statement 1 : It was management only which

initiated industrial revolution.

In the light of the above statements, choose the

correct answer from the options given below :

Hrar g1 wa faw g &

HUT | ; YEUR STaATd @ FOUTE A

arfaT IuaRTo §)

HuT |1 : 9% weua @ o1 o e wite

& gy e

3T HAT T TS #, A fag m faraedt

W ¥ 9ad IUGTH I A TG i)

(a) Both Statement | and Statement 11 are
true/@2 | 31T 11 2MT W8 £

(b) Both Statement I and Statement [I1 are
false/@a= [ 3R 11 &1 e &1

(c) Statement [ is true but Statement II is
false/@ea | T8 B, ofFA Fo 11 T 21

(d) Swatement | is I‘la_sc but Statement [i is
true/@@A | T 8, ofdd S 11 T &)

Ans. (¢) : FUA-1 : WY AAEE A & A S FH
S ITFAT &1 3 M & IUN W F54-1 98 8
FAA-1 - 92 YA & 4 fomm v s o g
f&an 3@: T F SR 9 FEA-11 T 21
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97.  What helps leadership to focus on their main goal?

TWEIYT & ST T AT [T T W
v Hia we W feRwd wgraan fierdt £2
(A) Management theories/Sae fraia
(B) Organizational structure/HM2AE TG
(C) Inter personal relations/3iFdafa gay
(D) Effective HR policies/SWd! W=a womad Fifaal
(E) Government Directives/TTEHmH] feem-fadw
Choose the correct answer from the options
given below :
o fEu T fawedi § # SUGY I @
U I
(a) (A), (B),(C) unIyﬁ!ﬁﬁ (A), (B), (C)
(b) (B), (C). (D) only /a4 (B), (C), (D)
(c) (A), {Blonlyﬂﬁa (A.B)
(d) (A) onlv/East (A)
Ans. (d) : T & ammﬂfmﬁmmmmm
YA ¥ e mn@?&ﬂ?ﬂt’mmﬁ:ﬁrﬂm%|
98.

[

In the parageaph,iwhat is meant by “There is
‘no such thing as a non-size fits all managmenct
" thégR "’
ar;],ﬁizﬁ "@z&@?ﬁﬁmwm afr
Vo yau faga @ g s = £ 7

(A) Management theorics keeps on
changinp/way= fagia TEd &l

(B) There are different theories for different
situations/Fo=-fi= & fog firm-
firm fagia

(C) A business can’t _Brow ﬁ'islhoul
management theories/FEi—

o= saaTa 21 & 9 9T g
(D) Management theories are non-scientific/
|
Choose the correct answer from the options
given below :

frer fag g fawmedt § | Suges Se @ AT
it

(a) (A), (B), (C) only/&ae (A), (B), (C)
(b) (B),(C), (D)) qnlyﬂﬁﬁ (B), (C), ()
(c) (C), (D} only/aa (C), (D)
(d) (A), (B)only/&9E (A), (B)
Ans. (d) : Wa@aamm ‘m & el § Wi
" W@ S &R SAeE (e e e @ 3l #
PEC] ﬁam Tead @ € I fm-fm fefd § fag
fim-firsr fagr= 21
99. Given below are two statements : One is
Inbelled ns Asscrtion A and the other is labelled
as Reason R ;
Assertion A : The industrial revolution brought
better and faster technology allowing

companies to perform more efficiently than
ever before and gave them ability to

Reason R : In order to meet demand, company
leadership had to ensure their employees were
productive.

In the light of the above statements, choase the
mosi apprnprlntc ANSWer from "Ii,‘ l'lP“I]I'l!

given hnla“ d (AN
o F wwm fw g @esiimaa
(Assertion A]ﬂiﬂﬁﬁ-‘lﬂ!ﬂtﬁf{ﬂﬂm
I (Reason Ry& &0 b 2
s, A mmmmmm
( !ﬁm‘&atﬁ.ﬁ; w & e
Eicd o
e R ;O w eyl w e % g st
9 W A% gETEE e um R adend
IAEHF B
U HUA &F Wt #, Hra fay T fraedt
T W Wa® IUGTH IV & TG Wi
(a) Both A and R are correct and R is the comrect
explanation of A/A 31T R 2T T4 & R, A &
TE e g
(b) Both A and R are correct and R I'i T\OT the
correct explanation of A/A IR R wE 8

IR R, A F1 T = T #

(c) A is correct but R is not correct/A Tl & A
R T 7 21

(d) A is not correct but R is correct/A @l 7 (]
dfEa R 2

Ans. (b) : FFTT A : SN FA F TF TR IR
A T 3 fows Frta ged e off w
T e i gfa g o dfimE (A) 7l 2

WU R - W E g W % faw @ e @ 9w
gfigm o 71 & =l s &) 3 SR (R)

TE &1 Toy w0 (R) SEG (A) F TH e T 2

100. Which among the following is NOT a correct
statement 7
T & S-11 H99 T 7l £7

(a) Industrial revolulion was a turning point in
Business operations/3 Haay
warel | uE e G d

(b) Management theories are ever changing/Fa=
frzid g0 F2ad T84 8

(c) Good management makes communication
flow belter/3T0 WHuA ¥ Hag F ¥G€ qeM
& &

() Managemenl always moves in a straight
line/SEYw gHen W @1 § wee 2

dramatically increase their output,

Ans. (d) : SR T & IMUR TR gHen Hi @
% T 8, 98 &4 9 T4 8
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